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1. First experiment on 'span of attention' was conducted by ......... ] s AR ;
(1) Jevons :Jastrow (2) Jastrow : Jevons
(3) Jevons : Himself (4) Hessey : His wife
e IR W Ugdl YA . TR .. G fRAr T e
(1) S @ SRl (2) ST : oA
(3) a9 (4) & : AT g

2. A change in the level of light energy results into the alteration in the comparative
sensitivity of retina is known as :
(1) Punkeriji Effect : (2) Flicker Fusion
(3) Retinal Disparity (4) Double Image
GHTY Holl & WX § gRadd & uRumrawy e & gerere wagHeierd § uRads €
8, R ST o7 @

(1) G=hesll U9 & w9 (2) fdd®) Herad & w9 A
(3) XfeAr Hdeh fawwar w (4) <N gfafem w
3. Match List-I with List-II and indicate your answer using the codes given below :
List-I List-I1
(Concept) (Author)
(a) Sensory Register (i) Sperling
(b) Span of Attention (ii) Jevons
(c) Retinex Theory (iii) Edwin Land
(d) Cochlear Mechanism  (iv) Von Bekesy
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iv, c-i, d-iii
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i
G-l B G-I gaferd S @ fig RY M HISh BT wAT G gY ST ST
ERIER S :
-1 11
(srarezom) (cre)
(a) GaEr IR (i) fef
(b) = faRa (i) <ar
(c) Yo Rigr (iii) vsfas ovg
(d) BTEARIR JoTel! (iv) 9 B
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iv, c-i, d-iii
(3) a-iii, b, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i
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4. Phenomenology is best defined as :
(1) study of thinking and memory
(2) study of natural and unanalysed perception
(3) study of language and its development
(4) study of process of consistent patterns and organised sets
TeHT fhar fasm wdfas aRafia @
(1) TR vd vRor ofed & sruas @ w9 #
(2) w@mfde vd IR fAala 9y & seagd ® w9 o
(3) YT AT 3D fddT & FEqIT B w9 H
(4) G Ve Td ¥R E B IR B qEr @ W

5. A gymnast mainly relies on :

- (a) Kinesthetic sense | (b) Vestibular sense
(c) Haptic sense (d) Cutaneous sense
(1) (a)and (b) only (2) (b) and (c) only
(3) (c)and (d) only (4) (a), (b), (c) and (d)
TP LRI RG] BT R
(a) FERARE Hagd wR (b) gETONE HIET W
(c) Bufed wHags wr (d) T Fded &R
(1) Bae (a) 3R (b) (2) @aet (b) 3T (c)
(3) ®de (c) IR (d) | 4) (a), (b), (c) 3R (d)

6. Which of the following statements best defines the "Gate Control” theory of pain ?
(1) Pain impulses are sent to receptor sites in vital organs

(2) Non-painful nerve impulses compete with pain-impulses to reach the brain
creating a neural blockage

(3) Pain is simply a psychological state not physiological one

(4) perception of pain depends on one's physical make-up

= # @ =1 BUH <d B ‘e Dol Rigra @ garas aRaig oxar §

(1) < AT rATILIH I H UTEY WISl B AT ST &

(2) IR TEgE T AR wETe daT B AT AR aF TEaS B g 9d o @
vfeRael B §

(3) e o wHdsne sraver & 9 & aiRe saver

(4) << &1 9 aafdd & TRIRS gHae W Rk grar 8
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7. The study on Zulu tribes of Africa revealed that zulu individuals would be less
siisceptible 10 wuvmen

(1) Figure ground phenomenon (2) Zollner Illusion

(3) Ponzo Illusion (4) Muller-Lyer Illusion

BIET & o], TGOl W Iedgd ¥ Gy gl 8 & el wfed . @ Hdy H§ on
sifcriaeTeier B | '

(1) smefa g ae (2) StrerR Fifd

(3) dier wify | (4) YeR-orER Hifd

8. Read the following statements Assertion (A) and Reason (R) and indicate your
answer using codes given below :

Assertion (A) : Usually deaf persons do not have motion sickness.

Reason (R) : Vestibular mechanism significantly mediates in perception of motion.
Codes : |

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)
(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

f7T B (A) T BRUT (R) BT ufey Ten i &4 74 @e &1 WA BRa §Y IO SR
CRIEIE :
B (A) : AT g8Y Afdadl A o7 fdgm R T Bl € |

HROT (R) : HETON YoITel Heeyd w0 Q Haed & A HRRIT SRl § |
Re

(1) (A) T@ (R) SHI 9 8 Td (R), (A) FT T WLEIHRT §

(2) (A) @ (R) a1 ¥ & Afd (R), (A) BT F& W01 &1 &

(3) (A) 97 ® ofd (R) 3Ty ®

(4) (A) e g fdT (R) 9

- 9. Feeling touchy or hypersensitive following an upsetting experience is a form of :

(1) Imprinting (2) Habituation

(3) Sensitization (4) Reflexive Behaviour

Teh ORI NG & drg WIQof a1 sffqdaeeie 7eqd A1 U6 &Y 8
(1) =a= &1 (2) s

(3) gUTBIBROT (4) frorar@s aER
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10.  Premack principle is :

(1) A primary reinforcer is thought of being relaled to an organism's survival

(2) A secondary reinforcer is the stimulus that acquires reinforcing value because of
paring with primary reinforcers

(3) All responses can be potentiated reinforcers

(4) More frequently accusing activity can not be used to reinforce the activity that
occurs less often

e Rrgre 2

(1) wrrfs Re=priR Sha @ soxoiifaar | et fer &

(2) faha ReyoRiR QT & o vifie Reh & 37 & BROT Taelia=o] 4 &1 uTw
PHRAT 2 |

(3) 7 yfafsart Re=pRiR & ofdd wu= &) G &

(4) 3fEd IRER &N drel fareey B fhareord W o ggan g 8, ) gadiad B
& forg wIRT fra S Hapdr 2 |

1. In R-type conditioning, the strength of conditioning is shown by :

(1) Magnitude of CR (2) Response Rate

(3) Response Duration (4) Response Latency

SR-YDBR ATAAT H el Bl Wy BT fezamy e 2

(1) 3 IR & AWR gRT (2) gfdafar <% gR_T

(3) ufafssar emafer grr (4) wfafshar sreradar gri

12.  Match List-I and List-1I and indicate your answer using the codes given below :
List-I List-11
(Concept) (Explanation)

(a) Concurrent Reinforcement schedule (i) Complex choice Behaviour
(b) Concurrent chain Reinforcement schedule  (ii) Sample choice
(c) Fixed Interval Rft. schedule (iii) Post-reinforcement pause

(d) Progressive Ratio Reinforcement schedule  (iv) Reinforcer efficacy
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iii, d-iv
(3) a-iii, b-iv, c-ii, d-i (4) a-iv, b-iii, ¢, d-ii

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(A)



A 5
AL @7 - gAfea B den i R T B @7 vaT kG g0 SiuAl SR

qaTsy
A1 | -1
CERI) (cTer)
(a) AT FaeilaRol STRIET (i) s ooy aEr

(b). et SRgel vaeldRy SRR (i) T Reed
(o) MEiRT s airk U & ot (iii) Taeliaxol=R Rere

(d) wrfareiier ST YRRl LA (iv) Uil gHTdedTadhl

(1) a-i, b-ii, c-iii, d-iv
(2) a-i, b-i, c-iii, d-iv
(3) a-iii, b-iv, c-ii, d-i
(4) a-iv, b-iii, ¢, d-ii
13. Which is the correct sequence in terms of response rate and resistance to extinction
during learning experiment ?
(1) FR > VR - VI — FI - CRF

(2) Variable Ratio — Fixed Ratio —» Variable Interval — Fixed Interval — Concurrent
Reinforcement

(3) Variable Interval — Variable Ratio —> Fixed Ratio — Fixed Interval — Concurrent
Reinforcement

(4) Concurrent Reinforcement — Fixed Interval — Variable Interval — Variable Ratio
— Fixed Ratio

3o YT & A [{eus @ ufafar av den uftRy & W o9 s=-ar g ?
(1) FR - VR — VI — FI — CRF

(2) aRadl sHura — FuiRa srua — ulRadt R —» FuiRa sevea > wwad]
EECIERG

(3) uRadl sravrel — uRadl egud —» PR o - w9adl yaehawor - fAuiRa
RSN

(4) Tt ggeleRer — e s —» Rl sue - aRadt srier > aRad|
tl
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14. Read each of the following statements — Assertion (A) and Reason (R), and indicate
your answer using the codes given below.

- Assertion (A) : In both fixed interval and fixed ratio schedules, a reinforced response
is followed by a depression in the rate of responding.

Reason (R) : Perhaps the organism (subject) learns that responses immediately
following a reinforced response are never reinforced.

Codes :

(1) Both (A) & (R) are true, (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

e B (A) T SR (R) @1 4Ry qen R fRA T g@e &1 uIEnT FRa gY MU ST
ERIEIE

BT (A) - ﬁmﬁaawamﬁﬁﬁaﬁwamﬁﬁmwmm
argarer wfafbar & v # s gry fher 2

HROT (R) : walraad sia (@fd) Wear & & yaeiaa sfafsar e ae gfdifsar w9
gaeliad el 8l & | |

E?E»“E’:

(1) (A) T@ (R) a9 9T 8 Td (R), (A) BT FEl LB ©

(2) (A) U@ (R) S I § ofd= (R), (A) BT HE WP =8} B

(3) (A) 99 & AfbT (R) 39 8

(4) (A) 3 & ofdd (R) 9T &

15. Who explained learning in terms of cell assemblies and phase sequence ?

(1) C.L.Hull (2) Dollard & Miller

(3) D.O.Hebb | (4) R.C.Bolles

e el Uh=NHROT G2fl TRIT AHH & AR HE Bl We fdar ?
(1) o TYclo &A (2) STere Tq e

(3) Slo 3o &9 (4) 3o o Freit
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16.

17.

7
Match List-I and List-II and indicate your answer using the codes given below :
List-I List-1I '
(Concepts) (Authors)

(a) Vicarious Trial & Error (i) Skinner

(b) Hypothetico Deduction (ii) Toleman

(c) Cumulative Recording (iii) Hull

(d) Reciprocal Determinism (iv) Bandura
(1) a-, b-ii, c-iii, d-iv (2) a-iii, b, c-iv, d-i
(3) a-ii, b-iii, c-i, d-iv (4) a-iv, b-iii, c-ii, d-i

zﬁr—lﬁqﬁ’l—ﬂﬁgﬁﬁﬁaﬁﬁmaw%ﬁﬁ@q&mqﬁmmﬁ@mw
ERIEIE

-1 -1

(eTgen=om) (erE®)
(a) ufafafe odeor gomed (i) TR
(b) Mg e (i) Sror
(c) wat efagfe (iif) &
(d) yrmaRe Fafiare (iv) T=g_T
(1) a-i, b-ii, c-ii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iii, ¢, d-iv (4) a-iv, bAiii, c-ii, d-i

Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Information can not be retrieved before it has been stored.

Reason (R) : Information processing is sequential process involving encoding,
retrieval, and storage.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A) is false, but (R) is true

freT B (A) AT BRYT (R) &1 ufey en A R T e &1 gl Fd gY A IR
ERIEE

P (A) : ﬁ\uﬂi?n‘rwq??@?aﬂeffﬁqugﬁ:mﬂﬁmwmﬁl

HIROT (R) : a1 Ufshar amgsmie ufiar & R @ a9, g Wi Td WERS WA B |
BT :

(1) (A) T (R) BT & & Td (R), (A) T FE LR 8

(2) (A) T (R) ¥ T & A (R), (A) BT FE LB Tel &

(3) (A) W B Aifh (R) 3 &

4) (A) 3T B «fhd (R) 9 &
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18.  Match List-I and List-II and indicate your answer using the codes given below :
List-I List-IT
(Concept) (Description)
(a) Episodic Memory (i) Knowledge of specific event or
personal experience
(b) Procedural Memdry (ii) Things learned through classical
conditioning of which one is not
aware
(c) Encoding (iii) Transfer of information from STM
. to LTM
(d) Eidetic Memory (iv) Retention of details of visual
images.
(1) a-i, b-i, c-iii, d-iv (2) a-iii, b, c-iv, d-ii
(3) a-ii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
Qﬁ—lﬁ?ﬂﬁ—ﬂﬁﬁﬁ%ﬁﬁﬁﬂﬁ%‘ﬂﬁﬁ(ﬁ@ﬁﬁ@ﬂﬂ@ﬁﬂﬂﬁ@ﬂﬂﬁ
ERIELE
-1 TI-1T
(3rgemom) | (@v=)
(a) SUGFTEG i (i) fa9w wem @ afTa smwg @)
SITHBTRY
(b) gfsharers wfa (ii) FemRidhel STgae™ & gRT W ¢
ard v ar # aafad o =8 2
(©) T T (ifi) AT TF TerdieA A @
X7
(d) g wfa (iv) 52U ufifers & fqaxor &1 @Ro;
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b, c-iv, d-ii
(3) a-ii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

19. Which of the following is correct order of inputing information as per information
processing model ?

(1) Semantic encoding — elaborated retrieval — storage of information
(2) Retrieval from LTM — encoding in STM — encoding in sensory memory

(3) Encoding with senscry receptors — storage of information —» retrieval on
demand

(4) Encoding in sensory memory — encoding in STM —> Encoding in LTM

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)



20.

21.

o & & B o TRRET Afed & SR GIAT a7 B HEl HH B 7

(1) anfde @e g — ARG g uifd — AT BT FIEor

(2) TEETH | GIR —> TASIUA H e G —> AT BT U AT IR GER

(3) WIS UTE W wE I —> Gl BT GUEY —> BT W GER

(4) HIN TR # ge T - TACIA H @B gFMl — YAciqH H 6 gl

........... plays an important role in memory storage from STM to LTM whereas -
plays role in dealing with emotional feelings associated with memories.

(1) Amygdata : Hypothalamus (2) Hippocampus : Amygdala

(3) Amygdata : Thalamus (4) Thalamus : Hippocampus

TEEITH W TSI % FiT FUE H . W@WWW% ,,,,,,, wfoar |
HIg HAMHD AT BT T H Tedqol {HebT f&T BRel & !

(1) ufrerer : esue d (2) 3reaHE : URRETSTET

(3) ufrrereT @ =a® : (4) UqH @ TTTHIA

Which of the following statements are not true ?
(a) Deep processing involves elaborate rehearsal
(b) Autonomic processing is unconscious encoding of information

(c) Interference results when new information does not enter STM and pushes out
old information

(d) Declarative memory involves memories for skills, habits and things learned
through classical conditioning

Codes :
(1) (a)and (b) only (2) (b) and (c) only
(3) (c) and (d) only (4) (a) and (d) only

o & PlI— BUE [ TR ® 2
(a) e} Ul # faga gahars wfde 2
(b) raTfera WRARAT a=T &1 T He a1 © |

(c) BYEI BT & Sid ¥ a1 THETH F U e AT § qAT YR AT DI Aepreran
2l '

(d) Do g § gt oded ® g W Y BIvE, Jedl gd Al @l
wfoat enfae 2|

RC ,
(1) $a (a) TF (b) (2) B (b) T (c)
(3) g (c) vd (d) (4) B (a) vd (d)

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A) 15 D A
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22. The process of encoding information from STM to LTM is most efficient when :

(a) It has procedural manner (b) It involves associations
(c) Hippocampus is not damaged (d) It uses repetition
Codes :

(1) (a) and (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) (a) and (d) only

TACIVA ¥ QoEIYd T @l & G 999 @1 9T 9a9 e ares B & o -
(a) 3HH UfharcHe ol BT &

(b) ¥ HIASH it BT ?

(c) FRwr=w eifoua =18l gar &

(d) I& YRIGRT &1 YART BT &

(1) e (a) T (b) (2) Bt (b) T (o)
(3) e (c) T () (4) Bt (a) W (d)

23. Method of Loci includes which of the following three steps ?
(1) Create visual places, memorise these places, create vivid imagery.

(2) Create vivid associations, memorise visual sequences, put associations into
places.

(8) Memorise visual sequences of places, create vivid associations, put associations
into selected places.

- (4) Memorise selected places, create vivid imagery, memorise vivid imagery.
SR B gorrelt ¥ fret # & B O sRo e § 2

(1) S%T UM BT &1, 7 I B A1 B, Foid qi T8 BT G |

(2) |ollg FASTT I91FT, G9F AT B ATe BT, AT T F FAIS T |

(3) %Ml & T¥T FIHAT B TG BT, Folg TG BT a9, Tafed =) § waderd
G |

(4) =TI 3l @1 A BT, wolta G wg g, wofla gfifaE @ e e

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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24. Match List-I and List-II and indicate your answer using the codes given below :

List-I List-II
(Concept) (Description)
(a) Anterograde Amnesia (i) Inability to make new memories

after head trauma

(b) Retrograde Amnesia (ii) Inability to recall events preceding
head trauma

(c) Proactive Interference (iii) Old information blocks or disrupts
the remembering of related new
information

(d) Method of Loci (iv) Creation of visual association

between already memorized places
and new items to be memorized

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b, c-iv, d-iii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
qii’f-laﬁqﬁ-ﬂﬁqﬁ%aﬁﬁnaw%ﬁﬁ@ﬁﬁaﬂmmﬁaaww
ERIEIE

-1 -1

(araer=o) : (aoi=)
(a) TERES Ffdaay () AR W die & 95 T4 Tl a9
DY IRTFIAT
(b) gTEIH Ffera™ (i) RR W dic & ygal geqRil @ ATS
B DI GHdT
(c) Wfdea swed (iii) QR AT WA T g @ AT
P PTG AT IO BRAT B
(d) SR BT Jorel! (iv) Tme fFd @M el 99 AR W Usd
A ge By T El @ dh g
Farsr @ AT
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(A) P. T.0O.
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25.

26.

27.

Following two sentences

(i) Yesterday I goes to the tuition class and

(ii) Surprised on seeing a woman driving tractor in the field first time, best explain.

(1) Overgeneralization : Overregularization _

(2) Overregularisation : Representative Heuristic

(3) Representative Heuristic : Overgeneralization

(4) Representative Heuristic : Overregularization

EUCIER)

(i) @ § <gee g a1 Ul

(ii) TEel IR Wa # SRR T AR B WY SNvgdatha 8 Tl §atad e
Qg -

(1) sifcam=iaxor : ufaf iR @ o

(2) stfa e - siftRmE=EoT

(3) wfa=iera waa: ¥ @ iy Fra=fexo

(4) ufafferg w@a: oy : s a=exor

........ believes that there is an inborn tendency to absorb language; and ........ believes
that there is language acquisition device (LAD) in children.

(1) Chomsky : Whorf (2) Whorf : Chomsky

(3) Chomsky : Chomsky (4) Kahneman : Saffron

........... faware o & 6 AW @Y s F B wewt wgRt B ¥ qon . Rvas

oRAT 8 b geal # 91T St SusReT (Tervs) B §

(1) =D - a1 (2) 9% : ATDY

(3) =RDT : AR (4) HTETAM : AHIH

Which of the following statements best describe an example of "Availability

Heuristic" ? '

(1) After speaking before 100 persons, one is not afraid of public speaking

(2) A woman thinks that all the males are eventually cheaters

(3) One complains about his job after having a bad day and overlooks the fact that he
really enjoys his job

(4) one claims that when he confronts with a problem, he likes to produce one correct
solution '

= & -1 U SuGeIdT W e BT TaE SeET &

(1) 100 afdral & W Ao @ 918 BIE Al AESe $9 @ @ § <vdr T8 2

(2) #fger drech & & Wi gow sida: gers 89 &

(3) ®1¥ Al (& fRF wxe 8F & a1g v B B IR F Ry war 2 qur qeg @)
ST ol & f5 98 avad # Ao B a1 arrE SO ¥

(4) 1 AT 78 Trar BRAT ¥ 5 9 8 GERT BT A BRAT 2, I8 TH FE GHE
IR HRAT ATEAT ©

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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28. Which of the following sequence describes the language development appropriately ?
(1) Babbling, one word phrase, two word combination, sentence
(2) One word phrase, babbling, two word combination, sentence
(3) Babbling, one word phrase, sentence, two sentence combination
(4) One word phrase, two word phrase, babbling, sentence
e % | BE—aT BH 9T e @7 wfad e A aftla @xar g ?
(1) GO, U Wk e, &1 Wes [T, qrad

(2) U Irea ATRIN, FASTI, Q1 ¥k HASH, are

(3) TCICHI, US ¥eq qTadiel, arad, & dTed AT

(4) U TR I, & e qregiel, A, arag

29. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Some person's speeches are hesistant, effortful, and simple.

Reason (R) : Damage to Wernicke's area typically produces difficulties in language
production.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A) is false, but (R) is true

e e (A) AT BRY (R) BT 9fey T e A T de &1 WA BRA gY 37 SR
ERIELE

HoF (A): BB afedl o arl, Rafreaedgds dsm vd ame Bl g |

HRT (R) : REB & & B aifey wor wRgfer # gl wfeaEat dar a=am g |

7T :

(1) (A) T@ (R) Fl W & TG (R), (A) FT HE LG 8

2) (A) Td (R) I ¥d & AfdT (R), (A) FT FEI IILIBRY] 78l §

3) (A) ¥ & afdT (R) 39 €

(4) (A) 3T & ofd (R) 9 &

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(A) P.T.O.
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30. Match List-I and List-IT and indicate your answer using the codes given below :
List-I ' List-II
(Concepts) ' (Description)
(a) Problem Isomorphs (i) Set of problems having same underlying structures
and solutions but different specific details.

(b) Belief-bias Effect (ii) Judgements are made based on prior general
knowledge rather than on the rules of logic.

(c) Conjunction Fallacy  (iii) Erroneous judgement that the probability of
conjunction of two events is greater than the
probability of either events occurring alone

(d) Conjunction Rule (iv) Probability of a conjun_ction of two events can not be
larger than the probability of either its constituent
events.

Codes :

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-ii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

AL @ AL @ gAfad ST qer R RA T ge w1 T eRa gU SO SR

CHIEL .

-1 -1
(sraemRoT) (@)

(a) HaRT gl () TP & NERY ARGAT TAT FHME I GERIR B
- g ofe - fafifee faawor

(b) faferw-gerraget uvra (ii) Frofa el /a6 & gomg gd wr s W smenRd

frar wmar &

(c) war= wifsg (it) Ffewt ol f5 <1 geaelt @& waeE @ GuEET
THAE BF 9Tl Bl Uh TeA] & [WiEar 9 9
BIAT &

(d) FawE fAem (iv) &1 ORI & HAN B F9EET gUd ued geHIsl
4 5l g & F9ET B e g 98 8 gwar
g

R -

(1) a-i, b-ii, c-ili, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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31.

32.

~(a) Functional Fixedness

Match List-I and List-II and indicate your answer using the codes given below :

15

List-I List-II
(Concepts) (Description)
(a) Holophrase (i) One word sentence
(b) Framing (ii) The way an issue is stated
(c) Prototype (iii) Mental image based on average characteristics of an object
(d) Algorithm (iv) Convergent thinking
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
e s
ERIEI
-1 -1
(ararerom) (@u=)
() THEET g/ (i) U@ U arad
(b) W (i) @ R 9 B FEr o @

(c) enfE w=eu (iii) o @ iraa faRwar = smnlRa w4 wfafdea
(d) TermfRe (iv) IR faea=

7e
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-ii, b-iv, c-i, d-ii (4) a-iv, bAiii, c-ii, d-i

Which of the following are not the examples of problem solving ?
(b) Functional obscurity

(c) Subgoals ‘ (d) Brain storming
Codes :

(1) (a) and (b) only (2) (b) and (c) only
(3) (c)and (d) only (4) (a) and (d) only
= | B TR G §7 SEER9T T8 ©

(a) IFrTHS AR (b) ywraied HieTE
(c) Su-oted | (d) aRaT=p SeUeH
%

(1) @I (a) Td (b) (2) @9t (b) T ()
(3) e (c) Td (d) (4) HIe (a) T4 (d)

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)

P.T.O.
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33. Which of the following have been explained in Psychoanalytic theory of motivation ?

(a) Homeostasis (b) Drives (¢) Hedonism (d) Incentives
Codes :

(1) (a)and (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) (a) and (c) only

= # A f sifRon & waveies Rigra ¥ woe far wr 2 2

(a) B (OBEISED (c) gEag (d) vrcaTes
(1) ®aef (a) Td (b) (2) dad (b) T4 (c)

(3) @ddl (c) Td (d) (4) ®aet (a) TE ()

34. Which according to Master and Johnson, is the correct sequence of human sexual
response ?

(1) Desire, excitement, orgasm, resolution
(2) Excitement, plateu, orgasm, resolution
(3) Excitement, orgasm, plateu, resolution
(4) Desire, excitement, resolution, orgasm
AREX SidH B JAR B 7 A wfafbar @ w w9 2 2

(1) o1, TSI, SHIE, Fhed

(2) STSHEI, Wie, WG, Hheg
(3) STISHI, =G, i, Hhed
(4) 3TV, SIS, Fhe, SHIS

35. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : In general persons with external attributions tend to be low on stress.
Reason (R) : Internal attributions enhance the mental health.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explane;tion of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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=1 B (A) 9T SR (R) @1 ufey qor 9 @A T T &1 RN S 8T AT IR
ERIEE -

B (A) 1 GreN] UTRIYY glel AR Afddl § T919 9 8T 2 |

BRI (R) : AT<IRS YOIRIYCT RIS TaRLT BT 9ETT % |

@e :

(1) (A) @ (R) 3 9 & Td (R), (A) BT Fal TLEIHIT &

(2) (A)@(R)Ww%m(m(mmww@wﬁ%
(3) (A) G ¥ oifdb (R) 3 &

(4) (A) 3T B dAfdd (R) 9 &

36. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : The fight-flight response is sometimes activated for longer periods.
Reason (R) : Some persons appraise most of their environment as source of threat.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

1 BUF (A) T SR (R) BT Ufey Tom A & T de &1 T8N A §U IAUAT IR
CRIFGE

HUA (A) : I 4R yfafar s o @ 96 & forv wfee Bar ®
SR (R) : HO AMGT WA $ A & w9 H AT GATERT H AEH Jad B 2 |
@C

(1) (A) T@ (R) GFI 9 & TG (R), (A) HT HEl LG &
(2) (A) @ (R) aFf 9 & afd= (R), (A) BT 98 WLIHRO 81 &

(3) (A) I g @fdh (R) 39 &

(4) (A) 39 § offds (R) 9T 8
M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A) P.T.O.
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37.

38.

39.

Which of the theories are representative of mechanistic metaphor of motivation ?
(a) Psychoanalysis , (b) Drive Reduction

(c) Sociobiological (d) Expectancy value

(1) (a) and (b) only (2) (b) and (c) only

(3) (a)and (c) only ‘ (4) (b)and (d) only

P71 Rigra ARoT & It wue &1 wft § ?

(a) #AIITAN® (b) W& aefavoT

(c) WS Sifges (d) geure qeq

(1) $9 (2) Td (b (2) @ (b) Td (c)

(3) @aet (a)@(C) (4) @It (b) Td (d)

Which of the following is final destination for most of brains's informations about
emotion before action is taken ? '

(1) Hypothalamus - (2) Thalamus

(3) Hippocampus (4) Prefrontal Cortex :

1 7 @ B B B qd W3 & IR § aRaws & sty gEe @ Ry st e
g

(1) BrgNeHd (2) e

(3) fewrww - (4) Wred P

Chronic stress can :

(@) Interfere with memory

(b) Increase or decrease appetites

(c) Diminish sexual desire and performance

(d) Enhances immune activity

(1) (a) and (b) only (2) (b) and (c) only

(3) (a), (b) and (c) only (4) (b), (c) and (d) only
Raifre T &1 T § |

(a) Hfy & swem (b) =@ ¥ gfg o &

(c) 9 5287 Ud yae & o (d) ufcren framewemy # gfg
(1) ®ae (a) Td (b) (2) @ae (b) T (c)

(3) @9 (a), (b) Td (c) (4) @ad (b), (c) Td (d)

M.Phil./Ph.D./URS-EE-Nov.-2018/ (Psychology)(SET-Y)/ (A)
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40. Match List-I and List-IT and indicate your answer using the codes given below :

List-I List-II
(Concepts) (Description)
(a) Instinct (i) External characteristics which attract
(b) Incentive (if) Naturally purposive
(c) Drive (iii) Psychological preparedness
(d) Hedonic state (iv) Tendency to seek pleasure
Codes : |
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-iv, c-i, d-ii
(3) a-ii, b-i, c-iii, d-iv (4) a-iv, b-iii, c-ii, d-i
-1 B Al gafea HIg den = Y T @e. o1 WA HRd gy 3UHT STR
ERIENE
-1 -1
(SraeToT) (avt)
(@) gid (i) e faRivard o gt $Ral ©
(b) TATEA (i) wrIfae ©U ¥ LIRS
(c) WR® (iii) FATAEIG IR
(d) G@arel areRen (iv) 3] TR &1 g
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-iv, c-i, d-ii
(3) a-ii, b-i, c-iii, d-iv (4) a-iv, b-iii, c-ii, d-i

41. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Spearman proposed the existence of specific factor (S-Factor) of
intelligence in his two factor theory of intelligence.

Reason (R) : It was observed that tetrad differences were not always equal to zero.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false. - '

(4) (A)is false, but (R) is true.
M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A) 2T 6,
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%%W(A)HWWM(R)aﬁﬁqaw%ﬁﬁﬂﬁq\awmmm@aw IR
TSy ¢

P (A) - WRRAT | 9fF & o 71 Sue Rigra gfy @ R s (@6-sues)
e iR @ yxanfaa s o |

BRYT(R) : T8 <l 71 b aqed Sfek &0 0 & | T8l Bl 8
(1) (A) @ (R) <91 ¥ & U4 (R), (A) &1 FE WHT & |

(2) (A) T (R) a1 97 & afhd (R), (A) BT 98 TLTA0T 781 2|
(3) (A) ¥ & ofbT (R) agey 2 |
(

(4) (A) I § «fds (R) 9 2|

42. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Jenson claimed that his Level-II, ability is inclusive of Cattell's gf and
gc.

Reason (R) : Measures of gf and gc loaded on separate factors in factor analytic
studies.

Codes : .

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).
(3) (A) istrue, but (R) is false.

(4) (A) is false, but (R) is true.

ﬁmzﬁ%(A)a@ﬂW(R)aﬁqﬁvaw:ﬂ%ﬁﬁwa@mqmwagqaw IR
CRIELE

BAT (A) : O F <1aT e 6 9@t WAL Ay § ded @7 gf vd ge e £
SRV (R) : UG fawerd) srag=i § g Iurar o) 9iRd gf vd gc @7 A9 |
Eo"\?’:

(1) (A) W@ (R) aFI 9 8 T (R), (A) BT TET WG & |

(2) (A) @ (R) ST ¥ 8 «fd (R), (A) &1 98 WaRor 987 2 |

(3) (A) ¥ B «fT (R) 3fed & |

(4) (A) 37 g Afs (R) 9T B |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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43. Knowledge Acquisition components of Sternberg's triarchic theory of intelligence

include :

(a) Selective encoding (b) Selective combination

(c) Selective comparison (d) Selective Heuristics

(1) (a) and (b) only (2) (¢) and (d) only

(3) (a), (b) and (c) only (4) (b), (c) and (d) only

e & wa & B g & 919 39 $RS H WA ©

(@) IIATHSD HT I (b) FIIATHF FIISTH

(c) TTTAS o] (d) FGATHSE a2y

(1) @ae (a) Ud (b) (2) @ae () ¥ (d)

(3) @9 (a), (b) Td (c) (4) @®ae (b), (c) T (d)
44. According to R.B. Cattell, real life creativity is determined first by one's ........ and

EHER BY v factors.

(1) Fluid intelligence; personality (2) Crystallised intelligence; personality

(3) Motivation; Intelligence (4) Personality; motivation

3Ro dlo dcal & AR dRK(ded Siiad IacAdcl &1 FEiRe ggdd &l @ ... e

THTATE ... SR ERT far ST & | |

(1) grT yare gfE; afkra 2) frdeiaa gy, afdaa -

(3) ifRom; gfg (4) =afdde; fAuRoT

45. Originality in Torrance Tests of creative thinking is indexed interims of :
(1) Response given by 2% of subjects  (2) Response given by 5% of subjects
(3) Response given by 10% of subjects (4) Response given by 25% of subjects
IR H AT AR & TR wevr # e fhee orgaR gEifad © ?
(1) 2% =afadl g1 & Ty ST (2) 5% eafdral grRT faar 71 S
(3) 10% =afderal grI fear wrar Same (4) 25% =gferal g fean = ars

46. Torrance used the term "Creatively handicapped" for ........ ;
(1) Students very high in creativity but low in academic achievement
(2) Students high in intelligence but low in creativity
(3) Students average in intelligence and creativity
(4) Students low in intelligence and creativity
R 3 O N e R I ReEeTore WU 9 9ifa @1 ganT R e ?
(1) U BT S [FATHSAT & d8d SA1al & olfd QfeTed Suelied & -1 8
2) B g # af¥e T AfFT e Hear § 9 &
(3) B W gfg qur ToETeTEaT # o B
(4) BTF S gfg qU1 FAAHGAr § BH 8§

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(A) P.T.O.
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47. Projective tests particularly Inkblot tests can be used to measure.

(1) Novelty context of creativity (2) Meaning context of creativity
(3) Scientific creativity (4) Everyday creativity
DerdTg e A9y B F gHecAre W B RN A B AT A o e ©
(1) =S BT TAHaT ST (2) TEFTHGAT BT JAMUTT U=
(3) A= T (4) TIIS TEATETEH
48. Match List-I and List-II and indicate your answer using the codes given below :
List-I List-II
(Concepts) (Description)
(a) Successful Intelligence (i) Ability to achieve one's goal of life
across given cultural contexts.
(b) Practical Intelligence (i) Ability to cope with problems of day-to-
day life.
(c) Creative Intelligence (iii) Ability to cope with novel situations or
problems.
(d) Mating Intelligence (iv) Ability to make appropriate
selection/preference of partners.
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
T @ AL B g ARG qen Y RY R de a1 W e §U e SRR
CRIELS
-1 TA-11
(TR (@)
(a) ¥wad Ffe () A M aafoe g § e e @ @ell @
WIS &R B AR

(b) gHiy® Ffe (ii) ISTRT & AT B TERIRI BT AHAT I A Tha]
(c) =TS Ffe (iil) T Rerfoat a1 el &1 AT B &) T

(d) = Ffe (iv) ATEER & AR o999 / 99T SR @) Aga
e -
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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49.

50.

According to Freud following are the characteristics of an 'Instinct’ ?
(a) A source in some bodily deficit

(b) An aim that focuses on gratification

(c) Animpetus that propels the person to act

(d) An object through which an instinct achieves its aim

Codes :
(1) a,bandconly (2) b,cand donly
(3) a,cand donly (4) a,b,candd

BrIE B IR e Heerghy &) faRiver § ¢

(a) BB-GB TNIRS T F Wl

(b) S o IR W BIHE Tl 8

(c) &aw o quiF & fog aRa o= 8

(d) Setwn s gRT =fd U Igavd Ui ol €

@C -
(1) a,b Td ¢ " (2) b,c Td d 9
(3) a,cw@d A=A (4) a,b,c T@ d

Self actualizers can be characterized as :
(a) Having more efficient perception of reality

(b) Showing greater accepténce of themselves, others, and nature

23

(c) Having tendency to be more centred with understanding tasks that will benefit

than
d) Recognizing their own weaknesses but do not be so much anxious.

Codes :

(1) a,b & c correct; d incorrect (2) b, c & d correct; a incorrect

(3) a, c & d correct; b incorrect (4) a, b & d correct; ¢ incorrect

oA foparere @ fRar qarg S Wl §

(a) IREREAr & e B 9 I T D w9 H

(b) TG B, o5 B quT upfa & IR F fF WP yRTH B B w A

(c) g Sr S 3 TR ARG BT B Y AGR Biwd B B YR @ B U |
(@ 3T F B BHGIRAT B TR oifHT s Mo e 7 8

Ple :

(1) a,b wd ¢ H&I, d T
(3) a,c Ud d W8I, b Teid

(2) b,c Td d WEl, d T
(4) a,b vd d ¥, ¢ TEd

P.T.O.
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31. Arrange in sequence the last five factors of personality indexed in Cattell's High
School personality questionnaire (HSPQ) :

(1) 1,J,0,Q,Q, | () 1,0,Q,Q, Q

() 0,Q,Q,Q,Q, 4) O,P,Q,Q, Q,

ded B gfedn afiaa ge wen ¥ amRe WEwie & oW otg BRET @ o
CIGIR] Ef?rﬁﬂ'q :

(1) 1,7,0,Q, Q, ) 1,0,Q,Q, Q,

(3)°0,Q,,Q,Q, Q 4) O,P,Q,Q, Q,

52. Which of the following categories of responses are objectively scored in Rotter

Incomplete Sentences Blank ? (a) Omission; (b) Conflict Response, (c) Positive
Response; (d) Anxiety.

Codes :
(1) a,band conly (2) b,candd only
(3) a,cand d only (4) a,b,candd

uﬁ%maﬁﬁmﬁﬁaﬁ%aﬁuwﬁﬁﬁaﬁwmmﬁ?(a)a‘rq(b)w'zrsi
ufshar (c) FHRIHS ufafsar (d) fra

(1) a,b vd ¢ 95 (2) b,cvd d 7
(3) a,c Ud d 99 (4) a,b,c g d

53. Match List-I and List-II and indicate your answer using the codes given below :

List-I List-IT
(Concepts) (Description)
(a) Oral character (i) Overindulgence in infancy
(b) Anal character (if) Difficulties during toilet training

(c) Phalic character (iii) Inadequate Resolution of Oedipus complex

(d) Genital character (iv) Sexual maturity

Codes :
(1) a-i, b-i, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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A1 A G-I B gafea AR e o &Y T FE BT W BRG gL AT SIN

ERIELE
-1 -1
(STTERVTN) (@)
(a) T fomrwar (i) araeud # fdd orRfard
(b) T[&T e e (ii) ¥ & SR AT T3
(c) <ifire faRmyar (iti) TGRT BT TUAT IYLHA
(d) S=fAe e (iv) oiffre gRuadar
&c -
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

54. Match List-T and List-Il and indicate your answer using the codes given below :

List-1 List-II
(Concepts) (Tests)
(a) Universal Index (i) Objective Analytic Test (OAT)
(b) F-K Index : (ii) Minnesota Multiphasic Personality Inventory
(MMPTI)
(c) Disclosure Index (iii) Melton Clinical Mulliaxial Inventory
(d) Suicide Constellation Index (iv) Rorschach Inkblot Test
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-ii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
-1 @1 e @ @ ARG qen DY RA T FHE BT WA BRA Y IO 9@
EUSIME
-1 11
(STaEROM) (q1eTon)
(a) HTEHIAG Gadis (i) SO RS faverd) ureror
(b) THo o JeHID (ii) faerdTer agasm &1 Sufde <
(c) TR ADID (iti) fee it Sgerla =
(d) INTET WHE JADID (iv) JreTe SHEATC URIETT
(1) a-i, b-ii, c-iii, d-iv : (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A) P.T.O.
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35, Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Some personality factors such as D, J, K and P do not appear in Cattell's
16 PE.

Reason (R) : Some factors appeared only in a-data not in Q-data.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is talse.

(4) (A)is false, but (R) is true.

71 31 P! (A)Wﬁmmwm)aﬁt@qawéﬁﬁ:ﬁ@maﬁquaquw
IR 913V

BAT (A) : BB AT HRF O D, ], K & P e & 16 PFfrﬁms‘aé’rq@ﬁ%l
FRI (R) : BB BRP bad o sl § REE yga 9B Q srer &

(1) (A) Td (R) <1 ¥ 2 3R (A) &7 W& LT (R) B |

(2) (A) W@ (R) g A 8 W (R), (A) BT &) ITETHT T8 2 |

(3) (A) ¥ 2, ofT (R) a/ged & |

(4) (A) a7 B, afds (R) g 2|

96. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Extroverts are sociable and impulsive individuals who like excitement.
Reason (R) : Brains of extroverts react more slowly and weakly to stimuli which cause

them to seek excitement by approaching the environment.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)
(2) Both (A) & (R) are true and (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false
(4) (A).is false, but (R) is true
=1 <91 o BT (A) Td BRI (R) ®1 ufgy denr M A T Fe B wET B EY
HIAT SN 9159 - .
DA (A) : Al e wR qerr marTeiier «fad B § O SO ude e §
FRUT (R) ST A & b gl &1 alaws aifds shew aen e sasiR gfafkar
BRAT B W IR W IEY W S ST B qATY FIAT 2|
@c
(1) (A) Td (R) QF1 deT & T1 (R) (A) &7 TE LT 2 |
(2) (A) TE (R) &FT 97 & 9P (R) (A) BT FE1 IqIHRT F8F 2|
(3) (A) ¥ ¥, dfd+ (R) 3racg &
(4) (A) 3\ &7, AfdT (R) 9 2

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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57. Myelin stains and Nissl stains identify
(a) Neural Pathways
(¢) Nuclei
Code :
(1) aandb only
(3) aandd only

Telle T T a1 FHIT oo

(a) =R wrerg
(c) ~gaen

(1) ®ae (a) 3R (b)
(3) HIe (a) 3R (d)
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.......... A ovsansaness TESHECE (mly.

(b) White malter
(d) Neural cell bodies

(2) candd only
(4) band d only

TG i, Ugd BT |

(2) dad (c) 3R (d)
(4) dad (b) 3R (d)

58. Which of the following techniques can be used to study activities in a living human

brain ?
- (a) Computerised Tomography
(c) Sterotaxic Procedures
Code : _
(1) a, band conly
(3) a, cand d only

(b) Ablation and Lesioning
(d) IMRI

(2) b, cand d only
(4) a,b,candd

= o O g goe &1 g9 oifdd qra aRass § Shareant @ smeR @ fov [ o

Hhdr 8 ?

(a) HYPT THRITH!
() wRafrs ufkar
He -

(1) a,b Td ¢ dF
(3) a,c Ug d °F

(b) Qe Ud die
(d) 3M$0 THo 3Ro TS0

(2) b,c Ud d "=
(4) a,b,c @ d

59. Neurons make up only about .......... % of the brain cells and other .......... % are glia

cells.
(1) 8%;92% 2) 10%; 90%
RRT ARG BIRDT DI Beel @I
TR 8 |
(1) 8%; 92%

(2) 10%; 90%

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A) P

......... Y% T ™ v do

(3) 15%; 85% (4) 85%; 15%

fPerar HIfIred &

(3) 15%; 85% (4) 85%; 15%

¢ Lukd:
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61.

60. Ears of human beings hear the air molecular vibrations between about ..... .
(1) 10 to 1,000 Hertz . (2) 15 to 2,000 Hertz
(3) 20 to 20,000 Hertz (4) 25 to 25,000 Hertz
A & F T ..o @ 49 91y 3MoIfde BT G ¢ |
(1) 10 & 1,000 & | (2) 15 ¥ 2,000 g
(3) 20 ¥ 20,000 & (4) 25 ¥ 25,000 gES
The main biological clock that controls the circadian rythms in mammals is :
(1) Suprachiasmatic Nucleus (2) Arcurate Nucleus
(3) Solitary Tract Nucleus (4) Accumbens Nucleus

62.

A Sife TG O WenRal ¥ geieT 9w @ PR eed £ 9w ©
(1) gufrarmies ~gfyeas (2) IRFRT ~gfFergd
(3) wifered fae gfreaw (4) Tagew faeraw

Match List-I and List-II and indicate your answer using the codes given below :

List-I List-II
(Concepts) (Description)

(a) Monism (i) Brain functions as an undifferentiated whole

(b) Dualism {ii) Mind and body consists of the same substance

(c) Equipotentiality (i) Body is material and mind is non-material.

(d) Reductionism (iv) Understanding of behavioural phenomena in terms of

biological principles

Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iii, c-i, d-iv
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i

AL BT AL W gl IR wer A RY M wme B Wi @ed gU e weR
ERIELN

-1 -1

(CERIR)) (@ut+)
(a) & (i) wRaw &1l gl @y & vy A
(b) adaT (i) #RT=H qAT IR B WRell yerl B F

(c) THfvaare (iii) TRR ueref B dor aflkaws verf 98

(d) IuEER (iv) Sifaw Rigril & R sraaRa fFaTdeny @) aaee
B -
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-ii, c-i, d-iv
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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63.

64.
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Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Neural Membrane is double layered.

Reason (R) : Lipid Molecules turn their tails towards each other.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false |

(4) (A)is false, but (R) is true

o= # 9 B (A) 9T HRT (R) &I ufeu T A T T §E &1 JANT HRd Y AU
JTR TARY '

HAT (A) : @ fEreell v UgRy @1 8l 7 |
W(R):'WMM%EWE?H%@F@?T%I.

7E -

(1) (A) U@ (R) T91 | & T (R), (A) BT HEl TG 2 |

2) (A) vd (R) S & &, W (R), (A) &1 FE LG T8 6 |
(3) (A) ¥ 2, afdh (R) 3™T & |

(4) (A) 3 &, ofds (R) ¥g 2|

Match List-I and List-II and indicate your answer using the codes given below :

List-I List-11
(Concepts) (Description)
(a) Night Terror (i) Disturbance in sleep-wake cycle
(b) Restless leg syndrome (ii) Cramps in calf and foot muscles
(c) Nocturnal leg cramps (iii) Sensation of legs causing movements and

loss of steep
(d) Circadian Rhythm Disorder  (iv) Extreme fear and agitation
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(A) . P.T.O.
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65.

66.

67.

A

AT v AL BT gafere BIRY qer i RAY W g @1 wi a5y ol @l Reen
& qaTgy ¢

i1 -1
(ITFEIRTTT) CLiE))
(a) Iy = (i) fasr =% # arn

(b) Reera o Rigi (i) fivseh e te miaddh ¥ 89
(c) ATaCYHE ol T ey (i) WY &) HITT B BRY Fue T A i W@y

(d) ST TN MEET I (iv) ST T T HaRTRE

7T

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

Academic achievement in primary and middle school is relatively more determined
o) AN .;and in higher education more by ........... ;

(1) Intelligence ; Creativity (2) Creativity ; Intelligence

(3) Intelligence ; Personality (4) Personality ; Attributions
wfA® o meafie faeRer § difde Suafy e oL ERT IMUenda Siftrs qer
.............. &1 ST e A st FMuiRa fear srar @

(1) 3% ; gorreme (2) g g
(3) Ffe; afeme 4) =f ; ERmY
Deep learners are more regulated by :

(1) Extrinsic Motivation (2) Intrinsic Motivation

(3) Approval Motivation (4) Affinitive Motivation
et ARRa e A e ¥

(1) 8T AR gRT (2) of<IR@® SFIAURVT gRI

(3) igpfy siffnRom g (4) T sfdRer g1

In making the children to learn any law or principle, teacher should use :
(1) Inductive Method (2) Deductive Method

(3) Analytical Method (4) Story telling

Il Bl BIg M 1 g e & oy fb<a R & varT o a2
(1) SITAAS HoTTen (2) FrETTHE yomed

(3) fAveyumes gomeh (4) wBT U

M.Phil/Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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68. Researchers, in general, have revealed that with increasing age and education level
role of intelligence in academic achievement.

(1) Increases
(2) Declines
(3) Remains constant
(4) In some cases increases and in some cases decreases
AT Medael A gord fhar ® & 9w qen Ren wR @ gg @ aw el
IUAT B q%’ Ea ‘ﬂﬁ'ﬁ :
(1) 9o &
(2) wedl @
(3) Rer <&t 2
(4) B A H deil & JUT HH A H gl ©
69. Arrange the following virtues in sequences according to their emergence.
(1) Love — Fidelity — Care —» Wisdom
(2) Fidelity — Love — Care - Wisdom
(3) Care — Fidelity — Love — Wisdom
(4) Fidelity — Care — Wisdom — Love
et 7ot & g9a anfawie & IFAR HH A TRy
(1) 3 - e — uRarE - gig
(2) fF - T - WRaE - g
(3) UNETE — AT — UH — Jf&
(4) 9fRT - wRa® > gflg - A

70. Match List-I with List-II and indicate your answer using the codes given below :

List-I List-II

(a) Strange Situation Test (i) Observation Learning

(b) Visual Cliff Test (i) Morality

(c) Bodo- Doll Experiment  (iii) Attachment

(d) Henz dilemma (iv) Depth Perception
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A) P2.T.O:
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: A
Tﬁr—l'&ﬁﬁﬁf-ﬂﬁ@iﬁaﬁﬁmaw%ﬁﬁ@aﬁmmaﬂﬁgqmw
qarsy ¢

-1 I
(@) w1 Rafy gdeqor (i) veror f3reror
(b) %7 IMIgH g0 (ii) =frear
(c) S-S YART (iii) arrafarT
(d) & gfeen (iv) TERT g
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
71, Match List-I with List-II and indicate your answer using the codes given below :
List-I List-II
(@) Transitivity (i) Development from head to toe
(b) Cephalo Caudal (ii) Ability to recognize logical relations
(c) Phylogenetic (iii) Related to race
(d) Ontogenetic (iv) Related to individual
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
Qﬁﬁ»lﬁﬁ%ﬁ-nﬁiﬁ%ﬁaﬁﬁmam?ﬁ%ﬁﬁ@@mmmﬁgqmw
ERIERNE _
-1 - NEE-IT
(a) GmTABT (i) RR IR 7 foe™
(b) ¥y (ii) TIfPbe Hedl P ggar @ Irgar
(c) wIfer aaif¥rs (iii) goTfa & e
(d) =wfd saifirs (iv) =i & wefera
@< :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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72. Read each of the following two statements — Assertion (A) and Reason (R) and mdzcate

your answer using the codes given below :
Assertion (A) : Insecure attachments are formed by the ongoing interactions between
infant and caregivers.

Reason (R) : Interaction between child and caregivers interferes in the formation of
internal working models.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanahon of (A).

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

|~1H3’Tchu-1|¢Qﬂ(A)K’HW(R)aﬁq%QHm%ﬁ?)@WWWWﬁ§Q

- 3YHAT IN ddisy |

PUF (A) : IR AT FE@l qen é@%@ﬂv—@rmﬁa%éﬁwtmwﬁ?ﬁﬁ?mm
AT B |

BRI (R) : 920 TAT TERW B Tl & 41 URRS 57 aRe drf &= & Afsd
FRIET HRAT & |

RC -

(1) (A)Td (R) &1 s & @17 (R), (A) BT &) TIEDRT 2 |

(2) (A)TE (R) EHT W & afd (R), (A) BT AL IILEIHROT &l & |
(3) (A)¥FT & AAfh (R) 3AT 2 |

(4) (A) 39 § @fhs (R) 9 & |

73. Match List-I with List-IT and indicate your answer using the codes given below :

List-I List-II
(Concept) (Description)
(a) Organizational Citizenship (i) Discretionary behaviour of employees
Behaviour that promotes the effective functioning of
an organisation
(b) Work place incivility (ii) Voluntary violation of organizational
norms
(c) Ethical Dilemmas (iii) Situations in which individuals are to
define the right and wrong conduct
(d) Turnover ' (iv) Voluntary and involuntary permanent
withdrawal from an organisation
Codes : ‘
(1) a-i, b-ii, ciii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A) P.T. O
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74,

79

: A
Al - 11 gl - 119 gaferd g aen e R T g2 &7 3T SR gY AUl SR

EI-1 Tﬁﬁ-n

(a) WiTeTAd ARG FgeR (i) FHAIRG! &7 [AqerNT @R S Wed &
YTl RISl &1 Yealfd &var g |

(b) ®RIRerE arferedr (i) HeTAe FHEl o1 Witsd Ieed
(c) =ifae gfaer (iii) I Rfy e aafdaal & 9@ wd e
3MARTT &1 qRAIT BT BT 2 |
(d) siffe gRad= (iv) @Ted ¥ wWiesd Uvd radftes  m)
| IREaxll
@C
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

"Employees who identify opportunities, show initiative, take action, and persevere
until meaningful change occurs" can be described as :

(1) Having Machiavellian: Personality

(2) Having Narcissistic Fersonality

(3) Having Type-A personality

(4) Having Proactive Personality

19 % Weih qaed el el 8 B HET Sl WH ©
(1) gdal afdaa @ aa & w9 3

(2) IMTHAIE! @i I@H qi & ®q A

(3) TrRU-A wfddd wa arel & ®U |

(4) unfieq afeaa Wy aa & wg #

"Employees who dislike work, responsibility, and are lazy must be correct to
perform" is the assumption of :

(1) Theory X of motivation (2) Theory Y of motivation
(3) ERG theory of motivaiion (4) Two factor theory of motivation

“HHARETOT S BTH, SR B 10 BRd & Tl ATl B €, &l & @ fou g
fpar s =nfev | gRor §

(1) 3fAuRem &1 X Rigr (2) 3fuRen &1 Y Rigr
(3) SfURoN FT1 g R o fagra (4) AMURONM FT &7 FRE Rigr

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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77.
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Read each of the following two statements — Assertion (A) and Reason (R) and
indicate your answer using the codes given below :
Assertion (A) : Some systematic biases and errors occur during decision making.

Reason (R) : Decision makers engage in bounded rationality.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

foreg <1 Bl BUF (A) T BRY (R) BT ufgy e «1d Y A e &1 WA dRd §U
3UAT IR ddgV |

FHUF (A) : FB FaRed vaar vd Ffe Fofa o ww 8kl 2

&R (R) : fAotg o= arer waifea aftexor # o1 81 €|

@PC:

(1) (A)Td(R) Tl wd € Td (R), (A) BT e LB € |

(2) (A)TE(R) TFT |cg € T (R), (A) & Hal TLIHIVT T8l 2 |

(3) (A)F & fdd (R) 39T B |

(4) (A)3T 8 o (R) G |

Match List-I with List-II and indicate your answer using the codes given below :

List-I List-11
(Author) (Concept)
(a) Asch (i) Group conformity
(b) Zimbardo (i) Mock Prison
(c) Milgram (iii) Obedience
(d) Damion (iv) Compliance
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
S - 1@ g - 1| gafera aifoig aer e RA T g @1 gAeT eRd gU JUAl 9T
ERIELSS '
-1 | -1
(2) oD (i) W ST
(b) forret (ii) FHAT HRETN
(c) foermm ' (iii) 3rsmrepmRar
(d) st (iv) IruTerd
®RC
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b, c-iv, d-ii
(3) a-iii, b-iv, c-, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A) P.T.O.
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78. Self-serving bias refers to explaining the successes by attributing them to ......... and
failures to .......... :

(1) Personal dispositions ; Situations
(2) Situations ; Personal dispositions
(3) Intrinsic Motivation ; Personal Situations

(4) Extrinsic Motivation ; Situations

TCHAT Y&TUTT ABSAA BT ... H 3% JUIRING RS T .............. & faweraT &
TUIRITIE R BT WL B A Fafde 2 | :
(1) = w=ghy : Rafot (2) Refedl : aafdma a9k

(3) em=iRe AR : FfedaTa 7GRy (4) arer sfSRon : Rerff

79. Kennedy's Bay of Pigs faiiure was mainly caused by :

(1) Group cohesion (2) Responsibility Diffusion
(3) Group think , (4) De-individuation

B! BT 9-3TH-RT fawerar qegaar e @

(1) 998 ATl gRI _ (2) STREIRE IR gRI
(3) w9E far gx1 (4) TR-aafeTas gRT

80. A person who agrees to a small request initially is more likely to comply with a larger
demand later. It is an example of :
(1) Door-in-Face Effect (2) Foot-in-Door Effect
(3) Door-in-Foot Effect (4) Face-in-Door Effect
AT ST ARH H BIC W IR W WEAT BT 2, TON GG F g1 6T BT ST Y B
37w HHIGHAT &l & UE ISTERT B

(1) SR-39-%9 g9/ (2) He-39-SR U
(3) SR-3A-HT YW (4) ®I-3F-SR Y9I

81. Clinical Diagnosis is made on which of the following assessment levels ?
(a) Somatic (b) Physical (¢) Emotional (d) Cognitive
Codes : -

(1) a,b,andconly (2) b,canddonly (3) a,candd only (4) a,b,candd
qeTe STER T # /R euied wWR W e o # 7

(a) ®IR® (b) TRIR® (c) HRTTHS (d) SIS
@pc

™

(1) a,bTW@cA= (2) b,cW@ddA=T  (3) a,cWd dFH  (4) a,b,cud d

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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82. A person having frequent feeling of gomg above his physical body. It reflects
tendency of :
(1) Conversion Disorder (2) Hallucination
(3) Spirituality : (4) Depersonalization

Al DI HRR AU WIfTd IR & HWR S & 399 i 3] 78 =1 § 9 5w wgfy
&1 yRafarg Hwar & ?

(1) ®ufaRor T | (2) #fsH
(3) SmeaTfeAT (4) =fikreg o

83. DSM-III was considered radically different from its predecessors because :
(a) It was a multiaxial system
(b) It deleted misnomer words from literature
(c) Itintroduced coding system
(d) It used experimental data in devising categories

Codes :
(1) a,b,and conly (2) b,cand d only
(3) a,cand d only (4) a,b,candd

S U TH - 111 37+ gdaci] | Hold: T AT Orar & a4ife
(a) TE srgeef yomel 7|

(b) IE Mear M sl B Ao ¥ ST BRal § |

() uE PIET YoImell &Y ARH BT & |

(d) T Sl o1 Y &1 Ham § JOrTeTS STeT WRINT BT ® |

(1) a,bTd c A= " @) b,cwEdTE
(3) a,cVd dHH (4) a,b,cTd d

84. A person with schizophrenia was found to repeat whatever words the clinical to
psychologist was speaking. This behaviour can be labelled as :

(1) Neologism (2) Echolalia

(3) Echopraxia (4) Word-Salading

TSI ~T aTer =afad @7 SR Irar 7T o A 9eg e qadse 9] 81 o7 | 59
IER DI HET I Fhall ®

(1) Fgdre & w9 | (2) URTIHROT & HI H

(3) g & Wy H ; (4) vg oIS B B9 H

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(A) P.T. O.
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85.

86.

87.

The permissible statistical operations in ordinal scaling are :

(@) Median (b) Percentiles

(c) Rank correlation coefficients (d) Coefficients of contingency
Codes : .

(1) a,b, and conly (2) b,cand d only

(3) a,cand d only (4) a,b,candd

& YaD Wi # R ARy Wk 2

(a) wrfSzas (b) waaH®D

(c) =ofi wyeddy Toies - (d) IATHRHASBAT BT oD
(1) a,budcHA (2) b,cUg d ==

(3) a,cVq dAF (4) a,b,cwad

"Numerical distances on the scale indicate equal distances in the properties of the
objects being measured" is the salient feature of :

(1) Nominal Scales (2) Ordinal Scales

(3) Internal Scales (4) Ratio Scales

EHE O eifd gX A T avg @ o A e ) o7 gamr 2 e § & feae yw
fadiean 2 7

(1) ST BT b 2) FRTH Wb

(3) IrTRIE Y@l (4) IFUT FhA
Non-probability sampling includes :

(@) Quota sampling (b) Purposive sampling
(c) Cluster sampling (d) Snow ball sampling
Codes :

(1) a,b,and conly (2) b,cand d only

(3) a,cand d only (4) a,b,candd

R e wftraee # wnfier ©

(a) ®BreT ufraas (b) SewawRE Ufoag+
(c) \9§ ufreg= (d) =T 91t ufcreras
@c:

(1) a,bTd cHHA (2) b,cydda=

(3) a,c‘qddtnaf (4) a,b,cvad
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88. Which of the following coefficients of correlation indicates the weakest relationship
between two variables ?

(1) .50 ) —27 ~(3) .07 (4) -1.00
frer & Q Aedad BT DT YOl & TR B G T HAGR WG 8, qaEy
(1) .50 (2) -27 (3) .07 (4) —1.00

89. Given four problems were solved by 15%, 35%, 55%, and 75% persons of a group.
Compare the difficulty of problems (1) and (2) in terms the differences in their
z-values : :

1) 541 2) 511 (3) .651 (4) 548
RY T UR T B GIE D 15%, 55%, T4 75% cafdrl gRT g fhai way el h
27 F iR} B AR T (1) Td (2) D BT B ger BT

(1) .541 ) 511 (3) 651 (4) .548
90. In multigroup design, the two most common statistics applied are :
(a) Analysis of variance (b) Logistic Regression
(c) Duncan Range Test (d) Discriminant Function Analysis
Codes :
(1) (a) & (b) only (2) (b) and (c) only
(3) (a)and (c) only (4) (c) and (d) only
Ty fogd # <1 T A¥F AR TYR HIEIH ©
(a) EROT @7 fawewer (b) wifiRes R
(c) T+ NS TRIEToT (d) =X e fageiyo
(1) (a) vd (b) A= _ (2) (b)Ta (c) A=
(3) (a) T (c) AT (4) (o) vd (d) =

91. Campbell and Fiske developed an experimental design called "Multitrait-
Multimethod" to study :

(a) Convergent Validity (b) Discriminant Validity
(c) Concurrent Validity (d) Cross-Validity
Codes :

(1) (a) & (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) (a)and (d) only

M.Phil./Ph.D.JURS-EE-Nov.-2018/(Psychology) (SET-Y)/(A) P.T.O.
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SIS T 5T 7 QT B B whens Resis Hedlge-Aeeers f[alya v

(a) AR Aurar (b) verarqul derar
(c) SAgCT Qua (d) PRT derar

Re -

(1) (a) Td (b) 715 (2) (b) @ (c) 5r=
@B) (o) Td (d) 5r=t (4) (2) Vd (d) |

92. Match List -Iand List ~IT, and indicate the answer using codes given below :
List-1 - List - II

(@)  Equal-Appearing Intervals (i) Thurston

(b)  Summated Ratings (i)  Likert

(c)  Cumulative scales (iii)  Guttman

(d) Equal interval scaling (iv)  Samfoud

Codes :

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
Tﬁ‘rlﬁﬁllﬁ@%ﬁﬁmﬁm%%ﬁ@@mmnW@WTeﬁ?
ERIEIE .

El-1 -1

(@) W fearg s aren s () enfes

(b)  <Aefer fear (i)  foree

(© v @ (i) gei

(d) | SreRTer TBfenT (iv) J9wrse

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
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93. Ina 3 x 3 factorial design with A and B as two factors, the sum of squares for A is 24
and sum of square for B is 32. The mean square for error is 7. What would be the F-
ratio associated with the main effect of A and B respectively ?

(1) 1.71 and 2.28 (2) 1.56 for both
(3) 12and 16 (4) 8 and 10.66

a‘rgm@vrs’?ﬁwﬁ ATE BB A3 x 3 B fESga ¥ A v @t @1 AW 24 ® qe
B #q af @1 2t 32 ¥ fe ¥ wmen ot 7 ¥ HEe A Ui B wE aROm | Wl -
YT T BT P

(1) 1.71 T4 2.28 (2) < & g 1.56
(3) 12TF 16 (4) 81d 10.66

94. Out of the following four factor rotation methods, which method/s is (are) used for
- second order factor analysis (orthogonal) ?

(a) Varimax Rotation (b) Quastimax Rotation
(c) Obtemin Rotation (d) Promax Rotation
(1) (a) and (b) only (2) (b) and (c) only

(3) (c)and (d) only (4) (a)and (d) only

e IR ToFETS HEEEE yomed § W fpy yomel @1 e fgda e qerevs fagerr
(e ol 2q fpan Sir @

(a) HERT HHTET (b) TEREERT BTG
(c) SMmectA HHIETH (d) wia wHEdH
(1) (a) 7@ (b) 71 A (2) (b) Td (c) 7T
(3) () wd(d) ¥ (4) (a) Td (d) wTH

95. A chi-square (12) table consists of three (3) rows and two (2) columns. What will be

the degree of freedom (df) while calculating relationship between two nominal scale
variables ?

(1) 2 2) 1 (3) 6 (4) 4

FTEFARR (32) AR % A7 (3) vl @ @) (2) @i safde €| &1 A & ¥
R B T Hdg B TOF SR G A e (df) b1 B 7

1) 2 ) 1 (3) 6 (4) 4
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96. In factor analysis, two factors are considered to be orthogonal, when the angle of
separation between the two factors is : '
(1) Between 0 to 75 degree
(2) 90 degree
(3) Greater than 90 degree
(4) Greater than 60 degree but less than 75 degree

ToEvs fA%elyor & 1 oEUS) @ rEdeiy g O £ oig Q) UTEUS] B
GAGDHIT BT P B

(1) 0% 75 & & N

(2) 90 f&ih

(3) 90 &Y 31 aifdres

(4) 60 & 3 e afd= 75 ) oy

97.  Which of the following is not a type of response bias in psychological testing ?
(1) Acquiescence bias
(2) Social Desirasirly
(3) Response set
4) INegative Response
FAEE adeer # f A B R sfERy o ger T8 2 ?
(1) vl sifafa
(2) wmfSie gie-aar
(3) wfdfear
(4) FHRES glafear

98. Arrange the following steps in sequence in Factor Analysis :
Steps :
(a) Selecting type of facter analysis i.e. cases or variance
(b) Selecting a factor method
(c) Selecting rotational method
(d) Validation of matrix

(e) Interpretation of rotated factors

Codes :
(1) a>bosco>d—e (2) a»>b—>c—>e—>d
3) bo>a—>sc>d—oe 4) bo>a>d-oc—oe

M.Phil/Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(A)
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- Fri geoif @Y TS vyl @ wH W TS

NI

() et @ g # UEEUS ATy & YeR Gl adH
(o) TEFEYE YUl BT TIT

(c) TOTCHS YuIlell &1 au-

(d) STelE BT delieRr

(e) HTafdd [OTFETE & AT

(1) a>b—>c—>d—e 2) a>b-»>c—oe—>d
B3 br>a—>c—>d—oe @4 boa->d—->c—e

Read each of the following two statements :
Assertion (A) and Reason (R) and indicate your answer using the codes given below.

Assertion (A) : Experimental method as compared to other methods of research is
considered more suitable for examining cause and effect relationship

Reason (R) : Secondary variance does not appear in experimental method.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

e 1T Wl ;BT (A) T SR (R) BT ufeq aem W RA 3 g &1 Wi bR
U YT IR 4=V | _

FIT (A) : O B ey JonferN @ qerr W wARTIGTE: FUITell @1 BT BN Jdg @ i
HT 75 31 IUGeRT AT I €|

HROT (R) : Rl gaRor wimerd yorrell # disie wel 8Idr € |

7el

(1) (A) T (R) SR e & Td (R), (A) BT G TG & |

(2) (A) wd (R) &I e & dfse (R), (A) &7 A1 UeTebrer =l 2 |

(3) (A) 9T & dfth (R) e 2 |

(4) (A) 3Ty & afe (R) @ & |

M. Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(A) P.T.O.
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100. In which of the following scaling methods, Law of comparative Judgement is not
used while computing scale values ? '
(a) Summates Ratings
(b) Equal Appearing Intervals
(c) JND Scales
(d) Paired Comparison

Codes : _
(1) (a)and (b) only (2) {a)and (c) only
(3) (a), (b) and (c) only (4) . (b), (c) and (d) only

Fres 3 1 f wafert woned § qermors fivkr & Bre xaer w4 Tor CEGERHE
SYANT & faar sirer € 2

(a) wesfora Ifer (b) M &g ug arel araxTe
(©) o O I el (d) g e

7T

(1) (a) & (b) 5=t (2) (a)vd (c) =

(3) (@), (b) Td (c) wr= (4) (b), (c) T3 (d) 7=

M.Phil/Ph.D./JURS-EE-Nov.-2018/(Psychology(SET-Y)/(A)



1. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Spearman proposed the existence of specific factor (S-Factor) of
intelligence in his two factor theory of intelligence.

Reason (R) : It was observed that tetrad differences were not always equal to zero.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of.(A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true. .
ﬁiﬁfﬁw(A)aaTW(R)aﬁﬁwaw%ﬁﬁ@q&zﬁrmmﬁamw
EGIELE

mm(A):uﬂmﬁaﬁgﬁafﬁmﬁﬁWfﬁaﬁﬁ%ﬁrﬁﬁwwmﬂ-@mﬁ)
AT IJRTT BT yaIfda fbar o |

DR (R) : T€ IW@1 7T 6 G R &L 0 & [ T8 D) 2 |
e -

(1) (A) @ (R) Sl 9 B T (R), (A) BT T8 TP £ |

(2) (A) W@ (R) < ¥ B dfdF (R), (A) BT A8 B0 78 2|
(3) (A) ¥ & dfd (R) 3rqey & |

(4) (A) g 2 ofhT (R) e 2|

2. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Jenson claimed that his Level-II, ability is inclusive of Cattell's gf and
gc.

Reason (R) : Measures of gf and gc loaded on separate factors in factor analytic
studies.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) O
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7 B (A) T SR (R) &7 ufey der M= R M g &1y SR §Y U IR
ERIENE '

ST (A) : S 71 <Tal far 5 sw@eT wR-I1, g #§ dea @1 gf U6 ge efie 21
HROT(R) : Iurer™ faverd) srgg=l # gue Sure R 9iRT gf Td ge &1 HIUA |
Re -

(1) (A) T (R) aFl 9 & d (R), (A) FT &l WG 2 |

2) (A) Td@ (R) M1 & ® @fFd (R), (A) &1 H& LB 78 8 |

(3) (A) 9 & &fFT (R)FAA &1

(4) (A) a9 & «fdd (R) 9 B |

3. Knowledge Acquisition components of Sternberg's triarchic theory of intelligence

include :
(a) Selective encoding (b) Selective combination
(c) Selective comparison (d) Selective Heuristics
(1) (a)and (b) only ' (2) (c) and (d) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
gfg & wAa & B R @ o[ 36 BRe § Wi 2
(a) TTAHD He I (b) TIAHD FATSTA
(c) TIAHAD eI (d) TS TE e
(1) @daet (a) Td (b) (2) ®aat () T (d)
(3) B (a), (b) T (0) (4) @ (b), (c) T (d)
4. According to R.B. Cattell, real life creativity is determined first by one's ........ and
then by ........ factors.
(1) Fluid intelligence; personality (2) Crystallised intelligence; personality
(3) Motivation; Intelligence (4) Personality; motivation
3Ro dlo Bed & IJTAR IRAIAD Siiad gDl PR gget foft & ... LRI
TELA ... QUG §RI fdar Sar 2 |
(1) o1 yare gfE; afkia 2) el gfs; afda
(3) rfmRoT, gfg (4) afdre; sfwuRon

5. Originality in Torrance Tests of creative-thinking is indexed interims of :
(1) Response given by 2% of subjects ~ (2) Response given by 5% of subjects
(3) Response given by 10% of subjects (4) Response given by 25% of subjects
HRY H D AR @ SR we § e e sruR gEsiied 8 7
(1) 2% =afdTat g1 fear a1 saE (2) 5% =fdaal gR1 f&ar 71 SaE
(3) 10% =afdmal gRT fe&=am Tar S (4) 25% =afedl gR1 fean Tar SaE

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(B)



6. Torrance used the term "Creatively handicapped" for ........ .
(1) Students very high in creativity but low in academic achievement
(2) Students high in intelligence but low in creativity |

(3) Students average in intelligence and creativity

(4) Students low in intelligence and creativity

R 7 7 # s forg wree Rgere w0 ¥ 91T @7 vt et o ?
(1) X BIE Sl FIIHSAT & 950 SA1ET & e s Suafy § 4y &
(2) ©F gfg 7 3fte & Afed verasmar § &9 §

(3) BT I gig T Y@-THGar ¥ s §

(4) BT S gig T ITEHGT § Y B

7. Projective tests particularly Inkblot tests can be used to measure.

(1) Novelty context of creativity (2) Meaning context of creativity

(3) Scientific creativity (4) Everyday creativity

Serdia wierr faRy w9 < gware e B uEnT A @ forg R o W §
(1) oIS BT TAAT W= (2) ™ATHBAT BT AU TRAT

(3) I EATHBAl (4) RIS IFHTHEBT

8. Match List-I and List-IT and indicate your answer using the codes given below :

List-I List-II
(Concepts) (Description)
(a) Successful Intelligence (i) Ability to achieve one's goal of life
across given cultural contexts.
(b) Practical Intelligence (ii) Ability to cope with problems of day-to-
day life.
(c) Creative Intelligence (ii1) Ability to cope with novel situations or
problems.
(d) Mating Intelligence (iv) Ability to make appropriate
selection/preference of partners.
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) | P.T.O.
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-1 | - @) g e der N RY T ge @ yEe B §U SO SR

EIEE
-1 -1
(STTErTRo) - @)
(a) 9% Ffe () A N gelie w7 § fder haw & @l @1

I B DT GGl
(b) =awT® Ffe (ii) SR & Sfae & TR BT FHAT BRI BT THd]
(c) TETeRS Ffe (iii) ¥ Rerfoat a1 Twmmel &1 AT B9 B vHa

(d) & Ffe (iv) 9E_RR & TR 999 / 9 B @ A
Re -
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

9. According to Freud following are the characteristics of an 'Instinct' ?
(a) A source in some bodily deficit
(b) An aim that focuses on gratification
(c) Animpetus that propels the person to act
(d) An object through which an instinct achieves its aim

Codes :
(1) a,band conly (2) b, cand d only
(3) a,cand d only (4) a,b,candd

BIES & JgER = wEerghy @ faewer §

(a) BE-HB IRIRG AT H A

(b) I W FT R BB BT B

(c) <7 S quiF & forg URT wear 2

(d) Seevg Rrad g1 fdd U= Sqavy uTa &Rarl &

(1) a, b T ¢ A (2) b,c vd d 7=

(3) a,c Wd d A (4) a,b,c Ug d

10. Self actualizers can be characterized as :
(a) Having more efficient perception of reality
(b) Showing greater acceptance of themselves, others, and nature
(c) Having tendency to be more centred with understanding tasks that will benefit

than
(d Recognizing their own weaknesses but do not be so much anxious.
Codes :
(1) a, b & c correct; d incorrect (2) b, c & d correct; a incorrect
(3) a, c & d correct; b incorrect (4) a, b & d correct; c incorrect
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3 feharere @ faviweT 9a1g o dad! &

(a) aR<IATHAr & AP BRI 99 Y WY B FI A

(b) T @, 3 B TAT THMT B IR H 3B WPl ver= v B w9 F

(c) ﬁaﬁﬁﬁs%mm%mﬁ%mw&%aaﬁ%%mﬁ%%wﬁ
@ O Y B BHSIRGT BT GEEE AT gAY e RidrRrr T g

IS :
(1) a,b Td ¢ 98, d Tad (2) b,c tgd d @&, d Tad
(3) a,c Vg d 8!, b Ted (4) a,b Td d A&, ¢ TeAd

Match List-I with List-IT and indicate your answer using the codes given below :
List-I List-II
(a) Transitivity (i) Development from head to toe

(b) Cephalo Caudal  (ii) Ability to recognize logical relations

(c) Phylogenetic (iii) Related to race

(d) Ontogenetic | (iv) Related to individual
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

A - 1B g - 1 gafera IRig gean 1 RA 7 ge B 9@ SR §Y o SR
ERIELS

-1 LEI-11
(a) ep1fAesaT () RrR 9 R a0 faon
(b) My=Ery (i) e Heet BT gga=T @) A
(c) wfcr Sraife (iii) gonfar 31 wafera
(d) =afem s (iv) =fda | H&fa
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii - (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P.T.O.
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12. Read each of the following two statements — Assertion (A) and Reason (R) and mdlcate
your answer using the codes given below :

Assertion (A) : Insecure attachments are formed by the ongoing interactions between .
infant and caregivers.

Reason (R) : Interaction between child and caregivers interferes in the formation of
internal working models.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

=1 <1 Bl du (A) Td SR (R) @Y ufey @ N fRA W gme B w@ w8
JHUAT I €157 |

HAT (A) : SRR AT Tl T @ A Al D g TN GRGRS AT gRT

AT B |

DR (R) : 920 TAT IWRE H gl » g IRERae fhar ar=alRe a1 & & Jtsa 3
TRIAT HYT ¥ |

ge:

(1) (A)Ud (R) SF1 |7 & T2 (R), (A) BT HE LG0T 2 |

(2) (A)Td (R) aF1 |98 € aAfd (R), (A) BT TE) WA T8 2 |
(3) (A)w € afes (R) g 1 -

(4) (A) 399 & ofdb (R) 9 2|

13. Match List-I with List-II and indicate your answer using the codes given below :

List-I List-II
(Concept) (Description)
(a) Organizational Citizenship (i) Discretionary behaviour of employees
Behaviour that promotes the effective functioning of
an organisation
(b) Work place incivility (ii) Voluntary violation of organizational
norms
(¢) Ethical Dilemmas (iii) Situations in which individuals are to
define the right and wrong conduct
(d) Turnover (iv) Voluntary and involuntary permanent
withdrawal from an organisation
Codes :
(1) a-i, b-ii, c-iii, d-iv - (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(B)
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A - 1P - 1 gafea ARG qem Y Ry T e &1 v aRY §Y ST SRR

ERIENE
-1 -1
(a) HTSATHG ANNGATT FEER (i) BHARAT &1 AgeriT 2@er o) W@ ©
YHTELITel HIIYOTE BT WeaTed HRal 2 |
(b) TR Afdrean (ii) HToTie FEt o1 WRkee SoowH
(c) ifcre gfarem (iii) T Refa R aafaqal @1 w8 vd Toa
JTERYT B gRAIRT BT Bl 2 |
(d) = uRadH (iv)d7ed ¥ Wies vd e emf
REZEII
RC :
(1) a-i, b-ii, c-iii, d-iv . (2) a-ii, b, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

14. "Employees who identify opportunities, show initiative, take action, and persevere
until meaningful change occurs” can be described as :

(1) Having Machiavellian Personality
(2) Having Narcissistic Personality
(3) Having Ty'pe-zi personality

(4) Having Proactive Personality

"FHANITOT Wl AR YEAT §, Use o ¥, BRA) exa & 91 g8 W& ¥, 99 9%
9 dh ARG I8 T8 AT 8 BT HEl o HHT §

(1) efargel afdam @ o @& w5y
(2) G Afdae @ I B WY A
(3) <TIZU-A Hfdkicd Y& dTel & wY H
(4) InNfica afdma @ el & w5 §
15. "Employees who dislike work, responsibility, and are lazy must be correct to
perform" is the assumption of :
(1) Theory X of motivation (2) Theory Y of motivation
(3) ERG theory of motivation (4) Two factor theory of motivation

“HHARFTOT Sl $M, TMAE BT A0S B § ao el 8 & @ v B forg fagw
fan ST =nfey | g @ -

(1) sfAuRoT &7 X g (2) ifESRom @7 Y Rigra
(3) IfAUROT BT § AR S Ry (4) SIfUROT BT B PRG g

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P.T.O.
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16. Read each of the following two statements — Assertion (A) and Reason (R) and
indicate your answer using the codes given below :
Assertion (A) : Some systematic biases and errors occur during decision making.

Reason (R) : Decision makers engage in bounded rationality.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanatmn of (A).
(38) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

71 <1 deorl dUF (A) a1 BR (R) @1 ey e A R W ge @ v aRa ge
AYAT ST 15V |

BAT (A) : BB FaRerd verard vd Fe Fofkr o w8 2

®ROT(R) : (vig &= arer 7aifed @effexor § o 819 § |

@

(1) (A)Ud (R) I I & TG (R), (A) BT FET WG ¢ |

(2) (A)UE (R) Tl |9 & TAT (R), (A) BT &) WEFH0T &) 2 |

(3) (A) T € afed (R) s/ 2|

(4) (A) 3 § ofd (R) I B

17. Match List-I with List-II and indicate your answer using the codes given below :

List-I List-1I
(Author) (Concept)
(a) Asch (i) Group conformity
(b) Zimbardo (il) Mock Prison
(c) Milgram (iii) Obedience
(d) Damion (iv) Compliance
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
tﬁ-lﬂﬁiﬁf-ﬂﬁgﬁ%ﬁﬂ%ﬁnﬁ%?ﬁ%fﬁﬁﬁmaﬂmmﬁ@mw
qaATgY
-1 TEI-11
GECED) (3rerer=om)
(a) o (i) o S
(b) forerst (ii) TPl FRITR
(c) Feum _ (iii) TSTHTRAT
(d) ST (iv) SrguTer
ag:a' :
(1) a-i, b-ii, c-iii, d-iv | (2) a-ii, b, c-iv, d-iii
(3) a-iii, b-iv, c-i,"d-ii (4) a-iv, b-iii, c-ii, d-i
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18. Self-serving bias refers to explaining the successes by attributing them to
TAlGEEE TS s, :

(1) Personal dispositions ; Situations
(2) Situations ; Personal dispositions
(3) Intrinsic Motivation ; Personal Situations

(4) Extrinsic Motivation ; Situations

JTHALT G&TITT AHSAA BT ... H 378 URING SRS A ... & fawerdr &1
TORINT SR BT W B I FeRT 2 |

(1) =feaTa =Ry : Rafet (2) Reafdd! : afemra w=ghy
(3) e ARV : &Afdera 7GRy (4) arer sifvRon - Rerfert

19. Kennedy's Bay of Pigs failure was mainly caused by :

(1) Group cohesion (2) Responsibility Diffusion
(3) Group think (4) De-individuation

B! BT 9-oNH-fT RAeran Jeegcar B @

(1) Sg wAEad gRI (2) SRR AR &R

() wE R gr (4) R-aafdm@aT gro

20. A person who agrees to a small request initially is more likely to comply with a larger
demand later. It is an example of :

(1) Door-in-Face Effect (2) Foot-in-Door Effect

(3) Door-in-Foot Effect (4) Face-in-Door Effect

AfdT S T H BIC | SRY W WEHd B €, 39 a8 § a9 /A B e avy B
AP FHIGT W&l 8 T8 SR &

(1) SR-3F-%F g4Tg (2) WE-39-SR y9E

(3) SR-3F-%HT U9Ig (4) BY-39-SR U9TE@

21. Campbell and Fiske developed an experimental design called "Multitrait-
Multimethod" to study :

(a) Com}ergent Validity (b) Discriminant Validity
(c) Concurrent Validity (d) Cross-Validity
Codes :

(1) (a) & (b) only ' (2) (b) and (c) only

(3) (c)and (d) only (4) (a) and (d) only

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P.T.O-
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DA T B N T YA D TANTAD (ST Ao se- el s e fbar

(a) T Jerar (b) wergrergol derar
(c) wadi e (d) s e

Be ¢

(1) (2) W@ (b) AT (2) (b)Td (c)wrt
) (o) vd (d) 5z (4) (2)Td (d) =

22. Match List ~Tand List - II, and indicate the answer using codes given below :
List -1 List—1II

(@) Equal-Appearing Intervals (i) Thurston

(b)  Summated Ratings (ii)  Likert
(¢) Cumulative scales (iii)  Guttman
(d) Equal interval scaling (iv) Samfoud
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
A LB RE I W gaferd BIRg dem R RA T we & wT BRa gU SO STR
CRIEIE :
NI LRI
(@) T fewrg s arel oRe (1) eRied
(b) wafom T (i)  forme
© w (i) Ted
(d) M Sr=RTe wbfei (iv) JHBISS
e :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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23. In a3 x 3 factorial design with A and B as two factors, the sum of squares for A is 24
and sum of square for B is 32. The mean square for error is 7. What would be the F-
ratio associated with the main effect of A and B respectively ?

(1) 1.71 and 2.28 (2) 1.56 for both
(3) 12and 16 (4) 8and 10.66

AT EUS B HAH AT BB AT 3 x 3 AN ST ¥ A ¥g T @1 AT 24 § @R
Beg o &1 arT 32 €| Fe e Wy & 7 | HHw A U9 B & ug oo Y e F-

YT T BT ?
(1) 1.71 19 2.28 (2) THI B fow 1.56
(3) 12Td 16 (4) 81d 10.66

24. Out of the following four factor rotation methods, which method/s is (are) used for
second order factor analysis (orthogonal) ?

(a) Varimax Rotation (b) Quastimax Rotation
(c) Obtemin Rotation (d) Promax Rotation
(1) (a) and (b) only (2) (b)and (c) only

(3) (c) and (d) only (4) (a)and (d) only

71 AR TGS B gomen § & By gonel @1 vanT i a queere fagenor
(e PpIo) =g fdar S @ -

(a) IHRT wETaTH (b) FAREHTRT THHTAT
(c) MmefHT e (d) 9T AT

(1) (a) 7@ (b) a3 (2) (b)Td (¥
(3) (c) v (d) A= (4) (a)wd (d) ==

25. A chi-square (%) table consists of three (3) rows and two (2) columns. What will be

the degree of freedom (df) while calculating relationship between two nominal scale
variables ?

(1) 2 2) 1 (3) 6 (4) 4

PIEFIRR (1 2) |l # e (3) dfeadl gem a1 (2) Siaw srafie 2| a1 F99s @& o
TR & dF HeY B T PR GHT WA Dife (df) /T BT ?

(1) 2 (2) 1 (3) 6 (4) 4

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P.T.Q.
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26. In factor analysis, two factors are considered to be orthogonal, when the angle-of
separation between the two factors is :
(1) Between O to 75 degree
(2) 90 degree
(3) Greater than 90 degree
(4) Greater than 60 degree but less than 75 degree

Wﬁmﬁwaﬁaﬁmaﬁwﬁvﬁnww%wﬁma%zﬁﬂ
YIFRHT BT BT B

(1) 0% 75 & & 9=

(2) 90 f&ih

(3) 90 f&ih & aifdr

(4) 60 &0 & s oife 75 oIl & &

27. Which of the following is not a type of response bias in psychological testing ?
(1) Acquiescence bias
(2) Social Desirasirly
(3) Response set
(4) Negative Response
waee gRerer § e 9 e afifear ofEf @ yer =8 R 2
(1) ufda= sfd=fa
(2) AT ars=radr
(3) wfafsrar e
(4) FHRHS gfofshar

+28. Arrange the following steps in sequence in Factor Analysis :
Steps :
(a) Selecting type of factor analysis i.e. cases or variance
(b) Selecting a factor method
(c) Selecting rotational method
(d) Validation of matrix

(e) Interpretation of rotated factors

Codes :
() a»>b>c—>d—e 2) a>b—>c—>e—d
B b>a—>co>d-oe 4) bo>a->d—o>c—oe

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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=1 =Rol 1 [oEETs faverr & e H ensy

N -

(a) Ml & UHROT ¥ UFRITS ATV B YHR H a4
(b) TOFETS YOIl BT T

(c) T[UTHSD YOIl T aa+

(d) g BT NGB

(e) HHMERIT [UFETS B ]

(1) a»b—osc—>d—e 2) a>b—osc—oe—>d
B) boa—sc>d—oe : 4 bo>a—>d—-oc—oe

29. Read each of the following two statements :
Assertion (A) and Reason (R) and indicate your answer using the codes given below.

Assertion (A) : Experimental method as compared to other methods of research is
considered more suitable for examining cause and effect relationship

Reason (R) : Secondary variance does not appear in experimental method.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

=1 1 Bl aiffwer (A) T FROT (R) B ey qen 99 Ry M @ &1 T e
gU 3701 IR 9418y |

FIT (A) : WY B [ YONferdt B Jor § qANTHS Yomeh BT R BROT He R wirg
B Y AF IUST AT ST B |

HIRT (R) : fa<iiae gavor gammers gomell # #ioe =€l 8iar 2 |

(1) (A)vd (R) Sl 9 € TG (R), (A) BT TE WL 2 |

(2) (A)Td (R) 3w & A (R), (A) BT T8 woSawor T8 2|
(3) (A) ¥ & o7 (R) 3T & |

(4) (A) I & Afda (R) 9T 2|

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P.T.O.
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30. In which of the following scaling methods, Law of comparative Judgement is not
used while computing scale values ?
(a) Summates Ratings
(b) Equal Appeari.ng Intervals
(c) JND Scales

(d) Paired Comparison

Codes :
(1) (a) and (b) only (2) (a) and (c) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only

ﬁ‘iﬂfﬁﬁﬁmﬁﬁ%ﬂwﬁﬁmﬁﬁuwﬁmmw&mmﬁw
IYART @ AT Siar 7 ?

() wpfer e (b) warT fewms ued arel sTe
(© & T & <@ (d) FfAe ger
(1) (@)1 (b) w1 (2) (2) T (c) 7=
3) (@), (b) W (c) 7 (4) (b), (c) va (d) A=
31. First experiment on 'span of attention' was conducted by ......... O wivwnavis
(1) Jevons: Jastrow (2) Jastrow :Jevons
(3) Jevons : Himself (4) Hessey : His wife
(1) S : o (2) SIS : S
(3) wae : W (4) B : A9 AT

32. A change in the level of light energy results into the alteration in the comparative
sensitivity of retina is known as :

(1) Punkerji Effect (2) Flicker Fusion

(3) Retinal Disparity ' (4) Double Image

UHTE Gl B WR H IR & aRomasy AT & GorreTe dagaeierar § uReds e
2, Ry s o 2

(1) geoll 99 & ®T A (2) TR deod & w9 A

(3) fear Weeh faumar = (4) SR yfafem

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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33. Match List-I with List-Il and indicate your answer using the codes given below :

List-I
(Concept)

(a) Sensory Register

(b) Span of Attention

(c) Retinex Theory.

(d) Cochlear Mechanism

List-II
(Author)

(i) Sperling

(ii) Jevons

(iii) Edwin Land
(iv) Von Bekesy

(1) a-i, b-i, c-iii, d-iv (2) a-ii, b-iv, c-i, d-ii
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i
AL B L W AR AR T A R T B @ mE Ry gy S SRR
W ;

-1 LA-11

(erarerTom) (cTE®)

(a) FIgT IR (i) afefT

(b) =9 o (ii) @™

(© Yo Rigra (iii) Tefa s

(d) PraER TR (iv) 9 S
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iv, c-i, d-iii
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i

34. Phenomenology is best defined as :
(1) study of thinking and memory

(2) study of natural and unanalysed perception

(3) study of language and its development

(4) study of process of consistent patterns and organised sets

ge1 fohar fasm war aRafa 2 -
(1) fIaR g SR 9fdd & e & w9 3

(2) @™ Ta R favefia 9 & s & wu o

(3) 9T 9T D AP B ewgT B vy A

(4) T YT vd AT g @ uhar & ondw @ vy §

M.Phil/Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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35. A gymnast mainly relies on:

(a) Kinesthetic sense (b) Vestibular sense
(c) Haptic sense (d) Cutaneous sense
(1) (a) and (b) only (2) (b) and (c) only
(3) (c) and (d) only (4) (a), (b), (c) and (d)
I &I TR BT ©

(a) PrETRfes HagT w (b) wamfg waeT wR
(c) Bufew HagT W (d) @& FaeT W
(1) @l (a) 3R (b) (2) Bt (b) 3R (c)
(3) Bt (c) 3R (d) 4) (a), (b), (c) 3R (d)

36. Which of the following statements best defines the "Gate Control" theory of pain ?
(1) Pain impulses are sent to receptor sites in vital organs

(2) Non-painful nerve impulses compete with pain-impulses to reach the brain
creating a neural blockage

(3) Painis simply a psychological state not physiological one

(4) perception of pain depends on one's physical make-up

1 & O P31 HUF T8 B TN Pola” Rigra o Farad gkt #Rar € ¢
(1) << AT FATaeg s A A YTE WSl B Aol W ©

2) R <dgaa ¥ datg Seac AT H I ARA 9@ UgEn @ forg &d AT |
gfergert &RaT §

(3) Te Y% AAIdsNG araven & 7 fb emdiRe araxen
(4) &< 31 9y AR B IRIRG g9ae R R Bar 7

37. The study on Zulu tribes of Africa revealed that zulu individuals would be less
susceptible to .......... .

(1) Figure ground phenomenon (2) Zollner lllusion

(3) Ponzo Illusion (4) Muller-Lyer Illusion

IMBIFHT & Tfo] TG R AT W GaAT Bl & b e A ... & day # &9
g BT |

(1) smafa 9f ge (2) SremR yifa

(3) dra wify (4) TER-TFER i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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38. Read the following statéments Assertion (A) and Reason (R) and indicate your
- answer using codes given below :

Assertion (A) : Usually deaf persons do not have motion sickness.

Reason (R) : Vestibular mechanism significantly mediates in perception of motion.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
(3) (A)istrue, but (R) is false

(4) (A)is false, but (R) is true

ﬁﬁr?ﬁm(A)awwmmﬁu@vw%%ﬁnﬁ@mmmﬁ@amw
CRIELES

DT (A) : AT gex AfGal § T ferg fa 8 Bl 2

SROT(R) : geofid gomell Fewyd ®7 & Aqed & Y ¥ 7eRe wedl § |

"q;:E’:

(1) (A) T@ (R) T 99 B T4 (R), (A) BT W& LG §

(2) (A) T (R) S &1 2 &fd (R), (A) &1 B WSIpeor =8) &

(3) (A) ¥ g AfpT (R) sy 2

(4) (A) a9 € odfed (R) 9 2

39. Feeling touchy or hypersensitive following an upsetting experience is a form of :

(1) Imprinting (2) Habituation

(3) Sensitization (4) Reflexive Behaviour

TP WM 9T & aTe W A1 AfAdeTIN HEG S T w6 2
(1) = <= (2) s

(3) guTERT (4) Fotamas @R

40. Premack principle is :

(1) A primary reinforcer is thought of being related to an organism's survival

(2) A secondary reinforcer is the stimulus that acquires reinforcing value because of
paring with primary reinforcers

(3) All responses can be potentiated reinforcers

(4) More frequently accusing activity can not be used to reinforce the activity that
occurs less often

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P.T. Q.
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e g 5 -

(1) werfie Re=pRik e & StTReifaar & 9dfda faar &

) dT ReorR 98T ¥ o1 vfie RePRR & IF & SR Yaelo=vl qod B oI
HAT © |

(3) @i ufafthart Re=pRiR &1 wfdd F7= TR Fdhal &

(4) IBF IRIR X arel fhardmary &1 fhardend S &9 9897 BT &, Bl Wdeiigd &R
& forw warT fham < Aaar 2

41, Arrange in sequence the last five factors of personality indexed in Cattell's High
School personality questionnaire (HSPQ) :

1) LJ,O, Q5 Q @) 1,0,Q, Q5 Q,

(3) O, Q1 Qy Qs Qy 4) O,P,Qy Qy Qs

dod B gfedv Affaa uwT Awren § waRad qEdie @ W ufa dRel Bl 9w
qfRerd BT

1) LJ,O Q5 Q (2) J,0,Qy Q5 Q4

() 0,Q1,Q, Q5 Q (4) O,P,Q;, Q) Qs

42. Which of the following categories of responses are objectively scored in Rotter
Incomplete Sentences Blank ? (a) Omission; (b) Conflict- Response, (c) Positive
Response; (d) Anxiety.

Codes :
(1) a,band conly : (2) b,cand d only
(3) a,candd only (4) a,b,candd

yfafthar & =1 # 4 9 Ao @7 gl # Aex § WR By 9 ' 7 (a) A" (b) FEy
'qﬁﬁm(c)www%ﬁW(d)%ﬁ '
Fe :

(1) a,b Td ¢ 9 : (2) b,c Ta d 9
@) a,c TG d 7H e 4) a,b,c wdd
43. Match List-I and List-II and indicate your answer using the codes given below :
List-I List-IT
(Concepts) (Description)
(a) Oral character (i) Over indulgence in infancy
(b) Anal character (ii) Difficulties during toilet training
(c) Phalic character (iii) Inadequate Resolution of Oedipus complex
(d) Genital character (iv) Sexual maturity
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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G-I | - @1 jgAfera SR T i Y W @ @1 W aRa U SO SR

ELIEIE
- LAN-11
(3raErT=om) (@of=)
(a) T faRmmar (i) araeuT 3 ot JRfEe
(b) TTaT e faeruar (ii) ¥ & SR & TE
(c) <iffre fareryar (iii) AgRT BT JUATT IYTHA
(d) sHfHe fagyar (iv) @ifire gRudaar
B
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

44. Match List-I and List-Il and indicate your answer using the codes given below :

List-I List-II
(Concepts) (Tests)
(a) Universal Index (i) Objective Analytic Test (OAT)
(b) F-K Index (i) Minnesota Multiphasic Personality Inventory
' (MMPI)
(c) Disclosure Index (iii) Melton Clinical Mulliaxial Inventory
(d) Suicide Constellation Index (iv) Rorschach Inkblot Test
Codes :
(1) a-i, b-ii, c-iii, d-iv () a-ii, b-, c-iv, d-iii
(3) a-iii, b-iv, c-1, d-ii (4) a-iv, b-iii, c-ii, d-i
-l &1 e - @ AR der e A T e @1 W eRd g0 YT SidTe
aforg -
-1 11
(SrgERem) (q1ey)
(a) qrEvife Jadie (i) STEYT WP faverd) wderr
(b) U®o o FaABI® (il) f=rer sgee &1 Sufve g
(c) URAHROT TABID (iii) frees daife ageria =
(d) BT AR JaBIH (iv) R SHeATe TR
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P.T.0,
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45.

46.

B
Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Some personality factors such as D, ], K and P do not appear in Cattell's
16 PF.

Reason (R) : Some factors appeared only in a-data not in Q-data.

Codes : _

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A)is false, but (R) is true.

1 &1 BT (A) BT q BROT (R) BT 9fey derr A A T g @ d@d gU e
SiSEECHIELYE

HAT (A) : B Afdaa dRS o D, ], K td P dea & 16 PF # k@i 78 usd g |
BRI (R) : Y SRS dad o el A G@E ued € 9 & Q wwer #

He -

(41

(1) (A) U@ (R) SFI 9 & 3R (A) &1 F& WD (R) B

(2) (A) T (R) R 98 € IR (R), (A) FT HE) TEIBRT T&I 2 |
(3) (A) ¥ g, afd (R) 39T B |

4) (A) 39 B, ofhT (R) | B 1

Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Extroverts are sociable and impulsive individuals who like excitement.
Reason (R) : Brains of extroverts react more slowly and weakly to stimuli which cause

them to seek excitement by approaching the environment.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

= 1 Al U (A) Td BRI (R) BT ufey qonm 9 A T @ @1 g FRd g
YT IR FaArEy -

HU (A) : Il e W T ErEle afdd g € ST S<eET ONg $Rd ® |

HRY (R) [E9F 74 59 g o1 afass e Shaq aen e saeir gfafisar
HRAT & S URIY W Igd TR So ST Bl Terel BT g |

Re ¢

(1) (A) U@ (R) 3HI 9 & AT (R) (A) BT T WG & |

(2) (A) T (R) Tl ¥ & SIfd (R) (A) &7 A8 W] Fal 2 |

(3) (A) ¥ &, A (R) 817 ®

(4) (A)3T 2, oifd (R) 9T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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48.

49.

21
Myelin stains and Nissl stains identify ........... A oo respect only.
(a) Neural Pathways (b) White matter
(¢) Nuclei (d) Neural cell bodies
Code :
(1) aandb only (2) candd only
(3) aand donly (4) bandd only
Helld R Jor el |F H9en ... 15 S TET HRaT & |
(a) =gzt wrrg (b) =®TET Hex
(c) ~qaen CURIESIEREEINE
(1) &9 (a) 3R (b) (2) ®aa (o) 3R (d)
(3) @l (a) AR (d) (4) dad (b) 3R (d)

Which of the following techniques can be used to study activities in a living human
brain ?

(@) Computerised Tomography (b) Ablation and Lesioning

(c) Sterotaxic Procedures (d) IMRI

Code :

(1) a,bandconly (2) b,cand d only
(3) a,cand d only (4) a,b,candd

=1 A 9 &9 doiie &1y sifag 99g 9Rass § el & R & for frar o
THar g ?

(2) PgAPHa cHraTH! (b) STEA U9 A

(c) ERack®s ufspar (d) 3o THo 3Ro 3o

(1) a,b T ¢ 4 (2) b,c T d A= ‘

(3) a,c Ug d "9H (4) a,b,cTud d

Neurons make up only about .......... % of the brain cells and other .......... % are glia
cells. '

(1) 8%;92% (2) 10%; 90% (3) 15%; 85% (4) 85%; 15%

R ARTED PIRMGT BN DI TTHT ... % TAT T .......... % ferar silRER &
A € |

(1) 8%;92% (2) 10%; 90% (3) 15%;85% (4) 85%;15%

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P.1..0:
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51.

50. Ears of human beings hear the air molecular vibrations between about ......
(1) 10to 1,000 Hertz (2) 15to 2,000 Hertz
(3) 20'to 20,000 Hertz (4) 25 to 25,000 Hertz
(1) 10 & 1,000 & (2) 15 9 2,000 &<
(3) 20 & 20,000 &S (4) 25 & 25,000 &<
The main biological clock that controls the circadian rythms in mammals is :
(1) Suprachiasmatic Nucleus (2) Arcurate Nucleus
(3) Solitary Tract Nucleus (4) Accumbens Nucleus

52.

7 Hfde o A1 wRAl § dafedd o &1 i a8, 98 7
(1) gufeaemies =fdaaa (2) IRERT FeTad

(3) wifercd Gae feraw (4) THgdd Yfderaa
Match List-I and List-II and indicate your answer using the codes given below :
List-I List-II
(Concepts) (Description)
(a) Monism (i) Brain functions as an undifferentiated whole
(b) Dualism : (i) Mind and body consists of the same substance
(c) Equipotentiality  (iii) Body is material and mind is non-material.
(d) Reductionism (iv) Understanding of behavioural phenomena in terms of
biological principles
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iii, ¢, d-iv
3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i

gA-1 B gA-II | Al Sy den g A T de &1 WA dRd g 370 ST
qaATRY

-1 E-11

(STqETROTT) (@of)
() 3FEd (i) wRa HRf qoiaar FHwT B wY A
(b) gqar (i) ARTSS T IR B FRall usrd B §

(c) wAfvwaare  (iji) TRR ggret & qor aRkass ueref 8 &
(d) suTgarg (iv) Siftw Rrgral & gaR saaRa sy & |qHe

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iii, ¢-i, d-iv
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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53. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below : '

Assertion (A) : Neural Membrane is double layered.

Reason (R) : Lipid Molecules turn their tails towards each other.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

e ¥ @ eu9 (A) g1 R (R) &1 ufey dur i 33 T @e @1 YA SR gy gl
IR I8V ¢

B (A) : dF@T el IR waky o B 8

SR (R) : forfrs &) st §7 @1 &= e A € |

(1) (A) T@ (R) 3F1 ¥ € @1 (R), (A) T HEl LB ¢ |

2) (A) T (R) 2l 9 ¥, W (R), (A) FT F&1 WLIHRIT & 2 |

3) (A) 9 &, afp (R) o & |

(4) (A) 3T &, ofhd (R) 9T 7 |

54. Match List-I and List-II and indicate your answer using the codes given below :

List-I List-11
(Concepts) (Description)
(a) Night Terror (i) Disturbance in sleep-wake cycle
(b) Restless leg syndrome (ii) Cramps in calf and foot muscles
(¢) Nocturnal leg cramps (iii) Sensation of legs causing movements and

loss of steep

(d) Circadian Rhythm Disorder  (iv) Extreme fear and agitation

Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i '

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P. T. 0.



24

95.

56.

57.

B

GA-1 1 AL B G AR e A R T e b1 g w57 e wd R
BT AT

1 -1
(STTEITROTN) ClE))
(a) I & () =T as & qun

(b) W™ ofFT Rimg™ (i) favseh qer Y AUl F By
(c) eI o B (iif) TR B FITT D BRO Hae vd o sife g
(d) ST FHT AT | (iv) STIMF T FoI HeRIEE

Be -
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

Academic achievement in primary and middle school is relatively more determined

L ; and in higher education more by ........... ;

(1) Intelligence ; Creativity (2) Creativity ; Intelligence

(3) Intelligence ; Personality (4) Personality ; Attributions

e der "AReafie faRer ¥ Wife Sudfyr ey ... N JUETHd e qT
.............. g1 Seg e 4 a1t FufRa fasar sirar 21

(1) gfE ; gorrers (2) oI ; gy

3) 3f&;=fdme ¢4) e ; ToRmT

Deep learners are more regulated by :

(1) Extrinsic Motivation (2) Intrinsic Motivation

(3) Approval Motivation (4) Affinitive Motivation
ATelTd ARIRgT siftres Fif3a g %‘I

(1) 918" SIfuROT gIRT (2) =IRe® AMAUROT gRT

(3) =Pl AR gRY (4) TwiafeT fRoT grr

In making the children to learn any law or principle, teacher should use :
(1) Inductive Method (2) Deductive Method

(3) Analytical Method (4) Story telling

Iedl Bt D18 o a1 Rigra wem @ g fa e & wanr s w2
(1) SMTHATHS oAl 2) A S FoTen

(3) RreroneTs yomel < (4) e Foi+

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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58. Researchers, in general, have revealed that with increasing age and education level
role of intelligence in academic achievement.

(1) Increases
(2) Declines
(3) Remains constant

(4) In some cases increases and in some cases decreases
AEFGTT el W gorT fhar € 5 9w dun Rem 'R 3 9% @ Ay el
SUAfr & gfg & AT
(1) F&i &
(2) wedl 8
(3) Rer <& @
(4) BB AHA # dgdl § TAT FB AHAT § Tl ©
59. Arrange the following virtues in sequences according to their emergence.
(1) Love — Fidelity - Care — Wisdom
(2) Fidelity — Love — Care — Wisdom
(3) Care — Fidelity - Love - Wisdom
(4) Fidelity — Care - Wisdom — Love
o=t o & 9% enfadia @ IR B H IaTgy |
(1) 9 — e > wRaE - gf&
2) ¥fdT - I - RaE - gfg
(3) WaE — A - W - gfE
(4) ¥feT — RaE - gfg > 9=

60. Match List-I with List-II and indicate your answer using the codes given below :

List-I List-1I

(a) Strange Situation Test (i) Observation Learning

(b) Visual Cliff Test (ii) Morality

(¢) Bodo- Doll Experiment  (iii) Attachment

(d) Henz dilemma (iv) Depth Perception
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) 2.,
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A @ AL g BT qer A RA T ge @ W a9 gy Su ST

CLIELYE
-1 -1
(a) wu1 Refy gderor (i) Wefour fretor
(b) g¥a HEEH TRleror (i) =fcraar
(c) drE-STa YA (iii) arrafaT
(d) &1 gfaen (iv) T 9
% -
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

61. Which of the following statements are not true ?
(a) Deep processing involves elaborate rehearsal
(b) Autonomic processing is unconscious encoding of information

(c) Interference results when new information does not enter STM and pushes out
old information

(d) Declarative memory involves memories for skills, habits and things learned
through classical conditioning

Codes :
(1) (a)and (b) only ' (2) (b) and (c) only .
(3) (c) and (d) only ' (4) (a) and (d) only

1§ ¥ -1 duF Wy T8 8 P
(a) &R grRARTT # favga yabharr wnfie 2
(b) aatferd MRARGT JFAT BT Sa o g+l 2 |

(c) BXMEY BT & S1d 93 a1 TAAgH ¥ wawr & el 8 q1 YRE A B Lrprern
=

(d) soneres T § geRied oFae B ERI WY MY PR, aradt g9 @l @)
wfcrt enfier 2|

Hg?,’.
(1) &9 (a) Td (b) . (2) ®ae (b) TE (c)
(3) @ad (c) vd (d) (4) BT (a) T (d)

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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62. The process of encoding information from STM to L'TM is most efficient when :

(a) It has procedural mariner (b) Itinvolves associations
(c) Hippocampus is not damaged (d) Tt uses repetition
Codes :

(1) (a) and (b) only (2) (b) and (c) only

(3) (c) and (d) only ' (4) (a) and (d) only

THEIUA | YACIqH O Gaal & g a9 &1 Uihar @ad 1P wrder widl € o -
(a) s ufshaTers a¥iaT BT '

(b) o WA Wit g 8

(c) o= aftira 98 8iar ©

(d) I8 Y-RIGRY BT FANT &Rl ©

?m'“_c":
(1) daef () Td (b) . - (2) Baet (b) T (o)
(3) Bael (c) Td(d) (4) dad (a) @ (d)

63. Method of Loci includes which of the following three steps ? -
(1) Create visual places, memorise these places, create vivid imagery.

(2) Create vivid associations, memorise visual sequences, put associations into
places.

(3) Memorise visual sequences of places, create vivid associations, put associations
into selected places.

(4) Memorise selected places, create vivid imagery, memorise vivid imagery.
RN B gome A = # A B AT PR wifAe 8 ?

(1) g2T AT BT ST, 39 LA B ATE BHRAL, Folid qfd J9g DI FT |

(2) | HATS I, T HA P ATe BRAT, TAF A H A T |

(3) I & §¥Y IHHI DI TG BRAI, Tl HANSTA Pl =741, TAfFd =l H U
AT |

(4) I WIF BT ATE AT, Foid Jid 8 991, Foild JRIGqE &1 a6 HRT |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P.T.O.
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64. Match List-I and List-II and indicate your answer using the codes given below :

List-I
(Concept)
(a) Anterograde Amnesia

(b) Retrograde Amnesia

(c) Proactive Interference

(d) Method of Loci

(1) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-iv, c-i, d-ii

AL D1 AL W gl B qer i fRA T @l @1 winT awd gy e weR

ERIEAE
TA-I

(erarerTom)
(2) TR Hfre
(b) weErT iy
(c) vvfieg ewey
(d) @R B gomed

(1) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-iv, c-i, d-ii

List-II
(Description)

(i) Inability to make new memories
after head trauma

(ii) Inability to recall events preceding
head trauma

(iii) Old information blocks or disrupts
the remembering of related new
information '

(iv) Creation of wvisual association
between already memorized places
and new items to be memorized

(2) a-ii, b, c-iv, d-iii

(4) a-iv, b-iii, c-ii, d-i

EI-11
(avt9)

() RR ®R e & qrg 70 Wit a9m
B ramefar

(i) RR R Fc & ugel "Rl & ure
B B AT

(iil) QRIT o Haferd g @ By are
FRA DY ABAT AT 91T AT &

(iv) Ire fFT ST arel - 98 W U
R S I
|ATSTE BT AT

(2) a-ii, b, c-iv, gi-iii

(4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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Following two sentences
(i) Yesterday I goes to the tuition class and
(ii) Surprised on seeing a woman driving tractor in the field first time, best explain.
(1) Overgeneralization : Overregularization
(2) Overregularisation : Representative Heuristic
(3) Representative Heuristic : Overgeneralization
(4) Representative Heuristic : Overregularization
<1 AT
(i) & § g FAE TAT U9
(ii) ggel IR W ¥ IR T AR B IR meadafha 8 I, HdRH WETBROT
CUGIE

(1) feam=ieRer - ufafAfea @ o

(2) afa FE=eRor - famARERo

(3) ufafafera w@a: o : ifa =i

(4) ufoffre w@a: e sfaf=exor

........ believes that there is an inborn tendency to absorb language; and ........ believes

that there is language acquisition device (LAD) in children.

(1) Chomsky : Whorf (2) Whorf : Chomsky

(3) Chomsky : Chomsky (4) Kahneman : Saffron

e, TATATA BRAT B B WIGT BT SMHENG PR BT TES UIRT BT B GAT foeara

HRaT & b geal § 9T ST SUBRYT (Terge!) BT © ¢

(1) =Py : A (2) 9 : ARG

(3) @R @ =D (4) BTETA : HHIA

Which of the following statements best describe an example of "Availability

Heuristic" ?

(1) After speaking before 100 persons, one is not afraid of public speaking

(2) A woman thinks that all the males are eventually cheaters

(3) One complains about his job after having a bad day and overlooks the fact that he
really enjoys his job

(4) one claims that when he confronts with a problem, he likes to produce one correct
solution -

e # A PI—T BT IUAIAT T T BT G IETERYT B

(1) 100 @i & A dem & 918 IS Al Aduie w9 J e | SIal el g |

(2) Aften |t & 5 0 goy ofaa: grgarst B @

(3) @S A TP 29 W@ B @ 915 U B & IR H Riera wxar 8 aur ad @)
Sl BYal & b 9% 9<g ¥ U B BT IS IS &

(4) P =faT I8 =M@ AT & (b Sfe g8 AERIT B GHAT BT B, & TP FEl TR
URqd BT ATEdT ©

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) BT O
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68. Which of the followiné sequence describes the language development appropriately ?
(1) Babbling, one word phrase, two word combination, sentence
(2) One word phrase, babbling, two word combination, sentence
(3) Babbling, one word phrase, sentence, two sentence combination
(4) One word phrase, two word phrase, babbling, sentence

et 5 & a1 9 A9 Re™ o1 wqfe ade O aftfg swar & 2
(1) AT, U 9o qragier, QT g FAISTH, I

(2) TH TeE AR, GeAeTl, &I e AT, aTerd

(3) ETIIHI, Uh vIeq aTqRITeT, Ired, &1 aray qarar

(4) TEH v qreaiE, g1 es AIGATe), A, arad

69. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Some person's speeches are hesistant, effortful, and simple.

Reason (R) : Damage to Wernicke's area typically produces difficulties in language
production. -

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false '

(4) (A)is false, but (R) is true

= B (A) TAT BRI (R) @Y afey den e R T g &1 Ja &R gU AUAT SR
CRIELEE

BT (A) : g Afddal @1 arfl, FafFaeaqds dsm vd wme g 2
HRUT(R) : a6 & a3 @ afd o sy § ufeed! i3t dar ear 2
% :

(1) (A) @ (R) aFI 9 & Td (R), (A) &1 TE) WG §

(2) (A) T& (R) Ml ¥ & @fT (R), (A) BT W& W07 861 2

(3) (A) ¥ ? AfdT (R) s/ '

(4) (A) 39 8 dfdd (R) 9 § -

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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70. Match List-I and List-II and indicate your answer using the codes given below :

List-I
(Concepts)
(a) Problem Isomorphs

(b) Belief-bias Effect

(c) I Conjunction Fallacy

(d) Conjunction Rule

Codes :
(1) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-iv, c-i, d-ii

List-11
(Description)

(i) Set of problems having same underlying structures
and solutions but different specific details.

(ii) Judgements are made based on prior general
knowledge rather than on the rules of logic.

(iii) Erroneous judgement that the probability of
conjunction of two events is greater than the
probability of either events occurring alone

(iv) Probability of a conjunction of two events can not be
larger than the probability of either its constituent
events.

(2) a-ii, b-i, c-iv, d-iii

(4) a-iv, b-iii, c-ii, d-i

A1 B gA-I F gafera AR Jor M A T Fg &7 T Fa 5T SUE SR

-1

(3raERom)
(a) wweT wATgR
(b) fafers-verarayot T

(c) e wrt
(d) FareE

(1) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-iv, c-i, d-ii

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)

peig
(avf=)

(1) TH & MERY TG TAT AHRTH dTel AFRARA &1
R dfde - fafifeee faawor

(i) i FadEl /a6 & 99T g@ AE 9 R STRIRG
v e @

(iil) FReget Fofa & Q1 TRl & FaeE @& F9E
UHAE 8F drel Bl U "eAr @ d9aar W gS]
BaTE

(iv) T TRl & WA B HHEET §9G gTd TRl
A 5N vp & e @ e g A &1 Fhe
g

(2) a-ii, b-i, c-iv, d-iii

(4) a-iv, b-iii, c-ii, d-i

P. T.0O.
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71, In R-type conditioning, the strength of conditioning is shown by :
(1) Magnitude of CR (2) Response Rate
(3) Response Duration (4) Response Latency
IR-UBR I held H I &I T o fmar Sirer 2
(1) IR @ AR gRT (2) dfafshar &% gRT
(3) ufdfshar erafer gry (4) ufafdsar sreramar gRT
72. Match List-I and List-I and indicate your answer using the codes given below :
List-I List-II
(Concept) (Explanation)

(@) Concurrent Reinforcement schedule

(b) Concurrent chain Reinforcement schedule

(c) Fixed Interval Rft. schedule

(d) Progressive Ratio Reinforcement schedule

(1) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-iv, c-ii, d-i

(i) Complex choice Behaviour
(i1) Sample choice
(iii) Post-reinforcement pause

(iv) Reinforcer efficacy

(2) a-ii, b-i, c-iii, d-iv

(4) a-iv, b-iii, c-i, d-ii

A1 @1 A [ gAfem ARy Jur R RA R we T R RS §Y U STR

EEIEIE
AT

(srarerT=om)
(a) |HEI FaeHHROT IR
(b) TG KRIAT YaeAHROT RN
(c) FriRa arfvam IR o & eyl
(d) wrTfereier ST HaeaHROT ST

a-i, b-ii, c-iii, d-iv

(D
2)
(3)
(4)

a-ii, b-i, c-iii, d-iv
a-iii, b-iv, c-ii, d-i

a-iv, b-iii, c-i, d-ii

A-1T
(eTer)

(i) wfas Ao 2aER
(ii) AT fawe

(iii) YRR f&erd

(iv) TaciTHROTh! GHTdIaTE AT

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(B)
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73. Which is the correct sequence in terms of response rate and resistance to extinction
during learning experiment ?
(1) FR » VR - VI —» FI - CRF

(2) Variable Ratio — Fixed Ratio — Variable Interval — Fixed Interval — Concurrent
Reinforcement

(3) Variable Interval — Variable Ratio — Fixed Ratio — Fixed Interval — Concurrent
Reinforcement

(4) Concurrent Reinforcement — Fixed Interval — Variable Interval — Variable Ratio
— Fixed Ratio

g0 WANT & AR fad" & gfafsar s qor ufiky & 9 %9 si9-a1 g ?
(1) FR > VR - VI — FI - CRF

2) aRedt U — FuiRa sud - oRadt e —» FeifRa s —»  wHacdt

PERIERYI

(3) uRaddl sl — uRadt srqud — FiRa o U —» Jwadt yachevr —» fFuifRa
3TIRTA

(4) wHa ygeiary — FEiRT smRer —» fAuiRa sua » uRadt st —» aRaddT
SrguTd '

74. Read each of the following statements — Assertion (A) and Reason (R), and indicate
your answer using the codes given below.

Assertion (A) : In both fixed interval and fixed ratio schedules, a reinforced response
is followed by a depression in the rate of responding.

Reason (R) : Perhaps the organism (subject) learns that responses immediately
following a reinforced response are never reinforced.

Codes :

(1) Both (A) & (R) are true, (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(B) P. 1. Q.
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: ﬁﬁfmwm)aww(maﬁqﬁqamﬁ%{ﬁﬁ@agmmmgqmw
EIELE )
FUT (A) : FEiRT srarrar den FuiRa erurd s @ § waehewor wfifsar @
TRV Gl & &% o sraarg gy fbar 2
SR (R) : Harfed e (efda) HAear 2 5 vachiaa s g ae gfifsar o9 &
yaeide & B & |
RC -
(1) (A) Td (R) SF1 9T 7 T (R), (A) BT T TLHEIT &
(2) (A) Td (R) 9 ¥g & Afh (R), (A) BT GET WLIHROT 8 &
(3) (A) ¥ & ofhs (R) 3vIg ©
(4) (A) a9 & AfdT (R) 9T ©

75. Who explained learning in terms of cell assemblies and phase sequence ?
(1) C.L.Hull - (2) Dollard & Miller (3) D. O. Hebb (4) R.C.Bolles
fora= e TaEenRor e TRT A gHH B AR W BT W faar ?
(1) o Telo 8 (2) Sra¥Ts Ud Aer  (3) Slo 3o 24 (4) aRo Wo aTelra

76.  Match List-I and List-I and indicate your answer using the codes given below :

List-I ‘ List-IT
(Concepts) (Authors)
(a) Vicarious Trial & Error (i) Skinner
(b) Hypothetico Deduction (i) Toleman
(c) Cumulative Recording (iii) Hull
(d) Reciprocal Determinism (iv) Bandura ’
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iii, c-1, d-iv (4) a-iv, b-iii, c-ii, d-i
AL B G-I A gAfera AR qen i RA W BIEE B W wRA gY Su SR
qdrsy
-1 - R
(3raem=oT) (GECED)
(a) ufafiSs aieror yomrelt (i) TR
(b) SIS FETH (i) ererid
(c) =Rl erfayfet (iif) gt
(d) yregRe Frafaarg (iv) avg31
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iii, ¢-1, d-iv (4) a-iv, b-iii, c-ii, d-i
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77. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Information can not be retrieved before it has been stored.

Reason (R) : Information processing is sequential process involving encoding,
retrieval, and storage.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A) is false, but (R) is true

=1 B (A) T SR (R) @7 9fey den A R 7 g &1 gART R §U ATHT TR
ESIENE :

B (A) 1 AT DI THD TR B @ g4 G ured & fHar o dahar 2|

BROT(R) : @1 Uftbar smgepiae ufkar & Rrad ge 99m, g uifks vd werer wnfae 2
e :

(1) (A) U@ (R) SHI 9 & Td (R), (A) BT FET WETHR0] 8

(2) (A) T@ (R) SF 9T & afdd (R), (A) BT & WETaro) 48f &

(3) (A) ¥ ' fp= (R) 3ied &

(4) (A) 3 € @fT (R)wea 2

78. Match List-I and List-IT and indicate your answer using the codes given below :

List-1 List-II
(Concept) (Description)
(a) Episodic Memory (i) Knowledge of specific event or
‘personal experience
(b) Procedural Memory (ii) Things learned through classical
conditioning of which one is not
aware
(c) Encoding | (iii) Transfer of information from STM
to LTM
(d) Eidetic Memory (iv) Retention of details of visual
images.
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
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79.

80.

B

A1 B gA-L W g g qer R RA W g @1 W eRd g AU IR
qaTSY . -

-1 _ -1

(eraum=em) . . (aoi=)
(2) SRS Ffa (i) faRy wear a1 <fda oW &
SIBEIRG
(b) wfshareTas iy (ii) FeRreet srgae & g el T
I e Ix § e worr 98 @
(c) @ a T (ill) WA Td Terdten A e @
3R
(d) grue wfa (iv) g3u ufifes & fexolt &1 @Ry
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b, c-iv, d-ii
(3) a-ii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

Which of the following is correct order of inputing information as per information
processing model ?

(1) Semantic encoding — elaborated retrieval — storage of information
(2) Retrieval from LTM — encoding in STM — encoding in sensory memory

(3) Encoding with sensory receptors — storage of information — retrieval on
demand

(4) Encoding in sensory memory — encoding in STM — Encoding in LTM

7 A B9 I TR died B ATAR AT S BT FE HH § ?

(1) 3 de g — R g ity — @ &1 |ugor

(2) TAETH W YR — THENH # G I — A BT GURY G TR GUR

(3) WA UE | W T — GIT BT FIET — BT R FUIR

(4) | wyfa d @ a9 - TEAH # g §ET - Edivd d we g e

........... plays an important role in memory storage from STM to LTM whereas —
plays role in dealing with emotional feelings associated with memories.

(1) Amygdata : Hypothalamus (2) Hippocampus : Amygdala

(3) Amygdata : Thalamus (4) Thalamus : Hippocampus |

THITA ¥ QSIEITH T i AU H ... Hewdqd HfFT a1 dear § ... R @
Sog HAMHD TG BT T3 H AT fABT 7aT BT &

(1) ufrrerer : ErEuery (2) g : giTSTer

(3) ufrrerer : =es (4) =qe® : AT
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81. Clinical Diagnosis is made on which of the following assessment levels ?
(a) Somatic (b) Physical (c) Emotional  (d) Cognitive
Codes :
(1) a,b,and conly (2) b,canddonly (3) a,canddonly (4) a,b,candd
e SuER e # 9 R qeaied wR W et S € 2
(a) ®1fw (b) TiR® (c) HITTHS (d) HSHHS

(1) a,bT@caHE (2) bcW@ddd (3) a,cT@ dAF  (4) a,b,cTd d
82. A person having frequent feeling of going above his physical body. It reflects
tendency of :
(1) Conversion Disorder : (2) Hallucination
(3) Spirituality (4) Depersonalization

Wﬁmﬁ%ﬁ%wwwmajﬂq gl &1 g8 = | 9 f ugfy
BT qRAR B g ?

(1) HIEROT T (2) #foaH
(3) ameuferean (4) =afdae A

83. DSM-III was considered radically different from its predecessors because :
(a) It was a multiaxial system
(b) It deleted misnomer words from literature
(c) Itintroduced coding system

(d) It used experimental data in devising categories

Codes :
(1) a,b,and conly (2) b,cand d only
(3) a,cand d only (4) a,b,candd

@ww-l{la@@ﬁﬁw:mww%ﬁ%:

(a) TE AT YOI B |

(b) TE ffear M vea] BT AR | 7T Hal 2 |

(c) TE BIFET YoTel BT IRH HYal 2 |

(d) TE sofal & gfad & e # ganTere STeT WA $edr 2

RC
(1) a,bTdcH= (2) b,cTa@da=
(3) a,cTd dHE= (4) a,b,cvd d
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84. A person with schizophrenia was found to repeat whatever words the clinical to
psychologist was speaking. This behaviour can be labelled as :
(1) Neologism (2) Echolalia
(3) Echopraxia (4) Word-Salading

HTFSIBAT dret AT Y STER[ 9T T O @ veg e Ase di @7 o1| 59
TGER DI HBT W Ghdl & :

(1) -garg & &9 A (2) TETIPRT & wY H
(3) PRI & w9 A . (4) v HaE & BY A

85. The permissible statistical operations in ordinal scaling are :

(a) Median (b) Percentiles

(c) Rank correlation coefficients (d) Coefficients of contingency
Codes :

(1) a,b,and conly (2) b,cand d only

(3) a,cand d (Jn]y (4) a,b,cand d

A Fd BRI H ey Al ik

(a) wfeaasT (b) wadHE

(¢) #1o weddy Torie (d) STHRFHAT BT TR

(1) a,bUqdcHH (2) b,cTd dHH

(3) a,cVd d 5= (4) a,b,cudd

86. "Numerical distances on the scale indicate equal distances in the properties of the
objects being measured" is the salient feature of :

(1) Nominal Scales (2) Ordinal Scales

(3) Internal Scales _ (4) Ratio Scales

“whe O i qf A T ARG @ O F T @ B aqarar 21 F A ¥ e v
fermar & ?

(1) TS &7 e | (2) HAGAD el

(3) =TI T (4) U Wt
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87. Non-probability sampling includes :

(a) Quota sampling (b) Purposive sampling
(c) Cluster sampling (d) Snow ball sampling
Codes : _

(1) a,b,and conly (2) b,cand d only

(3) a,canddonly (4) a,b,cand d

R yifear uftrees 4 ofaa 2

(a) ®Ter ufoaaH (b) SeegwRa yRreaas
(c) wg wferaa (d) 1 are i
@C:

(1) a,bqdcHH (2) b,cTad A=

(3) a,cTdda= (4) a,b,cTdd

88. Which of the following coefficients of correlation indicates the weakest relationship
between two variables ?

(1) 50 () -27 (3) .07 (4) -1.00
= % & weddy &1 BIF-A1 O Q7 TR b g Ha HHGR Hay 8, qaisy
1) .50 ) -27 3) .07 (4) -1.00

89. Given four problems were solved by 15%, 35%, 55%, and 75% persons of a group.
Compare the difficulty of problems (1) and (2) in terms the differences in their
z-values :

(1) 541 (2) .511 (3) .651 (4) 548
A T TR g B AHE D 15%, 55%, Td 75% afFadl gRT g fhAT WA AT| gD
z-A H R & SIAR AR (1) W& (2) & HiSAAT Bl i SIS

(1) 541 (2) 511 (3) .651 (4) .548
90. In multigroup design, the two most common statistics applied are :

(a) Analysis of variance (b) Logistic Regression

(c) Duncan Range Test (d) Discriminant Function Analysis

Codes :

(1) (a) & (b) only (2) (b) and (c) only

(3) (a) and (c) only (4) (c) and (d) only

Ay foies # <) waw e WM Yga ARED ©

(a) TR &7 fqveryor (b) <iffsiRe® A

(c) SHA NS T (d) & W fagetgor

(1) (a) W@ (b) A (2) (b)TE (c) 7=

(3) (a) v (c) 5 (4) (c)va (d) ==
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91. Match List-I and List-II and indicate your answer using the codes given below :
List-I List-11
(Concepts) (Description)
(a) Holophrase (i) One word sentence
(b) Framing (ii) The way an issue is stated
(c) Prototype (iii) Mental image based on average characteristics of an object
(d) Algorithm (iv) Convergent thinking
Codes : ‘
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
AL B AL W gAfra BRI qem e R T we BT W ey gy o $TR
ERIEIME :
-1 -1
(3raermom) (aui=)
() TPE A (D) UF wed AT
(b) WA (i) T Rt 91 BT BEr ST &

(c) onfe uwy (iii) 9] & ohwa faRiwar W smaRa w@fie gRifieg
(d) TermiRery (iv) PRI fere=

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

92. Which of the following are not the examples of problem solving ?

(a) Functional Fixedness (b) Functional obscurity
(c) Subgoals (d) Brain storming
Codes :

(1) (a) and (b) only (2) (b) and (c) only
(3) (c) and (d) only (4) (a) and (d) only
7 5 | DI TR WA BT SEER T8 §

(a) YwraTES e (b) YFmrETHE HfSTE
(c) SY-otey (d) aRd=s Iemdes
%< :

(1) B (a) vd (b) (2) @ael (b) Td (c)
(3) @ (c) Ud (d) (4) Bt (a) Td (d)
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94.

95.

41
Which of the following have been explained in Psychoanalytic theory of motivation ?
(a) Homeostasis (b) Drives (¢) Hedonism (d) Incentives
Codes :
(1) (a) and (b) only (2) (b)and (c) only
(3) (c) and (d) only _ (4) (a)and (c) only
o= & 3 o aifforon & v Rigra # e fdar man g 2
(a) BfERSRIT (b) TT@® (c) gaare (d) WrarEd
e -
(1) ®a (a) T (b) (2) @I (b) T (c)
(3) ®adt (c) T (d) (4) @9 (a) Td (0)

Which according to Master and Johnson, is the correct sequence of human sexual
response ?

(1) Desire, excitement, orgasm, resolution

(2) Excitement, plateu, orgasm, resolution

(3) Excitement, orgasm, plateu, resolution

(4) Desire, excitement, resolution, orgasm

AREY ST @ IR B 94 ot gfdfsar &1 98 %9 & ?

(1) 3201, ISl IHE, Fhed

(2) SIS, ©iE, SR, FHd
(3) TSI, NG, Wic, Fdhed

(4) 3=o1, I, Hdhed, SHIG

Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : In general persons with external attributions tend to be low on stress.
Reason (R) : Internal attributions enhance the mental health.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
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96.

B

ﬁmzﬁw(A)a@ﬂw(R)ﬁqﬁqaw?ﬁéﬁﬁ@a@\ewmmagwm IR
ESIEE

BT (A) 1 IR YUIRITOT a1l [T Afeerly § a1 &9 g |
BHROT(R) : I=ARS JUIRIGYT ARG TRy BT derr & |

(1) (A) @ (R) &1 G 8 T4 (R), (A) &7 T8 W0 &

(2) (A) @ (R) F1 |cT § afds (R), (A) BT F8 UHRoy 787
(3) (A) ¥ g afdd (R) s/qed @

(4) (A) 39 & afd (R) 9 @

Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : The fight-flight response is sometimes activated for longer periods.
Reason (R) : Some persons appraise most of their environment as source of threat.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (.R) is true.

1 DU (A) T BRT (R) B 9y T MY fRA T He BT W@ B &Y IO IR
ERIEINE

DU (A) 1 o8l 9rN gfafsbar sf-oft oid g g @ fore kg 2T 2

HRUI(R) : HB Al ek & QT B w7 0 qaigRor A 3 sraa e §

(1) (A) Tg (R) T 9T ® TT (R), (A) BT FE WEIHT &

(2) (A) Td (R) ST W & A6 (R), (A) &1 e woiaeor 78t 8

(3) (A) | & ofd9 (R) avred @

(4) (A) 39 & dAfdT (R) 9T
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97. Which of the theories are representative of mechanistic metaphor of motivation ?

98.

99.

(a) Psychoanalysis (b) Drive Reduction
(c) Sociobiological (d) Expectancy value
(1) (a) and (b) only (2) (b) and (c) only
(3) (a) and (c) only . (4) (b)and (d) only
BT Rigrd JfRen & a=ard) wua &1 ufafae g ?

(a) wAITCIN® (b) W& airaRor

(c) |aTsT ifdes (d) vmen g1

(1) @act (a) T4 (b) (2) @ae (b) Td ()
(3) @del (a)Td(c) . (4) @ae (b) Td (d)

Which of the following is final destination for most of brains's informations about

.+ emotion before action is taken ?

(1) Hypothalamus (2) Thalamus

(3) Hippocampus (4) Prefrontal Cortex

e & 4 o9 o a9 & qd WA @ 9R ¥ uRaw & ai¥ieiy gar @ B sifan wae
g

(1) ergUISer ™ (2) e

(3) fewareaw (4) fiheal BT

Chronic stress can :

(a) Interfere with memory

(b) Increase or decrease appetites

(c) Diminish sexual desire and performance

(d) Enhances immune activity

(1) (a) and (b) only (2) (b)and (c) only

(3) (a), (b) and (c) only (4) (b), (c) and (d) only
R qamE 81 Waar © ¢ :

() EfY ¥ TE () @ ¥ gfy a1 B

(c) I ST U9 weela # &9 (d) uferen frarman # gfg
(1) @det (a) Td (b) (2) @ae (b) T (o)

(3) Ba (a), (b) T () (4) @ae (b), (c) Ta (d)
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100. Match List-I and List-II and indicate your answer using the codes given below :

List-I List-II
(Concepts) (Description)
(a) Instinct (i) External characteristics which attract
(b) Incentive (i) Naturally purposive
(c) Drive (iii) Psychological preparedness
(d) Hedonic state - (iv) Tendency to seek pleasure
Codes :
(1) a-i, b-ii, c-iii, d-iv "(2) a-iii, b-iv, c-i, d-ii
(3) a-ii, b-i, c-iii, d-iv (4) a-iv, biii, c-ii, d-i
Al BT EFL A AT ST den M R T ge BT TET A g I SRR
gdrgy -
-1 A1
(ererRom) (ao=)
(a) g (i) = R S e BRar ®
(b) WrcATET (ii) @IS T ¥ ILTIURSD
(¢) W (iii) FATIEIS AR
(d) gEarel rgern (iv) 31T qerer o1 wgfy
He :
(1) a-i, bii, c-iid, d-iv (2) a-iii, b-iv, ¢, d-ii
(3) a-ii, b, c-iii, d-iv (4) a-iv, b-iii, c-ii, d-i
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1. Which of the following statements are not true ?
(a) Deep processing involves elaborate rehearsal
(b) Autonomic processing is unconscious encoding of information

(c) Interference results when new information does not enter STM and pushes out
old information

(d) Declarative memory involves memories for skills, habits and things learned
through classical conditioning

Codes :
(1) (a) and (b) only (2) (b)and (c) only
(3) (c) and (d) only (4) (a) and (d) only

= # | BT B e e P

(a) TER WRIRRAT ¥ RRagd yahar e §

(b) Yaarferd ARIRIT QaaT &1 Jraas de a1l & |

(c) EXTEN BT & o1 T I QEAIUH ¥ ydw AL FRAT § q R GaT B Fereran

g |

(d) Swones Wi § Falied sgaed @ gRT W T SR, onedl ud At @
wfer e & |

(1) @ae (a) Td (b) (2) @ae (b) T (c)

(3) ®a (c) T4 (d) (4) @ael (a) Td (d)

2. The process of encoding information from STM to LTM is most efficient when :

(a) It has procedural manner (b) Itinvolves associations

(c) Hippocampus is not damaged (d) It uses repetition

Codes :

(1) (a) and (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) (a)and (d) only

THEH W VeEIUd T o & He 9 B Ul qa)y a1 sries 8 & o
(a) = uftharcqs a9 BT &

(b) s Hao e gar @

(c) Rugrbrry efora =8 8iar &

(d) I8 gRIGRY &1 JAnT HRaT B

aci‘? :
(1) &g (a) T (b) (2) @ae (b) T (c)
(3) @act (c) Ud (d) (4) &9 (a) Ta (d)
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3. Method of Loci includes which of the following three steps ?

(1) Create visual places, memorise these places, create vivid imagery.

(2) Create vivid associations, memorise visual sequences, put associations into

places.

(3) Memorise visual sequences of places, create vivid associations, put associations

into selected places.

(4) Memorise selected places, create vivid imagery, memorise vivid imagery.

RN @ yomel H e H | @19 A9 SR e § 7
(1) ST XA B I, 37 RAF B ATE B, Foiid Gid F9g @l a7 |

(2) WSl WA g9, ST HHI B ATE BRI, FAGT A1 H FIIoT I |

(3) AT B I AP B ARG HIAT, Fold FA B g1, FACKT e F FASH

T |

(4) TufIT el B Arg HeA1, Fohd g g 99, Aeig iR B arg HRAT |

4. Match List-I and List-II and indicate your answer using the codes given below :

List-I
(Concept)
(a) Anterograde Amnesia

(b) Retrograde Amnesia

(c) Proactive Interference

(d) Method of Loci

(1) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-iv, c-i, d-ii

List-II
(Description)

(i) Inability to make new memories
after head trauma

(ii) Inability to recall events preceding
head trauma

(iii) Old information blocks or disrupts
the remembering of related new
information

(iv) Creation of wvisual association
between already memorized places
and new items to be memorized

(2) a-ii, b-i, c-iv, d-iii

(4) a-iv, b-iii, c-ii, d-i
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AL BT AR ¥ gAfera SR dem S Ry T @ @1 wANT SR §Y T IR GTEY

-1 G-I
(Sraero) (qof=)
(a) TRRRS wfaar (i) RR ® =@e & a5 70 |t =
CARSRER NI
(b) yzETH wferei (ii) RR R @e & ygel gl o1 g
B Y AT
(c) utfied ey (iii) R T Fafd 7E gae @ ag
B PI IAFAT AT I BRAT B
(d) &R Y gomeh (iv) arg fF) S T T 7R W U
¥ U R T et & 9 gw
Ao @ fAEtor
(1) a-i, b-ii, c-iii, d-iv ' (2) a-ii, b, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

9. Following two sentences
i) Yesterday I goes to the tuition class and

i) Surprised on seeing a woman driving tractor in the field first time, best explain.

(

(

(1) Overgeneralization : Overregularization

(2) Overregularisation : Representative Heuristic
(

3) Representative Heuristic : Overgeneralization

(4) Representative Heuristic : Overregularization

31 It

(i) & 7 TIIHT FoT AT UG

(ii) ugell IR Wa # gaex Tkl AR &1 IWex snviEfea & AT, FaH IsSERoT
aﬁﬂq :

(1) M= : et wa: oy

(2) afd PR - iAo

(3) ufaflera @ o sfy Mg

(4) il ma: o st
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6. ........believes that there is an inborn tendency to absorb language; and ...... .. believes
that there is language acquisition device (LAD) in children.
(1) Chomsky : Whorf ' (2) Whorf : Chomsky
(3) Chomsky : Chomsky (4) Kahneman : Saffron
........... faeqry @eem 8 fb AT BT MEHHIG B B Feol YgRI Bl € el
e B % @l # 91T oot SuBRvT (TeIgs)) e §
(1) df=n! : a9 (2) A : ARDI
(3) AT : ARD! (4) HTETH : AHIA

7. Which of the following statements best describe an example of "Availability
Heuristic" ?

(1) After speaking before 100 persons, one is not afraid of public speaking

(2) A woman thinks that all the males are eventually cheaters

(3) One complains about his job after having a bad day and overlooks the fact that he
really enjoys his job

(4) one claims that when he confronts with a problem, he likes to produce one correct
solution

fore § ¥ P9—11 $YF “Iueld Y& I BT HaTH IETENT §
(1) 100 i & A diem @ diq HIg Afad wderfe w9 H dle J Sl e 8
(2) #fgen |l § 5 Wi Yoy sidd: drRaarsT 81§

3) B¢ @k ve e W™ BN & 9% U W & IR H RHTI BRAl & AT T B
I BT & b 98 qRag ¥ U B BT e ISl B

(4)%@%%%%%%@%%@%%3%@@%?
TR BRAT a@Edl &

8. Which of the following sequence describes the language development appropriately ?
(1) Babbling, one word phrase, two word.combination, sentence
(2) One word phrase, babbling, two word combination, senfence )
(3) Babbling, one word phrase, sentence, two sentence combination
(4) One word phrase, two word phrase, babbling, sentence
o=t # JY BIF—aT BH 9T fIerT B wad ae 9 afia sRar g ?
(1) AT, U W e, &1 e [ASH, qray
(2) Th T AT, A, ]I ¥e& A, 1

(3) AT, T Wk Y, IR, [ ATad HATST

(4) TS T G, QI e I, Jadl, arad
M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(C)



9.

10.

Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Some person's speeches are hesistant, effortful, and simple.

Reason (R) : Damage to Wernicke's area typically produces difficulties in language
production.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is irue _

71 B (A) T BRY (R) &1 9fey dorr - A T g &1 U9 SR §Y 10T SR
ERIRE

S (A) - G Afdal @) arof, Rafeaeagds wsm vd a8t 2

HRU(R): RS & &5 o &l ggfa # fred st a1 ovar 2

@C

(3}

(1) (A) Td (R) T 9 & Td (R), (A) &T A&l WCIHIT §
(2) (A) 78 (R) <F1 9g & afda (R), (A) & T8 W T8l &
(3) (A) I & afdT (R) g &
(4) (A) 39 ¢ dfda (R) 9T &
Match List-I and List-II and indicate your answer using the codes given below :
List-I List-II
(Concepts) (Description)

(a) Problem Isomorphs (i) Set of problems having same underlying structures
and solutions but different specific details.

(b) Belief-bias Effect (ii) Judgements are made based on prior general
knowledge rather than on the rules of logic.

(c) Conjunction Fallacy  (iii) Erroneous judgement that the probability of
conjunction of two events is greater than the
probability of either events occurring alone

(d) Conjunction Rule (iv) Probability of a conjunction cf two events can not be
larger than the probability of either its constituent
events.

Codes :

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-iv, c¢-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(C) P.T.O.
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FA-1 B FE-L | gAfera B der A A T B B TN e §U AU IR

CRIFE
-1 AI-11
(srqrerm=om) (@)
(a) w1 AHTGRT (i) Uo B SERY WREA] AT AT Tl GHRARH @l

T ofeq =-frsr fafifese faezon
(b) faferer-gerarayger gwra (i) Fofg el /a8 @ Iom 9d wmM S W SmERa

fopar < 2
(c) ware wifwa (iit) gyt ol & Q1 gearl & dOeT @ F9E
THAE BF a9 A e "edr & Guraar o g0
BT ©
(d) s | (iv) T TRl @ WANH @ F9aET 39 Och gTHIsN
H 3 f5fl tp @ WA B e FST A8l 8 Adhal
g
Re
(1) ‘asi, beii, e, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

11. Arrange in séquence the last five factors of persohality indexed in Cattell's High
School personality questionnaire (HSPQ) :

(1) LJ,O,Q5Q (2) J,0,Q, Q5 Qq

3) O, Q1 Qy Qs Q4 (4) O,P,Qy, Qy Qs
%ﬁ%q&ﬁwwﬁﬁamwﬁmﬁwwtﬁaﬁﬁwwwlaﬁwa
FrafRerd B

1) LJ,O,Q;5Q @ 1,0, Qy Qs Q4

3) O,Q1 Qy Qs Q 4) O,P, Q1 Qy Qs

12. Which of the following categories of responses are objectively scored in Rotter
Incomplete Sentences Blank ? (a) Omission; (b) Conflict Response, (c) Positive
Response; (d) Anxiety.

Codes :
(1) a,band conly (2) b,cand d only
(3) a,cand d only (4) a,b,cand d

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C)
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ﬁ%maﬁﬁmﬁﬁaﬁw%ﬁaﬁumﬁﬁﬁaﬁ%ﬁvﬁmm%?(a)?hu(b)w'm?
gfshan (c) warTes afafrar (d) R

g
(1) a,b Wd ¢ 75 (2) b,c Ta d #H
(3) a,cTd d 71 (4) a,b,c Td d

13. Match List-I and List-II and indicate your answer using the codes given below :

List-I List-II
(Concepts) (Description)
(a) Oral character (i) Over indulgence in‘infancy
(b) Anal character (ii) Difficulties during toilet training

(c) Phalic character (i) Inadequate Resolution of Oedipus complex

(d) Genital character (iv) Sexual maturity

Codes :
(1) a-i, b-ii, c-ii, d-iv =~ (2) a-ii, b-i, c-iv, d-iii
3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
AL A g B gl AR den M RA W e BT W 3R gU s SeR
qA13q
- A-I1
(SrgErRom) @)
(a) T fagrwar (i) ey H e arRfd
(b) a7 weeh fawar (ii) o= & IRE § T
(c) <iffrep fagrger (iif) SMIRY BT SuFE ST
(d) S faerar (iv) S afRueaar
7e :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil/Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C) P.T.O.



14. Match List-I and List-II and indicate your answer using the codes given below :
List-I List-IT
(Concepts) (Tests)
(a) Universal Index (i) Objective Analytic Test (OAT)
(b) F-K Index (ii) Minnesota Multiphasic Personality Inventory
(MMPI)
(c¢) Disclosure Index (iii) Melton Clinical Mulliaxial Inventory
(d) Suicide Constellation Index (iv) Rorschach Inkblot Test
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

-1 1 el - HIRTY qen N R T G ST T FA gY AU Sdd QY

-1 -

(TTETRO) (Treqon)

(a) ARG JaETa (i) ST RS faged gefor
(b) THo Ho YAHID (i) fAraTeT 9gQem &1 UM PR
(c) UTCH&RT YADhih (iii) P da1i=ies ag3ielra
(d) JNTHET HHE HADIh (iv) remet SHeaTe Tlefor

RC ¢

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

15. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Some personality factors such as D, ], K and P do not appear in Cattell's
16 PF.

Reason (R) : Some factors appeared only in a-data not in Q-data.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.
M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C)



C | 9
=1 &1 Fert (A) W @ dRY (R) &1 9fey e 1 A R g B I gw s
TR ddigq
DU (A) : B AT SRS S D, J, K vd P ded & 16 PF ¥ Rwrg =18 ved €1

BRI (R) : {B BRB dddl o el 7 @ ysd & 9 f6 Q srer §
7 :

(1) (A)@(R)aﬁw%aﬂv( & FE W (R) 2|

2) (A) W& (R) aH I & wrg R) (A) &1 T TR0 &I 2 |
(3) (A) ¥ ¥, afpd (R) a9y &

(4) (A)w—ra%,?rﬁm(mm%a

16. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Extroverts are sociable and impulsive individuals who like excitement.
Reason (R) : Brains of extroverts react more slowly and weakly to stimuli which cause
them to seek excitement by approaching the environment.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

=1 <H1 Fuml ®ue (A) T SR (R) &1 9fey e A Y T G &1 T oxa g
SUAT 3TN ddrgV -

B (A) : R e W Torn e afdg B § o SuoeT wig oed €|

FROT (R) SE9H B & 59 aRg a1 aRaw aide Shed aon ofe s afafar
BT & Sl IRAT TR IET W I SO B Gl I B

BT

(1) (A) wd (R) SH I & T1 (R) (A) BT &) WL 2 |

(2) (A)UE (R) eHl 1 8 S (R) (A) &1 TE Weeeor 981 8|

(3) (A) ¥ g, afht (R) 3rdfey 2

(4) (A) ™ &, aife (R) 9 &

17. Mpyelin stains and Nissl stains identify ........... and ............ respect only.
(a) Neural Pathways (b) White matter
(c) Nuclei (d) Neural cell bodies
Code :
(1) aandb only (2) cand donly
(3) aand d only (4) band d only

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C) P.T.O.
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(a) R T
() gt

7T -

(1) @ae (a) &R (b)
(3) Fa (a) 3R (d)

(2) B (c) 3R (d)
(4) B (b) IR (d)

18. Which of the following techniques can be used to study activities in a living human

brain ?

(a) Computerised Tomography
(c) Sterotaxic Procedures
Code:

(1) a,band conly

(3) a,cand donly

(b) Ablation and Lesioning
(d) IMRI

(2) b,cand d only
(4) a,b,candd

1 ¥ 9 fog ae e &1 @ Wifdd 79 akass # faream) @ R & forw faar i

HqHam & ?

(a) PP AT

(c) TRarcidas ufdhar

@c -

(1) a,b Td ¢ 917

(3) a,c @ d 5=
19. Neurons make up only about ..........

cells.

(1) 8%;92% (2) 10%; 90%
AT B |

1) 8%; 92% (2) 10%; 90%

(b) ST Td e
(d) 30 THo 3Ro A0

(2) b,c wE d A=

(4) a,b,c Ta d

(3) 15%:; 85% (4) 85%; 15%

(3) 15%; 85% (4) 85%; 15%

20. Ears of human beings hear the air molecular vibrations between about ..... :

(1) 10 to 1,000 Hertz
(3) 20 to 20,000 Hertz

(2) 15 to 2,000 Hertz
(4) 25 to 25,000 Hertz

(1) 10 & 1,000 &<
(3) 20 & 20,000 &

(2) 15 ¥ 2,000 g
(4) 25 ¥ 25,000 B

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(C)
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21.

22.

23.

11
Clinical Diagnosis is made on which of the following assessment levels ?
(a) Somatic (b) Physical (c) Emotional (d) Cognitive
Codes :
(1) a,b,and conly (2) b,candd only
(3) a,cand d only (4) a,b,candd
derfie SuER e # 9 59 qeuies wR w far o | ?
(a) ®1l¥® (b) IRIRH (c) HITTHS (d) WsiHTeHS
7T
(1) a,b TdcHHA (2) b,cVad A
(3) a,cvd d oM . (4) a,b,cq@ d

A person having frequent feeling of going above his physical body. It reflects
tendency of :

(1) Conversion Disorder (2) Hallucination
(3) Spirituality (4) Depersonalization

wﬁmﬁammvﬁﬁ?ﬁﬂﬂ?a%wmﬁmmﬁmglwﬁmﬁﬁmw%
o1 uRafdrd oxar g ?

(1) HYTaRoT T (2) wforyH
(3) amEATAEAr (4) fdda og

DSM-III was considered radically different from its predecessors because :
(a) It was a multiaxial system

(b) It deleted misnomer words from literature

(c) Itintroduced coding system

(d) It used experimental data in devising categories

Codes :
(1) a,b,and conly (2) b,cand d only
(3) a,cand donly (4) a,b,candd

<1 g9 A - 111 39 gdadi & Hofd: T |91 Al & aif ¢
() uE 3rgeeia gomed B |

(b) Wﬁwwmﬁaﬁw%—aﬁmm‘él

(c) TE PIET YOI BT ST FAT 2 |

(d) = 2Nl o g @1 fom § e Ser YT )l B |

s

@c:
(1) a,bvdca= (2) b, cwdd A=
(3) a,cVd dHH 4) a,b,cydg d

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C) P.T.O.
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24.

25.

26.

27

C
A person with schizophrenia was found to repeat whatever words the clinical to
psychologist was speaking. This behaviour can be labelled as :
(1) Neologism (2) Echolalia
(3) Echopraxia , .(4) Word-Salading

HISSBITAT aret Afda BI AW 91T 17 S A1 wed i wHIdsnie i 8T o | g9
STAER BT BT ST Ahdl ‘% ;

(1) ¥gar & w9 A (2) TRV B wI H
(3) SHMRTAT & FI H (4) v |G @ w9 H
The permissible statistical operations in ordinal scaling are :

(a) Median ' (b) Percentiies

(c) Rank correlation coefficients (d) Coefficients of contingency.
Codes :

(1) a, b, and c only (2) b,cand d only

(3) a,cand d only (4) a,b,cand d

a1 < THRAT ¥ o W W & -

(a) =feae (b) T

(c) =oft TEdey YT (d) MHRABAT BT YOl
(1) a,bUdcHA (2) b,cUd d A

(3) a,cVd d A (4) a,b,cUad

"Numerical distances on the scale indicate equal distances in the properties of the
objects being measured" is the salient feature of :

(1) Nominal Scales (2) Ordinal Scales (3) Internal Scales (4) Ratio Scales

T IR Sifhd g "YU T Ak B O H FHT g0 B gar & 1 e # [ e e
faerwer € ?

(1) T3 BT W@ (2) HRESD Whal  (3) IS Whed  (4) AU Wb

Non-probability sampling includes :

(a) Quota sampling (b) Purposive sampling
(c) Cluster sampling (d) Snow ball sampling
Codes :

(1) a, b, and conly " (2) b,cand d only

(3) a,cand d only (4) a,b,candd

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(C)
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(a) orer ufoems (b) SeTUWS gfag=
(c) \9E ufcraas (d) =1 gret gfo=a=
7e:

(1) a,bvdcam (2) b, cTdd A=

(3) a,cyad A= (4) a,b,cudad

28. Which of the following coefficients of correlation indicates the weakest relationship
between two variables ? '

(1) 50 @) -27 3) .07 (4) -1.00
1 o & wEddy $7 S| Oe & TR B dh Ae FAGN ey §, dargy
(1) 50 ) -27 3) .07 C4) -1.00

29. Given four problems were solved by 15%, 35%, 55%, and 75% persons of a group.
Compare the difficulty of problems (1) and (2) in terms the differences in their
z-values :

(1) 541 ) 511 (3) .651 (4) 548

e M TR g B TE B 15%, 55%, UG 75% @Al gR1 g fbar war or| g
z-A H 3R & JPAR ARAT (1) W& (2) & Hfoargat &) o HIfr -

(1) 541 (2) 511 (3) 651 (4) .548
30. In multigroup design, the two most common statistics applied are :

(a) Analysis of variance (b) Logistic Regression

(c) Duncan Range Test (d) Discriminant Function Analysis

Codes :

(1) (a) & (b) only (2) (b) and (c) only

(3) (a)and (c) only (4) (c) and (d) only

"edgy fESrega # Q1 Wew a1 AmRT yge AREay §

(a) URIROT @7 fagersor ‘ (b) «ifoRes Riem

(c) SHT ST Teeqor (d) & W faweror

(1) (a) @ (b) AT (2) (b)TE (c) AT

(3) (a) ¥d (c) A4 (4) (o) W@ (d) ==

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C) P.T.O.
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31. Match List-I with List-II and indicate your answer using the codes given below :
List-I List-1I
(a) Transitivity (i) Development from head to toe

(b) Cephalo Caudal (ii) Ability to recognize logical relations

(c) Phylogenetic (iii) Related to race
(d) Ontogenei‘ic. (iv) Related to individual
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
A - 1 @ g - 1| gaford iR qen e R 1 g &1 9arT SR gy A9l SIR
qgdrgy -
AL TA-11
(a) SAspiiAmar () RR ¥ R g fae™
(b) ¥N¥g=ea (i) arfds ddet @ gEaEs @ gEgar
(c) fa aifRre (iii) gorfa & w&fda
(d) afd amgaife (iv) =afdr & defea
@C
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

32. Read each of the following two statements — Assertlon (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Insecure attachments are formed by the ongoing interactions between
infant and caregivers.

Reason (R) : Interaction between child and careglvers interferes in the formation of
internal working models.

Codes : _

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.
M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C)
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ﬁma‘raseﬁrasm(A)Qﬁw(R)ﬁt@qaw?ﬁaﬁﬁnﬁa@emmmﬁg

YT 33X g8V |

FAT (A) @ IRGAT Afe Tedl dor IWNW B el B G 9N URERE AT gRI

9T B |

BRUT (R) : e T IERE B dlell B 4 IREWRE Ghar m<afe a1 o @ dred §
T BT © |

e -

o

(1) (A) W& (R) qHl 9g & @21 (R), (A) BT &) WL & |

(2) (A)Td (R) Tl 9g & afdT (R), (A) &7 98 Wy 98 2|
(3) (A) ¥ g «fds (R) 319 2 |

4) (A) 3 g Afda (R) 9 2 |

33. Match List-I with List-Il and indicate your answer using the codes given below :

List-I List-II
(Concept) (Description)
(a) Organizational Citizenship (i) Discretionary behaviour of employees
Behaviour . that promotes the effective functioning of
an organisation
(b) Work place incivility (ii) Voluntary violation of organizational
norms
- (c) Ethical Dilemmas (iii) Situations in which individuals are to
define the right and wrong conduct
(d) Turnover (iv) Voluntary and involuntary permanent
withdrawal from an organisation
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, ¢-i, d-ii © (4) a-iv, b-iii, c-ii, d-i
A - 1B - 11 gafea R qen Y R TR wE @1 wanT @R gY a1 IR
EGIEL

-1 A-11
(a) HTSATHG ARG @geR (i) SHAIRG! &7 ™= 2[R <1 6Teq &

JHIERITCl SIS BT Uiedifed &Rar @ |
(b) TR afdrear (i) eI PgHl &1 Wited Iooad
(c) Afew gfaen (iil) T Refay R aafaaal o w8 v 1o
TR BT GRAMAT BRAT e 2 |
(d) =it aRadH | (iv) 9TeT & Wited Td ardftos @il Rer)
@e
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, ¢-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C) P.T.O.
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34.

35.

36.

C

"Employees who identify opportunities, show initiative, take action, and persevere
until meaningful change occurs" can be described as :

(1) Having Machiavellian Personality ~(2) Having Narcissistic Personality

(3) Having Type-A personality (4) Having Proactive Personality

AT W AR URAd ¥, UEd R €, Bl a% € 91 §¢ Ved § 9 O
g aF iE geard el AT 8, BT Bl S qebell ©

(1) gcfamgel afiaa @ et & ®Y (2) ST wfdkred Y@ arel & w4 H

(3) TITU-A @fiad W@ g @ wd A (4) INfieT @fiad wEd 9 @ w9 A

"Employees who dislike work, responsibility, and are lazy must be correct to
perform" is the assumption of :

(1) Theory X of motivation (2) Theory Y of motivation
(3) ERG theory of motivation (4) Two factor theory of motivation

HEEIRTOT S BT, TR BT AUEE @R & qoT e Bl &, @1 wxa & fay faaw
T <A =fev | oo

(1) sfRem BT X Rigr (2) afsRen &1 Y g

(3) fpRem &1 $ R S Rrgr (4) AR T 7T HRb Rigr

Read each of the following two statements — Assertion (A) and Reason (R) and
indicate your answer using the codes given below :

Assertion (A) : Some systematic biases and errors occur during decision making.

Reason (R) : Decision makers engage in bounded rationality.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

fr &1 Rl o (A) T SR (R) @ ufey o Y fRA T ge @1 YA oxd gl
U7 SR §ATSY |

FUT (A) : §B ARG e vd Ffe Fofa o wHa & 7
&7 (R) : Frofg a1 aret wiifad wffever 9 @ g € |

Be

1) (A) T (R) QF A § Td (R), (A) FT FE WG F |

2) (A)TE (R) SHT A € T (R), (A) BT FE LA T8 8 |
3) (A)we & afhT (R) 39 € |

(4) (A) 3™ ® dfeT (R) 9 2|
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37. Match List-I with List-II and indicate your answer using the codes given below :

List-I List-II
(Authkor) (Concept)
(a) Asch (i) Group conformity
(b) Z_imbarao (i) Mock Prison
(c) Milgram (iii) Obedience
(d) Damion ‘ (iv) Compliance
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

17

- LD g - 1 gafera Sy dem i fRA T g @1 uET eRa §Y S99

CRIELE
-1 -1
(e@®) (ararem=om)

(a) 3p (i) g JIgHUdr

(b) foraret (ii) @l HRETR

(c) Meum : (iii) SFTSTHTRET

(d) sSfas (iv) SrguTAs
Be
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-1, d-ii (4) a-iv, b-iii, c-ii, d-i

38. Self-serving bias refers to explaining the successes by attributing them to ......... and
failures to .......... 2
(1) Personal dispositions ; Situations
(2) Situations ; Personal dispositions
(3) Intrinsic Motivation ; Personal Situations
(4) Extrinsic Motivation ; Situations
TCERTAT Y&TIT AHATT DT .o, # 378 YUIRIfUT BRP T ..o, & fwerr a1
UIRIUG B B T B T HEOT 2 |
(1) =l egh : Raftet (2) Refedt - afeaa w=gRy
(3) Ir=iRe RN« aAfdda =Ry (4) 9rer R - Refdt
M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C) P.T.O.
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39.

40.

41.

42.

Kennedy's Bay of Pigs failure was mainly caused by :

(1) Group cohesion (2) Responsibility Diffusion
(3) Group think (4) De-individuation

BAS BT 9-3Mh-fT faerar graear gl §

(1) a9E arEad grl (2) StReEI¥E ORI R

(3) 9 far grr (4) WR-aafdmad gr

A person who agrees to a small request initially is more likely to comply with a larger
demand later. It is an example of :

(1) Door-in-Face Effect (2) Foot-in-Door Effect

(3) Door-in-Foot Effect (4) Face-in-Door Effect

AfdT O AR F BI W SR W AEAd BT B, $HN a1g ¥ a9 AT Bl urer Y Bl
fAE FATEAT Y& § UE SEER E

(1) SR-Z7-%4 §4d (2) HE-gH-SR YHId

(3) SR-ZA-HE g9E (4) BE-ZF-ER U

First experiment on 'span of attention' was conducted by ......... B8 wesrennnng ‘
(1) Jevons: Jastrow (2) Jastrow :Jevons

(3) Jevons : Himself (4) Hessey : His wife

7 RRAR W T8 TR ..ol T T fasar T o |

(1) ST @ Sl (2) SIwgT : A

(3) wiar : &4 (4) B : IO g

A change in the level of light energy results into the alteration in the comparative
sensitivity of retina is known as :

(1) Punkerji Effect (2) Flicker Fusion

(3) Retinal Disparity (4) Double Image

THTel Soil @ wR F gRad @ qRomRawy AT B gerTord Hageiierar # uRad= g
2, oy o i g

(1) grhesll g9/ & w9 H (2) e e @& w4 |

(3) Xfear wad fausar w (4) <N fafd

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C)
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43. Match List-I with List-II and indicate your answer using the codes given below :
List-I List-1I
(Concept) (Author)
(a) Sensory Register (i) Sperling
(b) Span of Attention (ii) Jevons
() Retinex Theory (iii) Edwin Land
(d) Cochlear Mechanism  (iv) Yon Bekesy
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iv, c-i, d-iii
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i
A B GE-I A gafera @iy den R RA T g &1 WA HRA Y IMUAT ITR
CRIEIGE
-1 : -1
(sraemeom) (o)
(a) I MR (i) wafet
(b) &I faRaR (ii) e
(c) e Rigr (iii) Tsfas <ivs
(d) PrEIIAR YOIl (iv) 99 d&H<r
(1) a-i, b-i, c-iii, d-iv (2) a-ii, b-iv, c-i, d-iii
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i

44. Phenomenology is best defined as :
(1) study of thinking and memory
(2) study of natural and unanalysed perception
(3) study of language and its development
(4) study of process of consistent patterns and organised sets
TeHT fhar fasm wdim afenfia &
(1) TR 9 ¥R ofdd & orgds & w9 A
(2) w@mifde gd AR fAvetlda 9 & sragd & wu A
(3) ST TN §UD fAdrd & R B WY H
(4) gETa Ued Ud WIed I @ Ulthar & Iugd & Wy A

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C) P.T.O.
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45.

46.

47.

A gymnast mainly relies on :

(a) Kinesthetic sense (b) Vestibular sense
(c) Haptic sense (d) Cutaneous sense
(1) (a)and (b) only (2) (b) and (c) only
(3) (c) and (d) only (4) (a), (b), () and (d)
T I WRNT BT 2 .

(a) FETACE HIET W (b) wemofig Hdaed W
(c) Bufed Hagd W (d) @da dagT W
(1) @9 (a) 3R (b) ' (2) @ae (b) R (c)
(3) @ael (c) 3R (d) (4) (a), (b), (0) ¥R (d)

Which of the following statements best defines the "Gate Control" theory of pain ?
(1) Painimpulses are sent to receptor sites in vital organs

(2) Non-painful nerve impulses compete with pain-impulses to reach the brain
creating a neural blockage

(3) Pain is simply a psychological state not physiological one

(4) perception of pain depends on one's physical make-up

ey F ¥ PI—T BT <8 B e dele” g b warad gRaiT SR @
(1) €€ AT SIS T H TS U] ST 9ol Sl @

(2) ﬁ?ﬁé‘gﬂﬁaﬁmﬁ%ﬁamﬁamﬁmﬁqﬁﬁﬁﬁwu@%%ﬂﬁmﬁ
PIRESTIG G I

(3) ©< Ryw AAETG oravern & 7 b TRIRS sraven
(4) €€ &1 9 G & RS gae ) Rk 2

The study on Zulu tribes of Africa revealed that zulu individuals would be less
susceptible to .......... .

(1) Figure ground phenomenon (2) Zollner illusion
(3) Ponzo Hlusion (4) Muller-Lyer Illusion

SWTHA B Sfe] SISIOAl TR SEIT W AN Bl § (6 Sef @i . & ey H HH
siferdaeTeiier 8|

(1) =mqfer 4 we (2) SR iRy
(3) uist wifer (4) JR-oTAR Hifel

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C)
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48. Read the following statements Assertion (A) and Reason (R) and indicate your
answer using codes given below :
Assertion (A) : Usually deaf persons do not have motion sickness.
Reason (R) : Vestibular mechanism significantly mediates in perception of motion.
Codes : :
(1) Both (A) & (R) are true and (R) is the correct explanation of (A)
(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false
(4) (A)is false, but (R) is true

71 B (A) e BRUT (R) &1 ufey dom A RA T g &7 yanT @R g ST SaR”
CRIEINE

DU (A) : AHFITIT 988 Afdadl # 37 gy amy =& 8l 2

BRI (R) : FETONY YOTTell Fa@qd ©9 W Fdad & a § HegRey &l & |

(1) (A) W@ (R) aFI. 9 & T4 (R), (A) BT F& WLIHIT 2

(2) (A) v@ (R) SFI 97 & afdd (R), (A) &7 & WqLTHROT 81 &

(3) (A) I & b (R) 39 8

(4) (A) T § AfdpT (R) T &

49. Feeling touchy or hypersensitive following an upsetting experience is a form of :

(1) Imprinting (2) Habituation

(3) Sensitization (4) Reflexive Behaviour

Teh WRYI 39 & a8 Iqefqul ar rfoideTeiier Hexy Rl U WU &
(1) = < ) I

(3) GUTETHRUI " (4) FoTaras GaER

90. Premack principle is :

(1) A primary reinforcer is thought of being related to an organism's survival

(2) A secondary reinforcer is the stimulus that acquires reinforcing value because of
paring with primary reinforcers

(3) All responses can be potentiated reinforcers

(4) More frequently accusing activity can not be used to reinforce the activity that
occurs less often

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(C) L L 3
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e Rgra 8
(1) vrfie ReerR e & Srelifdar & wafta far @
2) fdr ReprR 94U & o gufie RgHRR & T & SR YaeieRol §od B I

YT 2 |
(3) & ufafhart Rg=pRiT &1 wfdd T o Adhal 2

(4) P IRIR B q RFATEATT BT RFaTEed S BH aguT BT B, BT Jaendpd o
@ forg garT fosar < e § |

51. Match List-I and List-II and indicate your answer using the codes given below :
List-I List-II
(Concepts) (Description)

(a) Holophrase (i) One word sentence
(b) Framing (ii) The way an issue is stated

(c) Prototype (iii) Mental image based on average characteristics of an object

(d) Algorithm (iv) Convergent thinking

Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
A1 B G-I Ao AR qen R RA T g B FET SN g AU IR
w : ' i
A1 130
(srererT=) (avi=)
(a) TPI=! aF (i) U ¥R 9
(b) AEE (i) b R a1 &1 FET W B

(c) &fE gy (iii) T B oNa fadwer ok amenRa wHRYSs ufdfded
(d) TermiRem (iv) frary A

e
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(C)
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52. Which of the following are not the examples of problem solving ?

53.

54.

(a) Functional Fixedness (b) Functional obscurity
(c) Subgoals _ (d) Brain storming
Codes :

(1) (a)and (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) (a) and (d) only
Ry QP AT AERI T SETERY 8§ :

(2) vt fAf¥edd (b) TdTTcHD HoATE

23

(c) Su-oed (d) wRe=p SATICH

(1) dae (a) T (b) (2) @ae (b) T (c)

(3) @aet () Ta (d) (4) ®ae (a) T (d)

Which of the following have been explained in Psychoanalytic theory of motivation ?
(a) Homeostasis  (b) Drives (c) Hedonism (d) Incentives
Codes :

(1) (a) and (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) (a)and (c) only

Pt 3 @ R SmROT & SRR Rigrd ¥ T far w E 7

(a) BARR (b) ATcTd (c) gIa& (d) drcarEd
(1). daet (a) Td (b) (2) @ae (b) T (c)

(3) @aet (c) vd (d) (4) @at (a) T ()

WRich according to Master and Johnson, is the correct sequence

response ?

(1) Desire, excitement, orgasm, resolution

(2) Excitement, plateu, orgasm, resolution

(3) Excitement, orgasm, plateu, resolution

(4) Desire, excitement, resolution, orgasm
Wmﬁwaﬁﬂwﬁﬁmgﬁmmﬁw%?
(1) 3981, Il SHIE, FHe

(2) ST, ®IE, G, FHH

(3) SIS, I, ©E, HEHA

(4) o1, Il Hhed, SIS

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(C)
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55. Read each of the following two statements — Assertion (A) and Reason (R) and indicate

56.

your answer using the codes given below :

Assertion (A) : In general persons with external attributions tend to be low on stress.
Reason (R) : Internal attributions enhance the mental health.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A). |
(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

%ﬁrasem(A)HQTW(R)@H%QHW%%@QGWWW@WW

PAT (A) TR IOIRIGY el AT Al § a9 B9 ear 2
BROT(R) : MIRD UIRIOT HRYG @ReT BT 937aT 2 |

(Y

(1) (A) T (R) <1 91 8 U4 (R), (A) &1 9& Wdrawor 2

(2) (A) T (R) <91 9 € fe (R), (A) &7 98 W 557 &
(3) (A) 9@ © oifh (R) sy 2

(4) (A) 39 2 «ifepw (R) a7 2

Read each of the following two statements — Assertior: (A) and Reason (R) ahd indicate
your answer using the codes given below :

Assertion (A) : The fight-flight response is sometimes activated for longer periods.
Reason (R) : Some persons appraise most of their environment as source of threat.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

M.Phil./Ph.D./URS-EE-Nov.-2018/ (Psychology)(SET-Y)/(C)
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ﬁﬁfzﬁeﬁ(A)ﬁmW(R)ﬁqmm%ﬁﬁ@qammmﬁgqamw
CRIFE

e (A): @ W wfifar B o wwa 9 & fg wihy g g
W(R):@Emﬁﬁ@ﬁ%aﬁﬁ@mﬁuﬁmﬁﬂﬁaﬁé&smiﬁ%l
Ep:E:

(1) (A) T& (R) 3 9 & T (R), (A) BT T8 WD &

(2) (A) U9 (R) M1 e & ©fdT (R), (A) BT TE IEIBT e B

(3) (A) T & ofFT (R) /T B

@) (A) s ® oif (R) &< 8

57. Which of the theories are representative of mechanistic metaphor of motivation ?

(a) Psychoanalysis (b) Drive Reduction
(c) Sociobiological (d) Expectancy value
(1) (a)and (b) only (2) (b) and (c) only
(3) (a)and (c) only (4) (b) and (d) only
PrH—aT R AfNReT & Iad) wus @1 w8 ?

(a) FHIITAN® _ (b) Y& BRI

(c) |t Sifde (d) gIrRN &

(1) ®aa (a) Td (b) (2) dad (b) T (c)
(3) @ae (a) T (o) (4) e (b) vd (d)

58. Which of the following is final destination for most of brains's informations about
emotion before action is taken ?

(1) Hypothalamus (2) Thalamus

(3) Hippocampus '(4) Prefrontal Cortex

Prer @ @ BT B B O T D AR A AR d Rt g b R s e
T o

(1) EEUTHA (2) Jo=d

(3) fRuidww (4) Hrpee Bicad

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(C) P.T:. 0.
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58. Chronic stress can : _
(a) Interfere with memory
(b) Increase or decrease appetites
(¢) Diminish sexual desire and performance
(d) Enhances immune activity

(1) (a)and (b) only (2) (b) and (c) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
(@) iy ¥ sy (b) T # gfg =ar &
(c) T T=T U yavla & & (d) wfrer fbarmeny # gfy
(1) B9 (a) §d (b) (2) dad (b) vd (c)
(3) Bae (a), (b) W (c) (4) ®ael (b), (c) Td (d)
60. Match List-I and List-Il and indicate your answer usin g the codes given below :
List-I - List-I1
(Concepts) (Description)
(a) Instinct (i) External characteristics which attract
(b) Incentive (ii) Naturally purposive
(c) Drive (iii) Psychological preparedness
(d) Hedonic state (iv) Tendency to seek pleasure
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-iv, c-i, d-ii .
(3) a-ii, b-i, c-iii, d-iv (4) a-iv, b-iii, c-ii, d-i
AL BT A G g AR qen M RY W wme @1 wier e gy e 9w
ERIEIE _
-1 -1
(3rarer=om) (avi=)
(a) g<ia () ared Rt BT HUIT ©
(b) WeqTEA (i) Wrfds ©U 3§ SLIgURS
(c) W& (iii) FEsfE JIR
(d) GEard} araver (iv) 31T Telrel &Y ygfhy
Re <
(1) a-i, b-ii, c-iii, d-iv ' (2) a-iii, b-iv, c-i, d-ii
(3) a-ii, b-i, c-iii, d-iv (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D/URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C)
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61. In R-type conditioning, fhe strength of conditioning is shown by :
(1) Magnitude of CR (2) Response Rate
(3) Response Duration (4) Response Latency
SR-IFR IaHe H et o e @1 fawrar Simar ¥
(1) ¥ aR & R gRI (2) wfafsar = gri
(3) ufdfrar el gr (4) wfafpan reradar grl

62. Match List-I and List-Il and indicate your answer using the codes given below :

List-I List-I1
(Concept) (Explanation)

(a) Concurrent Reinforcement schedule (i) Complex choice Behaviour
(b) Concurrent chain Reinforcement schedule (ii) Sample choice
(c) Fixed Interval Rft. schedule (iii) Post-reinforcement pause

(d) Progressive Ratio Reinforcement schedule  (iv) Reinforcer efficacy

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iii, d-iv
(3) a-iii, b-iv, c-ii, d-i (4) a-iv, b-iii, c-i, d-ii
gL 31 AT @ giferr AR qer e A ™ ge B AN HRA g UAT BTN
EGIELE
-1 -1
(srareriom) (eTer®)
(a) wwadl waefid<or gyl (i) afas Qe araEr

(b) Hadt T aeliewor e (i) L fawed
(c) FeiRa aifxw iR uw & sl (i) YTATPRONTR e
(d) wfRreier Srgord gaeliaRoT SFERgdl  (iv) TR OTahc GHTaTeTE el

(1) a-i, b-ii, c-iii, d-iv
(2) a-ii, b-i, c-iii, d-iv
(3) a-iii, b-iv, c-ii, d-i
(4) a-iv, b-iii, c-i, d-ii

M.Phil/Ph.D./JURS-EE-Nov.-2018/(Psychology) (SET-Y)/(C) P.T.O.
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63. Which is the correct sequence in terms of response rate and resistance to extinction
during learning experiment ?

(1) FR - VR — VI - FI - CRF

(2) Variable Ratio — Fixed Ratio — Variable Interval — Fixed Interval —> Concurrent
Reinforcement

(3) Variable Interval — Variable Ratio — Fixed Ratic —» Fixed Interval — Concurrent
Reinforcement

(4) Concurrent Reinforcement — Fixed Interval — Variable Interval —» Variable Ratio
— Fixed Ratio

IS WANT & <R faeo @ ufifhar &% qen uftRy @ w8 B9 wiar § 2
(1) FR - VR - VI - FI - CRF

(2) aRacl s — FeiRa sru — aRadt srver - PEiRe sraver - wHadt
JaeATHRoT

(B)WWAWWAWWAMWﬁW
IR

(4) wadt yaeliaxer — FriRa smavrer — FufRa seoa — IRadt srarme - gRad!
SHEEIN]

64. Read each of the following statements — Assertion (A) and Reason (R), and indicate
your answer using the codes given below.

Assertion (A) : In both fixed interval and fixed ratio schedules, a reinforced response
is followed by a depression in the rate of responding,.

Reason (R) : Perhaps the organism (subject) learns that responses immediately
following a reinforced response are never reinforced.

Codes :

(1) Both (A) & (R) are true, (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(C)
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Pyt o (A) T BROT (R) 1 9fey Tl A &y T de ST g K g FUT S
ERIFE |
am@):ﬁaﬁawamﬁuﬁaawaﬁﬁﬁﬁwﬁwuﬁﬁmw
STERYT afhar @ <) # orad T fhar ¥
W(R):Wﬁﬁ@ﬁ(@ﬁﬁ)ﬁ@m%%uﬁc@qﬁfﬁmwmmﬁmmﬁﬁ
Saclidpe 8l Bl € |

(1) (A) T (R) aFI W & Td (R), (A) T A& TLBRT &

2) (A)@(R)aﬁﬁw%ﬁﬁm(mm)wwm@maﬁ%

3) (A) ¥g & ©ifm (R)sricd 8

(4) (A) svreg B afrd Ry @

65. Who explained learning in terms of cell assemblies and phase sequence ?

(1) C.L.Hull (2) Dollard & Miller
(3) D.O.Hebb (4) R.C.Bolles
RrT W THEIEROT TN TROT IH B AR AR @ v far ?
(1) o Tefo &A . (2) STaTS Ud AR
(3) o Mo &9 (4) ¥TRo Ko FTellS
66. Match List-I and List-II ard indicate your answer using the codes given below :
List-I : List-1I
(Concepts) (Authors)
(a) Vicarious Trial & Error (i) Skinner
(b) Hypothetico Deduction (i1) Toleman
(c) Cumulative Recording - (iid) Hull
(d) Reciprocal Determinism (iv) Bandura
(1) a-i, b-ii, c-ii, d-iv (2) a-iii, b, c-iv, d-i
(3) a-ii, biii, c-i, d-iv (4) a-iv, b-iii, c-ii, d-i
ﬂgﬁ-[ﬁqﬁmﬁﬁﬂﬁaﬁmaw%ﬁﬁ@aﬁﬁmmgﬁqu
qargy
| A1 -1
(arqerom) (GECED)
(a) ufafferes aetor gorred (i) PR
(b) g T (i) ereA
(c) oY exfagfe (iii) &
(d) oraRRes fHafars (iv) T
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iii, c-i, d-iv (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology) (SET-Y)/(C) o o
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67. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :
Assertion (A) : Information can not be retrieved before it has been stored.

Reason (R) : Information processing is sequential process involving encoding,
retrieval, and storage. -

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

=1 @M (A) @ SR (R) @1 9fey dem 99 2 @ BT YA B Y 30T IR
qTsT |

BT (A) : I BT 3D Yﬁmﬁiﬁqﬁgﬁ: uTe el fhar S aedr 2|

PRUN(R) : a1 Ufhar sl ufban 8 Rt g o9, gm: wifts v Rt snfiver 8
(1) (A) vd (R) T 91 ® T4 (R), (A) &7 98 WqLIpeoy

(2) (A) U@ (R) a1 w0 & afp (R), (A) &7 98 Wy =18} 2

(3) (A) 91 & «fdq (R) ey @

(4) (A) sRT™ ® <fbs (R) g 2

68. Match List-I and List-IT and indicate your answer using the codes given below :

List-I List-II
(Concept) (Description)
(a) Episodic Memory (i) Knowledge of specific event or
personal experience
(b) Procedural Memory (ii) Things learned through classical
conditioning of which one is not
aware :
() Encoding (iii) Transfer of information from STM
to LTM
(d) Eidetic Memory | (iv) Retention of details of visual
images.
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
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@1 3 - @ g A @or R R T A @ AT FHRA gU ST WTR

ERIELS
-1 gA-11
(SrqerRvT) (avi=)
(a) SIS Ffl () W wmew @ AfdTa IFEd @
(b) wfspareia wid (il) FeNRipa IgHEeT @ gRI Wl TS
_ art Rrad ar ¥ wufdd worT w@l 8
(c) ®e & (iti) THEUH T4 QECeA H O {gIEl @
SRR
(d) g Hfd (iv) g2a ufdfem & faexoll &1 W
(1) a-i, b-ii, c-iti, d-iv (2) a-iii, b-i, c-iv, d-i
(3) a-ii, b-iv, c-i, d-i (4) a-iv, b-iii, c-ii, d-i

69. Which of the following is correct order of inputing information as per information
processing model ?

(1) Semantic encoding — elaborated retrieval — storage of information
(2) Retrieval from LTM — encoding in STM — encoding in sensory memory

(3) Encoding with senscry receptors — storage of information — retrieval on
demand

(4) Encoding in sensory raemory —» encoding in STM — Encoding in LTM
ﬁﬂﬁﬁaﬁﬂwmﬁﬁmﬁmfﬁmwéﬁmwﬁw%?
(1) anfe ae T — e g Wit — gE o1 AuE
(2) TEEITH ¥ GUR —> TAENCH # GE G —> AT BT AT AT TR GER
(3) T TR § HE A > GIAT BT VTS - AN R FEN
(4) @aﬂﬁ%ﬁﬂﬁmam@ﬁ@mamﬁ@m

7 4t IR—— plays an important role in memory storage from STM to LTM whereas —
plays role in dealing with emotional feelings associated with memories.
(1) Amygdata : Hypothalamus (2) Hippocampus : Amygdala
(3) Amygdata : Thalamus (4) Thalamus : Hippocampus
e & TEEITH G SR GUET H . HEcaqd YffT el FRal §
FAE TS AT BT A Heeqel T SET FI T
(1) TfrTeTeT ;@ ETEUIdHE (2) regHH « gfETRTET
(@) gfTerer @ 9d® (4) JqP : FTTHA
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71. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Spearman proposed the existence of specific factor (S-Factor) of
intelligence in his two factor theory of intelligence.

Reason (R) : It was observed that tetrad differences were not always equal to zero.
Codes :

(1) Both (A) & (R) are true and (R) is the correct expianation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
ﬁmfﬁu—rr(A)amw(R)aﬁq%qam%ﬁﬁ@agmmwﬁgqmw
W v

PAT (A) = WRIRAT 7 g & o 1 SuRH Rigra 9% @ RffSe s (tu-sarem)
I SRkIT B URafad e o | '

BROT(R): F& <@1 71 5 I 3} &9 [ @ 9 8T B 2

%c ¢

(1) (A) T@ (R) TF1 99 & T4 (R), (A) &7 T& LG & |

(2) (A) W@ (R) TF 9 § ofh (R), (A) &7 98 R0 78 2

(3) (A) W& ? afds (R) s &1

(4) (A) 399 & @fpT (R) 9 2|

72. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Jenson claimed that his Level-II, ability is inclusive of Cattell's gf and
gC.

Reason (R) : Measures of gf and gc loaded on separate factors in factor analytic
- studies.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
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fet B (A) @1 BROT (R) BT U ol i A T fe @1 wAT B gY AU SR
CRIEME _

o (A) : S 3 e e 5 gt WL, A § dew @ gf U ge Wi B

R (R) : SUTEH fazerd) szt # gere SUIGM W ARG gf Td ge @1 Ao |

Re -

(1) (A)@(R)ﬁw%@(R),(A)muﬁw@m%l

@) (A) T (R) < & & @fes (R), (A) &1 6 TR T8l & |

(3) (A) ¥ & s (R) 39T B |

(4) (A) 3T B fdd (R) O € |

73. Knowledge Acquisition components of Sternberg's triarchic theory of intelligence

include :
(a) Selective encoding (b) Selective combination
(c) Selective comparison (d) Selective Heuristics
(1) (a) and (b) only (2) (c) and (d) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
ofe @ el & B Rrara & s 3ol BRE W AAA &
(a) TTHAS B AT _ (b) TTATHAS HIIST
(c) TIATHD Tail (d) TS WAL
(1) @It (a) T4 (b) (2) @I () T (d)
(3) DI (a), (b) Vd () (4) daa (b), (c) W@ (d)
74. According to R.B. Cattell, real life creativity is determined first by one’s ........ and
then by ........ factors.
(1) Fluid intelligence; personality (2) Crystallised intelligence; personality
(3) Motivation; Intelligence (4) Personality; motivation
TR0 do Bee B IR ARARIG Waw veAEHar @ iR gga fsll @ ... T
TG ..o IUEE gRI fhar S 2|
(1) a1 yarE gfs; afdad ) frehaa gis; afdas
(3) STFAUROT, g% (4) ferered; AU

75. Originality in Torrance Tests of creative thinking is indexed interims of :
(1) Response given by 2% of subjects ~ (2) Response given by 5% of subjects
(3) Response given by 10% of subjects (4) Response given by 25% of subjects
R 3 e R @ e W # B fped srER qEwiied 8 7
(1) 2% =fal gr1 fear 7ar Sad (2) 5% afderdl grRy fear T SrrE
() 10% =fdal grr fear Tar SaE (4) 25% afeerdl gRT fear a7 Srar
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76.

T

78.

Torrance used the term "Creatively handicapped" for ........ .
(1) Students very high in creativity but low in academic achievement
(2) Students high in intelligence but low in creativity

(3) Students average in intelligence and creativity

(4) Students low in intelligence and creativity

R A P A e g e emers U S a1t BT uaeT fear e ?
(1) U BT S XEHGAT B a5 SOET & b A Sy A 2
2) B Ifg W e ] Afdes wmma@ar § o9 8

(8) B S gfE T YgeTddr § o @

(4) = S gfg q TEeeIdar ¥ a9 @

Projective tests particularly Inkblot tests can be used to measure.

(1) Novelty context of creativity (2) Meaning context of creativity
(3) Scientific creativity (4) Everyday creativity
gerdir werr Ry w5 W Tdpeere gher B g 7O @ g R @7 wear
(1) ¥oTHS BT T 6T (2) FATHSBAT BT JAWITT THT
(3) A=E TaTHBAr (4) TS R@ATSTRAT
Match List-I and List-II and indicate your answer usiﬁg the codes given below :
List-I List-II
(Concepts) . (Description)
(a) Successful Intelligence (i) Ability to achieve one's goal of life
| across given cultural contexts.
(b) Practical Intelligence (i) Ability to cope with problems of day-to-
day life.
(c) Creative Intelligence (iii) Ability to cope with novel situations or
problems.
(d) Mating Intelligence (iv) Ability to make appropriate
selection/preference of partners.
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
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A A A B gafer IR e A fRd 9d ae @ YANT G 8U YT ST

CLRIEIEE
-1 | -1
(3FarErom) | @i
(a) 9% Ffe (i)ﬁﬁnﬁmﬁfﬁgﬁn‘ﬁa@w&ﬁaﬂﬁaﬁaﬁ?ﬂ
gTe R P AT

(b) wmaafs Ffe (i) ASERT & Siae & RN BT AT B DY Tl
(¢) YaHG Ffe (iii) 7T Rerferdl ar RIS BT AHAT DA BT BT

(d) & Ffe (iv) AEIER & WRid 9o/ agdr S B Jrad
e -
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-ii1, c-ii, d-i

79. According to Freud following are the characteristics of an 'Instinct' ?
(a) A source in some bodily deficit
(b) An aim that focuses on gratification
(c) Animpetus that propels the person to act

(d) An object through which an instinct achieves its 2im

Codes :
(1) a,bandconly (2) b,cand d only
(3) a,cand d only (4) a,b,candd

IS & TR e weorgRy @1 fagvar @

(a) BB-BB ARG AW F B |

(b) ST W AR W B WAl &

(c) s Sit guis & forg aRe war @

(d) SEev forTd gRT afiry ST SERY Ul el 8

RC -
(1) a,b Tg ¢ A= (2) b,c Ud d HA
(3) a,c Ud d A (4) a,b,c Vg d
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80. Self actualizers can be chéiracterized as:
(a) Having more efficient perception of reality
(b) Showing greater acceptance of themselves, others, and nature

(c) Having tendency to be more centred with understanding tasks that will benefit

than
(d) Recognizing their own weaknesses but do not be so much anxious.
Codes : _
(1) a, b & c correct: d incorrect (2) b, c & d correct; a incorrect
(3) a, c & d correct; b incorrect (4) a, b & d correct; ¢ incorrect

3 fehareres @t fadyar 9ar€ o wadr §

(@) IRIMRABHAT & 31ferd R 39 Ay @ D Wy §

(b) ¥ &, 3 B TA UPT B IR ¥ aif¥im PR yagH we B w9 F

(c) fag® o S g% o 9IfAT F= & wY ABR dfgd B & ygiy v@y & w9
(d) ST I & HAGIRET Y UEATTA wifeht 3R iy Ridve 7 @

BC -
(1) -a,b Td c WeEl, d T (2) b,c @ d |, d TaAd
(3) a,c W@ d F&, b Ted (4) a,b Td & WA, ¢ ToAd

81. Campbell and Fiske developed an experimental design called "Multitrait-
Multimethod" to study :

(a) Convergent Validity (b) Discriminant Validity

(c) Concurrent Validity (d) Cross-Validity

Codes :

(1) (a) & (b) only (2) (b)and (c) only

(3) (c) and (d) only (4) (a)and (d) only |

S qAT e T ST FH B HANTHF T Aelde-neders RieRig fha |
(a) SIAFRT Jerem ' (b) ueHTaYet derar

(c) ol derer (d) = e

(1) (a) W@ (b) A= (2) (b) V@ (c) A=

(3) (o) 1@ (d) A= 4) (a)Td (d) A=
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82. Match List — I and List - 1f, and indicate the answer using codes given below :

83.

List-1 List—1I
(a) Equal-Appearing Intervals (i) Thurston

(b) Summated Ratings (ii)  Likert

(c) Cumulative scales (iii)  Guttman

(d) Equalinterval scaling (iv) Samfoud
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

qﬁlaﬁqﬁllﬁiﬁ%ﬁaﬁﬁma&ﬂ%%ﬁ@m@wmmﬁ@mw
gaTsy

-1 -1

@) w9+ RerE ue o ot () erded

(b) Aawfera RfeT (i) fowe

() Y W (iii) A

(d) T RIS bfelT (iv) AIHISS
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

In a 3 x 3 factorial design with A and B as two factors, the sum of squares for A is 24
and sum of square for B is 32. The mean square for error is 7. What would be the F-
ratio associated with the main effect of A and B respectively ?

(1) 1.71and 2.28 (2) 1.56 for both
(3) 12 and 16 (4) 8 and 10.66

QU @S B wY H A U B & W9l 3 x 3 AN RETg A ¥ & BT AT 24 B qA
Begaf sram 32 1 FFreg A o 7 21 HAW A I B & o gRem A e F-
T T B P

(1) 1.71 7@ 2.28 (2) = & fow 1.56

(3) 1274 16 (4) 81d 10.66
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34.

85.

86.

C

Out of the following four factor rotation methods, which method/s is (are) used for
second order factor analysis (orthogonal) ?

(a) Varimax Rotation (b) Quastimax Rotation
(¢) Obtemin Rotation (d) Promax Rotation
(1) (a)and (b) only (2) (b) and (c) only

(3) (c¢)and (d) only (4) (a)and (d) only

ﬁmmwmwmﬁﬁmmmm‘m%ﬁawwﬁmﬁﬁm
(er7a aivli) &q fear wmar 8

(a) TOHFRA wHIGCH (b) FREHFR HHTATH
(c) AT HHEd (d) 9T HHTEEH

(1) (a) vd (b) AT (2) (b) Td (c; ==

(3) (c) ¥d (d) #r= | (4) (a) Vg (d) 7t

A chi-square (% 2) table consists of three (3) rows and two (2) columns. What will be

the degree of freedom (df) while calculating relationship between two nominal scale
variables ?

(1) 2 (2) 1 (3) 6 (4) 4

FERFRR (%) AR F 9 (3) ufdedi dqern <7 (2) wiow amafde 21 & 799 & <
W B g G P IAVET SR THY @A B (df) RIT ER ?

(1) 2 (2) 1 3) 6 4) 4

L

In factor analysis, two factors are considered to be orthogonal, when the angle of
separation between the two factors is :

(1) Between 0 to 75 degree

(2) 90 degree

(3) Greater than 90 degree

(4) Greater than 60 degree but less than 75 degree

IS fAgelyoT B7 Q1 [UTEvel B FEarig AM W 8, 96 @ orEve) @ A9
JFRRYT BT PIT §

(1) 0% 75l & 4=

(2) 90 f&h

(3) 90 f&ift &1 arfdrep

(4) 60 f&h 1 afds afw 75 e @ &=
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Which of the following is not a type of response bias in psychological testing ?
(1) Acquiescence bias

(2) Social Desirasirly

(3) Response set

(4) Negative Response
Wﬁﬂﬁmqﬁwﬁﬁﬂﬁﬁﬁﬁuﬁmmmmﬁ%?

(1) TR S

(2) IS A=

(3) wfafskan @e

(4) RIS gfcfshar

Arrange the following steps in sequence in Factor Analysis :
Steps :

(a) Selecting type of factor analysis i.e. cases or variance

(b) Selecting a factor method

(c) Selecting rotational method

(d) Validation of matrix

(e) Interpretation of rotated factors

Codes :

(1) a»b—o>c—>d—oe (2 a>bo>c—o>e—d
3) bs>a—>c—>d—e (4) b>a—>d—->c—oe
ey TRult Y TrRETS faverer @ HH H TN

R

(a) A B TR ¥ oRETS fATCINer & YHR BT AT
(b) TOFETS WUl B AT

(c) TOTHEH FUTell T aIT

(d) 3ME BT BRI

(e) R TOFRETS BT ARAT

(1) a>b—>c—>d—e 2) a>b—»>c—>e—d
3) bra—>c—>d—oe (4) b>a—>d—>c—oe
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89. Read each of the following two statements :

Assertion (A) and Reason (R) and indicate your answer using the codes given below.

Assertion (A) : Experimental method as compared to other methods of research is
considered more suitable for examining cause and effect relationship

Reason (R) : Secondary variance does not appear in experimental method.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

ﬁﬁaﬁ‘faa%’f:mWaA)HWW(R)ﬁU%QHW%%ﬁ@@EWWW
8Y 37U ITR 9aTgy |

PUT (A) : MF B A yonferdl ) Gorr N wArTers yoneh @7 Bl BRT wdy @) ot
B B ARG SUYTd HET ST B |

PIRYT (R) : fgiiae usmor yarmeres gomeh # wise =& 2r 2

e -

(1) (A)Ta(R) S 6 € 7d (R), (A) FT T8 Wt 2

(2) (A) T R) TH g € 2T (R), (A) T 98 Wreor 98 2

(3) (A) ¥ & afdd (R) srgg &)

(4) (A) s & ofpd (R) 9=y &

90. In which of the following scaling methods, Law of comparative Judgement is not
used while computing scale values ?

(@) Summates Ratings
(b) Equal Appearing Intervals
(c) JND Scales

(d) Paired Comparison

Codes :
(1) (a) and (b) only (2) (a) and (c) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
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ﬁwﬁﬁﬁmﬁﬁ%ﬁwﬁﬁgwﬁﬁuaﬂﬁﬂmﬂﬁaﬁmmﬁw

SuarT T8 fFar Sher ' 7

(a) afera RfET ' (b) wwF @ T darel JrRTe
(c) S T T whd . (d) gt e
FT :
(1) (a)Ta (b) == (2) (a)Qd (c} AT
3) (a), (b) ¥a (c) 71 4) (b), (c) Ta(d) AT
91. The main biological clock that controls the circadian rythms in mammals is :
(1) Suprachiasmatic Nucleus (2) Arcurate Nucleus
(3) Solitary Tract Nucleus (4) Accumbens Nucleus
Wﬁﬁma@ﬁwﬁﬁﬁaﬁmmaﬁﬁﬁ%ﬁmﬁ%aﬁ%:
(1) gonframmfes ~gfderas (2) IRTGE FFuw
(3) Wifered fae ~yfderad (4) Tagdw =ifderadd
92. Match List-I and List-II and indicate your answer using the codes given below :
List-I List-II
(Concepts) (Description)
(a) Monism (i) Brain functions as an undifferentiated whole
(b) Dualism (i) Mind and body consists of the same substance
(c) Equipotentiality (iii) Body is material and mind is non-material.
(d) Reductionism (iv) Understanding of behavioural phenomena in terms of
biological principles
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iii, c-i, d-iv
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i
@-Iaﬁqﬁ-ﬂﬁqﬁ%ﬁaﬁﬁﬂw%ﬁﬁ@q&mmmﬁ@wn%ﬂ
qaTY _ ;
i S 11
(TaErRo) @)
(a) m&d (@) wRawp wR qoidar e @ w9 3
(b) g (ii)nﬁa&ﬁawwﬁ?zﬁmwﬁaﬁ%‘

(c) wfaMgar (iii)mﬁvwei%a*wﬂﬁaﬂwﬁﬁé’f%
(d) IroaTare (iv):ﬁﬁ?ﬁﬁ@ﬁﬁa%awmﬂﬁamﬁm

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iii, c-i, d-iv
@) a-iii, b-i, c-iv, d-i (4) a-iv, b-iii, c-ii, d-i
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93. Read each of the following two statements Assertion (A) and Reason (R) and indicate
- your answer using the codes given below :
Assertion (A) : Neural Membrane is double layered.
Reason (R) : Lipid Molecules turn their tails towards each other.
Codes :
(1) Both (A) & (R) are true and (R) is the correct explanation of (A)
(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false
(4) (A)is false, but (R) is true
=1 % ¥ Wt (A) @t BROT (R) aﬁ.q%qam%ﬁﬁ@agmmﬁvmﬁgqm
SR 9130 .
HAT (A) : GBI Breeh e ughy @ B ¥
SR (R) : forfis 319] oo+ 7 @) &1 e My ¥
%< :
(1) (A) W@ (R) <1 W@ # a1 (R), (A) & I8 WL 2 |
(2) (A) T8 (R) I e &, 99°g (R), (A) BT T8 wqlaeor 98 )
(3) (A) I &, Afb (R) aqar ¥ .
(4) (A) 3R7 &, offpT (R) wg &

94. Match List-I and List-II and indicate your answer using the codes given below :

List-I List-IT
(Concepts) (Description)
(a) Night Terror (i) Disturbance in sleep-wake cycle
(b) Restless leg syndrome (i) Cramps in calf and foot muscles
(¢) Nocturnal leg cramps (iii) Sensation of legs causing movements and

loss of steep

(d) Circadian Rhythm Disorder  (iv) Extreme fear and a gitation

Codes :
(1) a-i, b-ii, c-iii, d-iv - (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii - (4) a-iv, b-ii, c-ii, d-i
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A1 T w1 B g AR e A Y 8 e B oed gy orf Wl Riwed
BT gAY
_LT-1 - A-11
(31RO (@uf=)
(a) W () faer @ # qwn

(b) s o Regm (i) Rivse ae de A § B
(c) Hraeier o B (iii)ﬁﬁaﬁﬂﬁw%zﬁmwuﬁﬁmaﬁmﬁq
(d) g g Sact M (iv) IIE A TAT HRIES

(1) a-i, b-i, c-ii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii _ (4) a-iv, b-ii1, c-ii, d-i
95. Academic achievement in primary and middle school is relatively more determined
BY ssewsimin ; and in higher education more by ......... o
(1) Intelligence ; Creativity (2) Creativity ; Intelligence
(3) Intelligence ; Personality (4) Personality ; Attributions
i dem Aeafde femer ¥ e Suafdr B ERI Sergpd Afdre T
.............. eRT Sea e # ot FeiRa feran S & |
(1) gf&; gorreTeddr Q)  goTesd ; g
3) gf&; afds 4)  efdRred ; OIRE
96. Deep learners are more regulated by
(1) Extrinsic Motivation (2) Intrinsic Motivation
(3) Approval Motivation (4) Affinitive Motivation
AreTes AiRaRaar st PRI € 2
(1) STEd SIfHURm gRI (2) RE AWMUV GIRT
(3) TG AR g (4) uffey sifduRoem grI
97. In making the children to learn any law or principle, teacher should use :
(1) Inductive Method (2) Deductive Method
(3) Analytical Method (4) Story telling
aﬁﬁﬁfﬁﬁs‘ﬁwwﬁmfﬂuﬁ%ﬁqﬁmf@wﬂaﬁmwmaﬁu?
(1) STHATED Tl ' (2) FrmeTTE Tored
(3) frzeivoTcHE JoTTel! (4) @ goid

98. Researchers, in general, have revealed that with increasing age and education level
role of intelligence in academic achievement.
(1) Increases (2) Declines
(3) Remains constant (4) In some cases increases and in some
cases decreases
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wamramﬁhaav?ﬁaﬁﬁrwﬁm%ﬁawawﬁww%aﬁ%W@J*?r&{fﬁraa

(1) e & (2) ued &
(3) Rer &l (4) BB Al # dGdl © qAT HB AWl
el §

98. Arrange the following virtues in sequences according to their emergence.
(1) Love — Fidelity —» Care — Wisdom (2) Fidelity— Love — Care — Wisdom
(3) Care — Fidelity - Love — Wisdom (4) Fidelity — Care — Wisdom — Love

=1 ot 4 5979 enfowia & o IR %9 W g3

(1) 99 — Afad — wRaw - g (2) T — 57 — RaE - gfy,
(3) URaTE — HfdT — UH — gfg (4) ¥ — wRarE - 9y - A
100. Match List-I with List-II and indicate your answer using the codes given below :
List-I List-1I
(a) Strange Situation Test (i) Obéervation Learning
(b) Visual CIliff Test (i) Morality
(c) Bodo- Doll Experiment  (iii) Attachment
(d) Henz dilemma (iv) Depth Perception
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b, c-ii, d-i :
L BT AL gAferm ST dem i RA W me @1 e wvd gu e $eR
mq i
-1 -1
(a) Tof Rafa odieror (i) Wefor ey
(b) gva IeTiTd TEToT (ii) Afyemar
(c) TSI WA (iii) St
(d) &1 gfdem (iv) ITERT GRT
(1) a-i, b-ii, c-iii, d-iv | (2) a-ii, b-, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-ii, c-ii, d-i
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1. Campbell and Fiske developed an experimental design called "Multitrait-
Multimethod" to study : '

(a) Convergent Validity

(b) Discriminant Validity
(c) Concurrent Validity

(d) Cross-Validity

Codes :

(1) (a) & (b) only (2) (b) and (c) only
(3) (c)and (d) only : (4) (a) and (d) only
%Wamﬁﬂm#wmﬁﬁ"mmmﬁ”ﬁaﬁﬁe—qﬁ%ﬁmm:
(a) AR derar

(b) HeTaTagY} derer

(c) Hal qerar

(d) s derer

7

(1) (a) T (b) Ar ' (2) (b) Td (c) 7=
(3) (o) Td (d) A=t (4) (2)Va (d) 5r=

2. Match List - I and List - IT, and indicate the answer using codes given below :
List-1 List - 1II
(@) Equal-Appearing Intervals (i) Thurston

(b) Summated Ratings (i)  Likert

(c) Cumulative scales (iii) Guttman

(d)  Equalinterval scaling (iv)  Samfoud
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
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A 1 &1 g 11 A gaferd Ivig derr < A T3 de &1 YA A gU 39T SR 9el5y

-1 -1
(@) <A+ fRwg g+ aren amRta () oRded
(b)  epferer T i) foe
(© el &b (i)  TeiE
(d) 99 IR bl (iv) d9HISS
@;8' k¢
(1) a-i, b-ii, ciii, d-iv (2) a-ii, b, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii () a-iv, b-iii, c-ii, d-i

3. Ina 3 x 3 factorial design with A and B as two factors, the sum of squares for A is 24
and sum of square for B is 32. The mean square for error is 7. What would be the F-
ratio associated with the main effect of A and B respectively ?

(1) 1.71 and 2.28 (2) 1.56 for both

(3) 12and 16 (4) 8 and 10.66

FIT A0S S FAH AT B AT 3 x 3 HAYOR ST 4 A &g & &1 AT 24 & @I
B =g @t &1 AnT 32 81 I Bg WG @ 7 B B A Ud B B yHW uRuH & wefdd F-

FUTT T BT ?

(1) 1.71 74 2.28 (2) T & fog 1.56

3) 1274 16 (4) 8T 10.66

4. Out of the following four factor rotation methods, which method/s is (are) used for
second order factor analysis (orthogonal) ?

(a) Varimax Rotation (b) Quastimax Rotation
(c) Obtemin Rotation (d) Promax RotétiOn
(1) (a) and (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) (a) and (d) only
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ﬁwwmmwﬁﬁﬁﬁwmmm%ﬁuwmﬁﬁw
(et o) ®g b sy 2

(a) RFRT AT (b) TIREHRT HHTITT
(c) AT Parad (d) YHRT PHATIT

(1) (a) vd (b) 7m0 (2) (b) Ta (c) 73

(3) (0) T (d) 7= | (4) (a) W (d) 7=

A chi-square (32) table consists of three (3) rows and two (2) columns. What will be

the degree of freedom (df) while calculating relationship between two nominal scale
variables ?

1) 2 @) 1 (3) 6 4) 4

PR (2) AR # & (3) GfRrl QT a1 (2) B s ¥ <) THEE @ @
aﬁﬁﬁaﬂﬁaaﬁmmﬁm%ﬁ%(dﬂwm?
(1) 2 2 1 3) 6 (4) 4
6. In factor analysis, two factors are considered to be orthogonal, when the angle of
separation between the two factors is :
(1) Between 0 to 75 degree
(2) 90 degree
(3) Greater than 90 degree
(4) Greater than 60 degree but less than 75 degree

W@%@ﬁwﬁﬁmﬁmﬁmﬁawwﬁwﬁm%éﬁ
GRIGHRIT BT BIT §

(1) 09 75 & & 9=

(2) 90 fEh

(3) 90 f&aht & arfdres

(4) 60 & & afdr ifper 75 Ry Q&4

7. Which of the following is not a type of response bias in psychological testing ?
(1) Acquiescence bias
(2) Social Desirasirly
(3) Response set
(4) Negative Response
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(1) vfda= sf=fy (2) e areHdr
(3) wfafshar e (4) THERIAS gfafhar

8. Arrange the following steps in sequence in Factor Analysis :
Steps :
(a) Selecting type of facter analysis i.e. cases or variance
(b) Selecting a factor method
(c) Selecting rotational method
(d) Validation of matrix
(e) Interpretation of rotated factors

Codes :

(1) a»>b—o>c—>d—e (2) a»>b—>c—o>e—>d
B) bb>a—»>c—>d—oe 4 b>a—>d—o>c—oe
e 2ol @1 oeETe faveyer & wH # gy

EELI

() ATl & TRV H OIS AV B YHR BT aUA
(b) TUHEUS YU FHT T

(c) OIS YOIl ST <

(d) 3TEE HT AEHIT

(e) HEMRIT [UFREvS & @RET

(1) a>b—>c—>d—e 2) a>b—->c—oe—>d
B) bo>a-oco>d—oe 4) boa->d—oc—e

9. Read each of the following two statements :

Assertion (A) and Reason (R) and indicate your answer using the codes given below.

Assertion (A) : Experimental method as compared to other methods of research is
considered more suitable for examining cause and effect relationship

Reason (R) : Secondary variance does not appear in experimental method.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true
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fﬁmaﬁ:ﬁiﬁaﬁf:mw(A)HWW(R)aﬁqﬁvﬁm%ﬁﬁ@@wmmﬁ
BU 3UHT IR a1V |
BIT (A) : mﬁmmﬁmﬁmmmﬁmmmaaﬁvﬁa
B 8q 1% Suged AT o ¥
PR (R) : fe<fTae wervr avmers gored ¥ wioe =8 gy &

% :

(1) (A)TE(R) Sl 9 & 79 (R), (A) BT T8 WSGR07 |

(2) (A) T (R) ST\ € Qfd (R), (A) BT 8 wiareor =% 2 |
(3) (A) ¥ 7 afbT (R) smgew ¥

4) (A) g & afvs (R)weT ¥

10. In which of the following scaling methods, Law of comparative Judgement is not
used while computing scale values ?

(@) Summates Ratings

(b) Equal Appearing Intervals
(c) JND Scales

(d) Paired Comparison

Codes :
(1) (a)and (b) only (2) (a) and (c) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
ﬁmﬁﬁﬁm@ﬁ%ﬁvwﬁﬁmﬁvﬁwﬁwmwwﬂwmﬁm
SUANT el BT e §
(a) wafer <fer (b) ¥ fewng gs At arRA
(0) T T < et () FfE g
(1) (a)Ta (b) #r= (2) (a) T (c) AT
(3) (@), (b) W& (c) AT 4) (), (c) vd (d) 5=t
11, Match List-I and List-IT and indicate your answer using the codes given below :
List-I . List-IT
(Concepts) (Description)
(a) Holophrase (i) One word sentence
(b) Framing (ii) The way an issue is stated
(c) Prototype (iii) Mental image based on average characteristics of an object
(d) Algorithm  (iv) Convergent thinking
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
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FE-1 B GA-I1 | GAferd HIfoy @ i fad T de &1 YA SRd §Y YT SR G618y

-1 -1

(erarem=om) (aof)

(a) THe A (1) TP T qId ,

(b) HAIEET (i) TrpT R 91a B PR I 7

(c) anfe U=y (iii) o7 @ of\a faRivar R amenRa AR gfdfd
(d) vermmiRerd (iv) st faa=

e : _
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

12. Which of the following are not the examples of problem solving ?
(a) Functional Fixedness (b) Functional obscurity
(c) Subgoals : (d) Brain storming
Codes :

(1) (a) and (b) only (2) (b) and (c) only

(3) (c)and (d) only (4) (a)and (d) only

e § Q BIF TR GARIT BTSSRV A8l §

(a) wapET™S Mf¥Edar (b) TFTATHE B

(c) SU-dIex (d) "Rd IUTUCH
(1) @9 (a) T4 (b) (2) ®ac (b) Td (c)

(3) Bae (c) Td (d) (4) ®a (a) 79 (d)

13. Which of the following have been explained in Psychoanalytic theory of motivation ?
(a) Homeostasis (b) Drives (c) Hedonism (d) Incentives
Codes : '

(1) (a) and (b) only (2) (b) and (c) only

(3) (c)and (d) only (4) (a) and (c) only

o= & 9 fedy Ao @ aedwelte Rigra & W far ar 8 2

(a) BRI (b) TTE (c) g@drs (d) wreATES
e :

(1) ®aet (a) T4 (b) (2) ®aat (b) T (c)

(3) ®ael () TE(d) | (4) @I (a) T (c)
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14. Which according to Master and Johnson, is the correct sequence of human sexual
response ?
(1) Desire, excitement, orgasm, resolution
(2) Excitement, plateu, orgasm, resolution
(3) Excitement, orgasm, plateu, resolution
(4) Desire, excitement, resolution, orgasm ‘
ARCR ST & AR B A1-a SR uffar o1 a8 39 & 2
(1) 281, SIS, SIE, Fhed
(2) SO @ie, ST, GHeq
(3) SIS, SHIE, WIT, Wiheq
(4) S=oT, IS, GHed, I

15. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : In general persons with external attributions tend to be low on stress.
Reason (R) : Internal attributions enhance the mental health.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

ﬁn:raw?f(A)HWW(R)aﬁvfaqam?ﬂﬁféﬁ@f@awmaﬂﬁgqmw
ERI R

YT (A) : B ORI IS A @ F g @ B R |
BRYT(R) : AT=IRG [OMRGY AR FaRed BY q87ar 2 |

Re :

(1) (A) W@ (R) <1 & & Td (R), (A) BT AL W=y 2

(2) (A) T (R) T w1 © @fhe (R), (A) &7 W8 wediewor =8 &
3) (A) ¥ © AfpT (R) s/aey

(4) (A) 39 2 &fda (R) war 2
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16. Read each of the following two statements — Assertion (A) and Reason (R) an-d indicate

your answer using the codes given below :
Assertion (A) : The fight-flight response is sometimes activated for longer periods.
Reason (R) : Some persons appraise most of their environment as source of threat.
Codes :
(1) Both (A) & (R) are true and (R) is the correct explanation of (A).
(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

=7 o (A) T FRY (R) BT 4l dor 1 & T @e &1 WA BRd gY G ST
ERIFE

zﬁsFr(A):a@wﬁﬁ%&rmﬁ-mﬁ‘ﬁawaﬁ%%mﬁﬁ%l
&R (R): BB AT WR & Fd & w9 A 97 ggfarvr § 4fdes rawd e @ |
(1) (A) Td (R) S ¥ € Td (R), (A) BT T WL IHIT B

(2) (A) T (R) Qi G & 3 (R), (A) BT & WEHRT T 2

(3) (A) ¥ & afdT (R) 3racg 8 |

4) (A) 3™ B offd (R) 9 @

17. Which of the theories are representative of mechanistic metaphor of motivation ?

(a) Psychoanalysis (b) Drive Reduction
(c) Sociobiological (d) Expectancy value
(1) (a)and (b) only (2) (b)and (c) only
(3) (a)and (c) only | (4) (b)and (d) only
B3 Rigra aftRom & a=ard) s &1 ufafe g 2

(a) FAITY® (b) IRB FEHROT

(c) ¥t Sifad (d) J<arRm g

(1) ®ae (a) T4 (b) (2) @ael (b) Td (c)
(3) @ael (a) Td (c) (4) @aat (b) vd (d)-

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D)
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18. Which of the followmg is final destination for most of brains's informations about
emotion before action is taken ?

(1) Hypothalamus (2) Thalamus

(3) Hippocampus (4) Prefrontal Cortex
ﬁmﬁﬁaﬂﬁfﬁﬁiaﬂﬁﬁuﬁﬂﬁﬂ%mﬁﬁqﬁaﬁﬁ%mwﬁﬁmaﬁmm
g

(1) e (2) e

(3) fewarra | (4) Wpeer Bicad

18. Chronic stress can :
(a) Interfere with memory
(b) Increase or decrease appetites
(c) Diminish sexual desire and performance

(d) Enhances immune activity

(1) (a) and (b) only (2) (b) and (c) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
RR®ITE T71g BT FapeT g |
(a) Sfq # &wem (b) 4@ # gfg ur &M
() I g=8T 79 e & @) (d) ufcren fbameem 4 gfy
(1) Faa (a) 7 (b) (2) @3 (b) T (c)
) DA (a), (b) T (c) (4) BT (b), (c) TE (d)
20. Match List-I and List-II and indicate your answer using the codes given below :
List-I List-II
(Concepts) (Description)
(a) Instinct (i) External characteristics which attract
(b) Incentive (ii) Naturally purposive
(c) Drive (iii) Psychological preparedness
(d) Hedonic state (iv) Tendency to seek pleasure
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-iv, c-i, d-ii
(3) a-ii, b-i, c-iii, d-iv @) aiv, b, oo, ded

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D) P.T.O.
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-1 B G-I A GAferd ST dem 1 A 1 e & R R §U AT ITR AT

-1 -1

(erqer=om) (avf=)
(a) g<id (i) I R S INET BT §
(b) AR (i) w@MR® BY | SLTIRSD
(©) > (iii) S Jard
(d) gEaTaT e (iv) 3T dqermer & ygiy
(1) a-i, b-i, c-iii, d-iv. (2) a-iii, b-iv, ¢, d-ii
(3) a-ii, b, c-iii, d-iv =~ (4) a-iv, b-iii, c-ii, d-i

21. Match List-I with List-II and indicate your answer using the codes given below :

List-I ‘ List-II
(a) Transitivity (i) Development from head to toe
(b) Cephalo Caudal (ii) Ability to recognize logical relations
(c) Phylogenetic (iii) Related to race
(d) Ontogenetic (iv) Related to individual
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, e-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
- 1 3 A - 19 gafera Sifoig deor R 33 1 §g &1 90T SR §U AT STR
qATRY
-1 11
(a) ST (i) RR ¥ R ao o™
(b) ¥y=sa (i) Tfdbd FEdl BT g B Jrgdr
(c) ifer rraifires (iii) goTTfar | <Aferd
(d) =fm oERE - (iv) EfE W el
@RC :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
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22, Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Insecure attachments are formed by the ongoing interactions between
infant and caregivers.

Reason (R) : Interaction between child and caregivers interferes in the formation of
internal working models.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

7 &1 ®uAl B (A) QaW(R)ﬁmam%ﬁﬁ@mgmmmﬁgq
3YAT ITY 9ISV | '

mW(A):W%mﬁﬁaﬁﬁawé@wﬁamﬁmﬁﬁaWW%mm

AT ® |
W(R):Hﬁﬁmé@ﬁy%ﬁﬁﬂ%éﬁ%ﬁmﬁﬁn%ﬁﬁ@ﬁﬁﬁ%ﬁ@ﬁﬁ
BRI YT B |

BE -

(1) (A)Ta (R) 34T wea € o (R), (A) T 98 WiaRor |

(2) (A)TE (R) T g & @fes (R), (A) &7 et wrsdiexor 78t 8
(3) (A) 9 & afd (R) sraar 2|

(4) (A) 39T & ofdT (R) ¥y &

23. Match List-I with List-II and indicate your answer using the codes given below :

List-I List-IT
(Concept) (Description)
(@) Organizational Citizenship (i) Discretionary behaviour of employees
Behaviour that promotes the effective functioning of
an organisation
(b) Work place incivility (ii) Voluntary violation of organizational
norms
(c) Ethical Dilemmas (iii) Situations in which individuals are to
define the right and wrong conduct
(d) Turnover (iv) Voluntary and involuntary permanent
withdrawal from an organisation
Codes :
(1) a-i, b-ii, c-ifi, d-iv (2) a-ii, b, c-iv, d-ii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
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G - 1 B g - 19 gafer S den R A T @e @1 JanT @A gy STl 8TR
ATV

-1 A1

(a) WTSATHS ANRGAT AdeR (1) PHARA & QISR @gerR S ded &
| THTEITCH HRIYOTEN BT UcAr@d. Rl ¢ |

(b) HRRA IR (ii) reare Al &1 Wites Sodud
(c) Afde gfaem ' (iil) =N Refy orad afdaadl &1 F81 wd e
JTTROT BT GRATNT HRAT BT 7 |
(d) #fae aRada (iv) GTed W Wiod U9 Srdfed )
IREARl
e :
(1) a-i, b-ii, cii, d-iv (2) a-ii, b-i, c-iv, d-ii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

24. "Employees who identify opportunities, show initiative, take action, and persevere
until meaningful change occurs" can be described as :

(1) Having Machiavellian Personality

(2) Having Narcissistic Personality

(3) Having Type-A personality

(4) Having Proactive Personality

“FHHARITOT S SaER YgaTd ©, Usd Q@i &, BRIdE &R & d1 §¢ I8d ®, A9 AP
e T i dgeld e AT 2 BT el Sl bl ©

(1) goarget afdae @ 9 & w9 |

(2) A AT TET dqr & WY A

(3) <IZY-A Afdad @ a1l & w9 H

(4) unfeeg afera v@s a0t & w9 |

25. "Employees who dislike work, responsibility, and are lazy must be correct to
perform" is the assumption of :

(1) Theory X of motivation (2) Theory Y of motivation
(3) ERG theory of motivation (4) Two factor theory of motivation

“HEERATOT S BT, TR B ANEE HRA © 9UT AR B §, Pl dx @ fow g
foran AT Afee | gwRo ®

(1) SfsRem B1 X Rgr (2) PR BT Y Rigre
(3) AfAUROM &1 § IR S g (4) RO @1 &1 BRE R
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26. Read each of the following two statements — Assertion (A) and Reason (R) and
indicate your answer using the codes given below :
Assertion (A) : Some systematic biases and errors occur during decision making.
Reason (R) : Decision makers engage in bounded rationality.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
ﬁmaﬁ&saﬁ’fzﬁ%m)ﬁmw(maﬁq%qawﬁﬁﬁﬁﬁ@a@aﬂmﬂﬂmﬁgq

SIYAT 31X 9dTgy |

BT (A) : BB AR verar vd Ffe fofy ot wag B ¥
BRY (R) : FAofa &= arer waifee geffaor § ot 2 8

$HC: ‘

(1) (A)Td(R) T b & Td (R), (A) FT AL TEHT § |

(2) (A)TE(R) S e & @2 (R), (A) BT A& IGEGR0T T8 2|
(3) (A) ¥ & aifea (R) 3/ acg 2|

(4) (A)39 8 odfdd (R) T 2|

27.  Match List-I with List-Il and indicate your answer using the codes given below :

List-I List-II
(Author) (Concept)
(@) Asch (i) Group conformity
(b) Zimbardo (ii) Mock Prison
(c) Milgram (iii) Obedience
(d) Damion (iv) Compliance
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
- Lo g - 19 g B qen W R T g B wi ke g e SRR
ESIENE ;
-1 EA-11
(erres) (3reren=om)
(a) 3D (i) e rgwudr
(b) forarsf (ii) FTHell HRIR
(c) e (iii) ArTHIRAT
(d) St (iv) srgaTer
RC ;
(1) a-i, b-ii, c-ii, d-iv (2) a-ii, b-i, e-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/ (Psychology)(SET-Y)/(D) BT O
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28.

29.

30.

31.

Self-serving bias refers to explaining the successes by attributing them to ......... and
failures to .......... :

(1) Personal dispositions ; Situations

(2) Situations ; Personal dispositions

(3) Intrinsic Motivation ; Personal Situations
(4) Extrinsic Motivation ; Situations

SITHAAT YETITT AHAAT Bl v # 3= ORI HRS T . @ fawerr a1
ORGSR BT WL A F GO © |

(1) aferra 7=gfy : Rafot 2) Refodt - afdqard w=gfRy
(3) emaRe AR : Sfdea Aghy (4) drer SrfmRon - Rerferdt

Kennedy's Bay of Pigs failure was mainly caused by :

(1) Group cohesion (2) Responsibility Diffusion
(3) Group think (4) De-individuation

B! BT 9-3MH-FT fawerar qeaaar &l & ¢

(1) g aEad grRI (2) STREIE AR &R

(3) W g faaR gRI - (4) R-afeqaT gri

A person who agrees to a small request initially is more likely to comply with a larger
demand later. It is an example of : ‘

(1) Door-in-Face Effect : (2) Foot-in-Door Effect

(3) Door-in-Foot Effect (4) Face-in-Door Effect

fe oY ARA § B W IR W WA BT 8, S 918 ¥ F1 AT Pl gAY B
3ifer HHTEa=T Y& @ U8 J&TERYl ©

(1) SR-FF-BF F9E (2) He-S9-8R W

(3) SR-37-HT U9 (4) BA-FF-SR JHTG

Which of the following statements are not true ?
(a) Deep processing involves elaborate rehearsal
(b) Autonomic processing is unconscious encoding of information

(c) Interference results when new information does not enter STM and pushes out
old information

(d) Declarative memory involves memories for skills, habits and things learned
through classical conditioning

Codes : '
(1) (a) and (b) only (2) (b) and (c) only
(3) (c) and (d) only- (4) (a) and (d) only

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D)
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1 # 9 B1—ar s T T8 & ?
(@) TEX URIRTT F fwga gahar wfer @
(b) waTferd YRIRET &= &7 ST He a9 §

(c) Wmﬁwﬁwmﬁmﬁw%‘ﬁmw AT B Hepreran
=

(d) =T WA A Fenfiee smeT @ g W T e, et v Al @
wfoat enfiet 2 |

(1) Bae (a) Td (b) (2) It (b) Td (c)
(3) Bae () 7 (d) (4) B9 (a) T (d)
The process of encoding information from STM to LTM is most efficient when :
(a) It has procedural manner (b) Itinvolves associations
- (¢) Hippocampus is not damaged (d) It uses repetition
Codes :
(1) (a) and (b) only (2) (b)and (c) only
(3) (c)and (d) only (4) (a) and (d) only

THAITH W UEH O% Yol & he M &) Uik aed o s 8 € w9 -
(a) 3o wfharers s gar §

(b) T Ao et g @

(c) FRwd=RT aftira =& gar 8

(d) ¥E YRIEGRT FHT FIT B B

(1) Bt (a) T (b) (2) @t (b) W (o)
(3) Bt (o) v () (4) Faet (a) T (d)

Method of Loci includes which of the following three steps ?
(1) Create visual places, memorise these places, create vivid imagery.

(2) Create vivid associations, memorise visual sequences, put associations into
places. -

(3) Memorise visual sequences of places, create vivid associations, put associations
into selected places.

(4) Memorise selected places, create vivid i imagery, memorise vivid i 1magery

M.Phil/Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D) P.T.O.
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ARl & gorel # e # & 9 F R e § 7
(1) 2T I BT AT, $7 WA B ATE DAL, GO Gfel g DI I |
(2) ofta WA G, SR A B ATE BRAL, TACTT YT H ST X |

(3) R B G SIHAI BN TG BRAL TG WA P G, T AT A FIT
T |

(4) FIRE M BT ATE BRAT, Fold S FHE T, Tolld GRITE DI A6 BRAT |

34. Match List-I and List-II ard indicate your answer using the codes given below :

List-I List-II
(Concept) (Description)

(a) Anterograde Amnesia (i) Inability to make new memories
after head trauma

(b) Retrograde Amnesia (ii) Inability to recall events preceding
head trauma

(¢) Proactive Interference (iii) Old information blocks or disrupts
the remembering of related new
information

(d) Method of Loci (iv) Creation of visual association

between already memorized places
and new items to be memorized

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
G-l B G-I gAferd HIfi dem Ak A T BISl BT YART dRd §U Ul ST
ERIEE
-1 -1
(eraem=om) (@vfq)
(a) TERIUE Hfelg () RR R e & g 70 |ad! a9+
BT SRFACT
(b) TEEIRY Hfaely (i) RR X dic & Ugal "Rl & I1a
P D &l
(c) unfeed swie™ (iii) RN I HERT TS GAT BT AT
B BT UHT TT dIST HRAT B
(d) SRI BT gorel | (iv) arg fd ™ 9l 79 "]l W Ugd
I I 5 T R & 9 g
AT BT i
(1) a-i, b-ii, c-ii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D)
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35.

36.

37.
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Following two sentences
(i) Yesterday I goes to the tuition class and
(i) Surprised on seeing a woman driving tractor in the field first time, best explain.
(1) Overgeneralization : Overregularization
(2) Overregularisation : Representative Heuristic
(3) Representative Heuristic : Overgeneralization
(4) Representative Heuristic : Overregularization
CURCICO |
(i) & § YT FaIRT ™I U
(ii) %ﬁmﬁﬁﬁamwﬁﬂﬁwﬁé@mmﬁ%ﬁw,ﬂﬁﬁnwﬁmw
ElIE -
(1) sfdamiaxer g @ : oy
(2) f FrEwR - afram=e
3) ufoffere v oy : afy fra=fia
(4) TR Yo i s
........ believes that there is an inborn tendency to absorb language; and
that there is language acquisition device (LAD) in children.
(1) Chomsky : Whorf (2) Whorf: Chomsky
(3) Chomsky : Chomsky ' (4) Kahneman : Saffron
........... ﬁ?wwé%%mﬁwmﬁaﬂmﬁ%@?ﬁ%amﬁmm
&1 & 5 qedl F 9 ety syawor (Tege) B ®

........ believes

(1) dr=eT : e (2) I : iRy
(3) TR : A=) (4) BENE : Ao

Which of the following statements best describe an example of "Availability

Heuristic" ?

(1) After speaking before 100 persons, one is not afraid of public speaking

(2) A woman thinks that all the males are eventually cheaters

(3) One complains about his job after having a bad day and overlooks the fact that he
really enjoys his job

(4) one claims that when e confronts with a problem, he likes to produce one correct
solution

=1 % ¥ BT U “SuaErT aa: 9 3T aRT ST 2

(1) 100,mﬁﬁaﬁzﬁw®aﬁaﬁtﬁaﬁﬁ§mﬁmmﬁamﬁaﬁaﬁﬁwﬁ%|

(2) wfeen | & 5 @i oy o vEe B &

(3) ﬁéwﬁaw%wﬁ#émaﬁm%aﬁﬁmﬁwﬁaﬁawaﬁ
STl BT € 5 98 IRGT ¥ o7 B B o ST

(4) aﬁémﬁﬂwwm%ﬁswwwwwwéwwmﬁw
R RAT ITEAT &

M.I’hil./Ph.D./URS-EE—NOV.-ZU18:"(Psychology)(SET-Y)!(D) P.T.0.
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38. Which of the following sequence describes the language development appropriately ?
(1) Babbling, one word phrase, two word combination, sentenc'e
(2) One word phrase, babbling, two word combination, sentence
(3) Babbling, one word phrase, sentence, two sentence combination
(4) One word phrase, two word phrase, babbling, sentence
ey # A -1 B9 9 e @ ggfia e | aftfd e g 7
(1) T, @ Weg AT, € ¥ed e, aed
2) T T qrRIe, qaarl, &l e [, ara

(3) AT, Tk TeE TR, aATE, Q1 ARl TSI

(4) TS T AN, QI Wea Gradiel, e, ara

39. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Some person'’s speeches are hesistant, effortful, and simple.

Reason (R) : Damage to Wernicke's area typically produces difficulties in language
production.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

ﬁ‘n:[aiem(A)HWW(R)ﬁWHw%%@WWWW@MW
CRIEIE

FUA (A): BB @feadl @ arofl, Rafeueagds 5™ 1@ Qe g 8|

FROT(R) : aRETH & & B effey Wy Ry # ufored) sfoamgal Uar sar 2 |

e

(1) (A) T (R) S ¥ 2 TG (R), (A) & HeEl WEBRT B

(2) (A) T (R) SF1 e 2 aifh (R), (A) &1 FE WEER0T 81 &

(3) (A) ¥ § W (R) 39 ©

(4) (A) I § AfdT (R) 9 &

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(D)
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40. Match List-I and List-IT and indicate your answer using the codes given below :

List-I
(Concepts)
(a) Problem Isomorphs

(b) Belief-bias Effect

(¢) Conjunction Fallacy

(d) Conjunction Rule

Codes :
(1) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-iv, c-i, d-ii

List-II
(Description)

(i) Set of problems having same underlying structures
and solutions but different specific details.

(ii) Judgements are made based on prior general
knowledge rather than on the rules of logic.

(iii) Erroneous judgement that the probability of
conjunction of twc events is greater than the
probability of either events occurring alone

(iv) Probability of a conjunction of two events can not be

larger than the probability of either its constituent
events.

(2) a-ii, b-i, c-iv, d-ii

(4) a-iv, b-iii, c-ii, d-i

Fﬁdﬁﬁﬁﬁ-ﬂ@ﬂﬁ%ﬁiﬁﬁqaw%ﬁﬁ@ﬁawmchﬁc\i‘gr({diwr S

ERIEN
-1

(ararem=om)
(a) wARam HAIgRY
(b) faferep-gerareget gwrg

(c) I yifs

(d) Haro= e

(1) a-i, b-ii, c-iii, d-iv

(3) a-iii, b-iv, c-i, d-ii

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D)

TEI-11
(avf)

(i) TP B SR WEET GUT GHMH 9l AHRIST @
g olfdba - fafifee Rawor

(ii)ﬁrﬁmﬁmﬁ/aﬁz%m@wmwmaﬂmﬁa
o ST 2

(iti) Feqol ol & <7 geamll & oo @ e
THAE B A R te we @) wwrae @ gen
BIAT ©

(iv) T TR & WIS B WG 39D Ted Teaal
A 50 vd b G9EET Y e ger 98 8 g
g

(2) a-ii, b, c-iv, d-iii
(4) a-iv, b-iii, c-ii, d-i

o 0
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41.

42,

The main biological clock that controls the circadian rythms in mammals is :
(1) Suprachiasmatic Nucleus
(2) Arcurate Nucleus
(3) Solitary Tract Nucleus
(4) Accumbens Nucleus

Wﬁ%ﬁﬁﬁﬁmﬁwﬁﬁmﬁwﬁﬁmﬁmaﬂﬁ% I
(1) guifererifes *ﬂﬂ¢o1€4{1

2) IARERC Ffderad
(3) Hifered Sae gfaaawd
(4) vogde gfeemE

Match List-I and List-II and indicate your answer using the codes given below :

List-I List-1I
(Concepts) (Description)

(a) Monism (i) Brain functions as an undifferentiated whole

(b) Dualism {ii) Mind and body consists of the same substance

(c) Equipotentiality  (iil) Body is material and mind is non-material.

(d) Reductionism {iv) Understanding of behavioural phenbmena in terms of

biological principles

Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-ii, c-i, d-iv
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i

-l B G-I W gAf AIRTT Jer R A T w@E 1 WA BRa gY U TR

Saa -

(3TTEITROM) (gote)
(a) srEd (i) #Reres Frf ol wey & w9 A
(b) saaEE (i) "R Tor IRR & el g B B

(c) Hfavaars (iii) YRR geref & o ARk gl El ©
(d) 3T (iv) Sifds Rigral & AR aaRa fFarderd o1 qHe

@

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-ii, c-i, d-iv
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D)
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43. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Neural Membrane is double layered.

Reason (R) : Lipid Molecules turn their tails towards each other.

Codes : :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

ﬁlﬁrﬁﬁzﬁwf(A)HWW(R)ﬁﬁqaw%%@mwmmﬁ@aw
YR FIRY -

PIT (A) : dEER Bl ey ugfiy & Bl &

PR (R) : oIS a1 o+ = &) &7 axw Hrey §)

(1) (A) v (R) <M &1 & 727 (R), (A) BT T Lo 2|

(2) (A) T9 (R) 3 914 &, WY (R), (A) BT T8 LR 78 2 |
(3) (A) 9 &, dfF7 (R) arrey &

4) (A) @ 2, Afd (R) wew &

44. Match List-I and List-II and indicate your answer using the codes given below :

List-I List-II
(Concepts) (Description)
(a) Night Terror (i) Disturbance in sleep-wake cycle
(b) Restless leg syndrome (ii) Cramps in calf and foot muscles
() Nocturnal leg cramps (iii) Sensation of legs causing movements and

loss of steep

(d) Circadian Rhythm Disorder (iv) Extreme fear and agitation

Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D) P.T. O.
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45.

46.

47.

D

A1 1 -1 B gAfera ARG g T R T Bre F1 W wxd g e wel fawed
CIRCGIEIUE

- L1
(STTEITROT) (@vi=)
ORUERS ‘ (i) fast @ ¥ qmn
(b) Rernd o Rimg™ (ii) Rvseh qor e wigush # &y
(c) FTaeIA o (iii) Y & WIS B HROT Hae T W 3 W
(d) i = amacds I (iv) AAMD T TAT TSRS '
@C
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-ii1, c-ii, d-i
Academic achievement in primary and middle school is relatively more dete.rmined
BY s ; and in higher education more by ........... :
(1) Intelligence ; Creativity (2) Creativity ; Intelligence
(3) Intelligence ; Personaiity (4) Personality ; Attributions
grifyes gon Hreafe fmRer § e suafer @1 L ERT JMeTda 3ffers Tl
.............. R S R ¥ sfte FuiRa fear s 21
(1) gf& ; gormreHaar () gorrEsd; gfE
(3) gfE; wfdra (4) fedE; EmRIgor
Deep learners are more regulated by :
(1) Extrinsic Motivation (2) Intrinsic Motivation
(3) Approval Motivation (4) Affinitive Motivation
=Tetre ARiRaar e FEfa g €1
(1) a8 AMUROT gRI (2) IRe JFATROT gRI
(3) rpfa AfRem grI (4) vorf=fey rfuRoT gRT
In making the children to iearn any law or principle, teacher should use :
(1) Inductive Method (2) Deductive Method
(3) Analytical Method (4) Story telling
e @ BIE Faw o1 Rigra tem @ forg v Riem &1 wdi der wifey ?
(1) ST ST @) FrmEwe e
(3) faeerwomeHe ot (4) HEFY U

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D)
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48. Researchers, in general, have revealed that with increasing age and education level
role of intelligence in academic achievement.

(1) Increases
(2) Declines
(3) Remains constant
(4) Insome cases increases and in some cases decreases
AT uddit Y ga fhar € e sy ar Renm wR @ gen & Wy Qele
(1) 9 &
(2) Ted &
(3) Rer w&h 2
(4) BB " # ggd ¥ T B AMEl § Hed! ®
49. Arrange the following virtues in sequences according to their emergence.
(1) Love — Fidelity — Care - Wisdom
(2) Fidelity - Love — Care — Wisdom
3) Care — Fidelity — Love — Wisdom
(4) Fidelity — Care — Wisdom — Love
ey 7ol & g SNfITg & AR HH H Ty |
(1) H — AfdT —» WRaE — &
2) Wi - ¥ - wRaE - Y&
(3) WRAE - T - T - gfE
(4) W — waE - gfg — =

50. Match List-I with List-II and indicate your answer using the codes given below :

List-I : List-II

(a) Strange Situation Test (i) Observation Learning

(b) Visual Cliff Test (ii) Morality

(c) Bodo- Doll Experiment  (iii) Attachment

(d) Henz dilemma (iv) Depth Perception
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, ¢-iv, d-iil
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D) ' P.T. 0.
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Q—nﬂ—laﬁqﬁ-llﬁqﬁ%ﬁaﬁﬁmaw%ﬁﬁ@@mmmﬁngw

ERIEIE
-1 -1
(@) & Refg gdeyor (i) Uefor f3reror
(b) T3 JMTED GETT (i) “Afrpar
(c) dArSI-STe AT (iii) smafeT
(d) &1 gfen (iv) T&RT e
WQE i
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

51. Clinical Diagnosis is made on which of the following assessment levels ?
(a) Somatic (b) Physical (c) Emotional (d) Cognitive
Codes :
(1) a,b,and c only (2) b,candd only (3) a,candd only (4) a,b,candd
IS STER e #§ A fRy qRiieT TR W R e 2
(a) ®I® (b) wrkiR® (c) FTHS (d) dsHreTS

(1) a,bTdca™  (2) bcTWdaa  (3) a,cTd dAH  (4) ab,cTd d

52. A person having frequent feeling of going above his physical body. It reflects
tendency of :

(1) Conversion Disorder (2) Hallucination

(3) Spirituality (4) Depersonalization
mﬁaaﬁwmﬁ%mﬁv%waﬁmw@m%wﬁﬁﬁﬁﬁmm
B! ReERT Hxar g ?

(1) SYIERYT IAT ' (2) =iy

(3) smemfeqeper (4) =fdaa g

53. DSM-III was considered radically different from its predecessors because :
(a) It was a multiaxial system
(b) It deleted misnomer words from literature
(c) Itintroduced coding system
(d) It used experimental data in devising categories

Codes :
(1) a,b,and conly (2) b,candd only
(3) a,cand d only (4) a,b,cand d

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Psychology)(SET-Y)/(D)
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1 TE U - [ 39 gdacdt & Heid: 37 A S @ Rifd

(a) TE gl yomel 2 |

(b) g fear Ar vl & AR A T HRaT ¢ |

(c) & HIST YoMl P MY HaT 2 |

(d) T® s & gfoa @1 e # JarTTeRe STt YR &Ra ¢ |

@®C:
(1) a,bUdcHA (2) b,cTad A
(3) a,cVd d A (4) a,b,ct@ d

54. A person with schizophrenia was found to repeat whatever words the clinical to
psychologist was speaking. This behaviour can be labelled as :

(1) Neologism (2) Echolalia
(3) Echopraxia (4) Word-Salading

HrESIB AT darel efed @ ared 9T AT S W Iee AerfNe Aeiasifae 9l e A1 89
AR I B8N O Fhdl © :

(1) gaE & w9 o (2) TRHHRT B BI H

(3) spWIfdEar & w9 H (4) ¥E FATR B W9 A
55. The permissible statistical operations in ordinal scaling are :

(a) Median (b) Percentiles

(c) Rank correlation coefficients (d) Coefficients of contingency

Codes :

(1) a, b, and conly (2) b,cand d only

(3) a,cand d only (4) a,b,cand d

Y IS THieiT H I ARG Wiha B ¢

(a) #feaeT (b) @raaHED

(c) =7 weway ToriD (d) STHRHABT BT TS

(1)-a,bqd cHH (2) b,cTg 49

(3) a,cqd daH (4) a,b,cTad

56. "Numerical distances on the scale indicate equal distances in the properties of the
objects being measured" is the salient feature of :

(1) Nominal Scales (2) Ordinal Scales
(3) Internal Scales (4) Ratio Scales

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology)(SET-Y)/(D) P.T.O.
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”F?JHIR'Sm‘@Hﬁﬁa’\ﬁiﬁTfﬁﬁW@EﬁW%I”ﬁn’fﬁﬁwﬂ"j@

fagroar & 2
(1) A= &1 e (2) HRITS bl
(3) NI e (4) T e
37. Non-probability sampling includes :
(@) Quota sampling (b) .Purposive sampling
(c) Cluster sampling (d) Snow ball sampling
Codes :
(1) a,b, and c only (2) b, cand d only
(3) a,cand d only (4) a,b,cand d
R Wil aforay F e §
(a) ®YeT uferaa= (b) SeTaRD ufderr=
(c) a4qg ufderm (d) = a1t gl
7e: |
(1) a,bT@cHH (2) b, cUdd A=
(3) a,cvd dHAH (4) a,b,cudd

98. Which of the following coefficients of correlation indicates the weakest relationship
between two variables ?

(1) .50 (2) =27 (3) .07 (4) -1.00

T & 9 Aedids 31 Br-ar Tuie &1 R B i 9e SER a2, qdTey
(1) .50 (3}« 3) .07 (4) —1.00

59. Given four problems were solved by 15%, 35%, 55%, and 75% persons of a group.

Compare the difficulty of problems (1) and (2) in terms the differences in their
z-values :

(1) 541 (2) 511 3) .651 (4) 548

I M IR uwHl B WHE B 15%, 55%, Td 75% <afderdl gR1 &at far mar oar) gEe
z-H1 H SR B AR TR (1) U (2) B pfemgal &) qorm AR -

(1) .541 (2) 511 (3) .651 (4) .548
60. In multigroup design, the two most common statistics applied are :
(@) Analysis of variance (b) Logistic Regression
(¢) Duncan Range Test (d) Discriminant Function Analysis
Codes :
(1) (a) & (b) only (2) (b) and (c) only
(3) (a)and (c) only (4) (c)and (d) only
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(a) UEROT T fageryor _ (b) wifiRew Rrer
(c) THA I e (d) &R et fgearmor
7 :

(1) (a) v (b) °r= (2) (b)TE (c) w1
(3) (a) T (c) A= (4) (c)vd (d) ==

61. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below : '
Assertion (A) : Spearman proposed the existence of specific factor (S-Factor) of
intelligence in his two facior theory of intelligence.

Reason (R) : [t was observed that tetrad differences were not always equal to zero.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

fo= BU (A) T HROT (R) BT ufey qen Hd QT T g &1 WA SR §U IUAT ST
qasy ¢

P (A) : WRREE T gfg & aum |1 sueH Rie gfe @ fafafde soee (u-surer)
T IR<T B TR fbam |

HROT(R) : T8 o1 77 {5 Iqp TR gAY & |AF Fa) Bl 2 |

az‘?' g

(1) (A) Td (R) ST 9 & U@ (R), (A) &1 Hal LRI ¢ |

(2) (A) T@ (R) TFI ¥ & afd (R), (A) BT F& TG FE ¢ |

(3) (A) Wg § afda (R) e 2 |

(4) (A) 3 2 «fd (R) 9 & |

62. Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :
Assertion (A) : Jenson claimed that his Level-II, ability is inclusive of Cattell's gf and
gc.
Reason (R) : Measures cf gf and gc loaded on separate factors in factor analytic
studies.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false. '

(4) (A)is false, but (R) is true.
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FI=T B (A) @ ST (R) @Y 9fey o fa R T e B T avd gy oo SRR
ST
BUT (A) 51T T w11 frar f6 gt wRAl gl # bed F1 gf T ge wfier &

AR (R) : SUIRTT faverdl szt # gores SueT W WIRA gf T ge @ HO |
(1) (A)W(R)WW%W(R),(A)WE@W%W%I

(2) (A) Td (R) THT 9T & ofdhT (R), (A) &7 GE) TUTpxo) 98 ¢ |

(3) (A) ¥ & afd (R) ey &

(4) (A) I\ B AfT (R) ¥ 2|

63. Knowledge Acquisition components of Sternberg's triarchic theory of intelligence

include :
(a) Selective encoding (b) Selective combination
(c) Selective comparison (d) Selective Heuristics
(1) (a)and (b) only (2) (c) and (d) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
It & vesfa & B Riara & s oo BRa® § Tl § -
(a) TAAHD B AT (b) TITTHS FATSH
(c) TIATHD AT (d) TTTHS I
(1) ael (a) 4 (b) (2) B () vd (d)
(3) B (a), (b) TE (c) (4) @9 (b), (c) vd (d)
64. According to R.B. Cattell, real life creativity is determined first by One's s and-
then by ........ factors.
(1) Fluid intelligence; personality (2) Crystallised intelligence; personality
(3) Motivation; Intelligence (4) Personality; motivation
IR0 dlo HTHA B JTAR IRCAAD SNaw TeATHAGAT BT RO user B B L g
AT ........ SUTGTT G foarm i &1
(1) o1 yarg gy aafewra - 2) freiea gfe: afema
(3) sfRom; gfg (4) <afdica; sfAoRom

65. Originality in Torrance Tests of creative thinking is indexed interims of :
(1) Response given by 2% of subjects ~ (2) Response given by 5% of subjects
(3) Response given by 10% of subjects (4) Response given by 25% of subjects
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IRA H oS TR & é‘thﬁ weror ¥ = fad SR gadifed & ?
(1) 2% =&afdaal grT R wrar e (2) 5% aafdadl gRT fRar 741 SaE
3) 10% =afaqal grT feam T St (4) 25% eafe=ral gRT &ar &1 STarg

66. Torrance used the term "Creatively handicapped” for ..
(1) Students very high in creativity but low in acade“ruc achmvoment
(2) Students high in intelligence but low in creativity
(3) Students average in intelligence and creativity
(4) Students low in intelligence and creativity

R~ 1 7 # fwe forg wree e Tors WU W 91 @1 yai fear er ?
(1) U BT ST FEATHSTT & 98 Sa1al & afe 9fde Suafer § 99 @
(2) o gfg # ifw & ofes o erear & &9 &

(3) © S gfg qUT TEEeTRar # g 8

(4) ®F I gig T T@ABar ¥ w9 8

67. Projective tests particularly Inkblot tests can be used to measure.

(1) Novelty context of creativity (2) Meaning context of creativity

(3) Scientific creativity (4) Everyday creativity

eTdTd weror fIRy WU A sFHee IRIEvT BT FAET Ao & o fhar S weer
(1) FATHS BT T U (2) RAFATHBHAT &7 U UFT

(3) ISP e (4) TARIS TEATHBGT

68. Match List-I and List-II and indicate your answer using the codes given below :

List-I List-II
(Concepts) (Description)
(a) Successful Intelligence (i) Ability to achieve one's goal of life
across given cultural contexts.
(b) Practical Intelligence (ii) Ability to cope with problems of day-to-
day life.
(c) Creative Intelligence (iii) Ability to cope with novel situations or
problems.
(d) Mating Intelligence (iv) Ability to make appropriate
selection/preference of partners.
Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iit, c-ii, d-i
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A W A B GG BRI dor A R T g @ e e gy o SeR

ERIEIN ;
-1 E-11
(3rqErTRoT) (@)
(a) |wd Ffe () ¥ ™ A w6 F ater Hiem 3 e @
YOI PR @ IR

(b) =eafis e (ii) SR & W9 & AHRRIIS BT TEET B @) Ul
(0) aTTHs Ffe (iii) 7 Refoat a1 wwmmstl &1 | &= &) thar

(d) < 3R (iv) AR @ TR @ /ot B @
7e :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

69. According to Freud following are the characteristics of an 'Instinct’ ?
(a) A source in some bodily deficit
(b) An aim that focuses on gratification
(¢) Animpetus that propels the person to act

(d) An object through which an instinct achieves its aim

Codes :
(1) a,band conly (2) b,cand d only
(3) a,cand d only (4) a,b,candd

BRIS & ATAR 1 AgoraiRy &) fadivar 2
(a) Bo-5B TNIRG W H A

(b) Sgezy S I W Bred Hxar &

(c) <7 W guig & forg uRE @war ®

(d) Sqewy e gRT @fdd ouwT Sedvy ura ear &

RC -
(1) a,b Ud c 97 (2) b,c Td d 77
(3) a,c vd d °9F (4) a,b,cwd d
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Self actualizers can be characterized as :
(a) Having more efficient perception of reality
(b) Showing greater acceptance of themselves, others, and nature

() Having tendency to be more centred with understanding tasks that will benefit
than

(d) Recognizing their own weaknesses but do not be so much anxious.
Codes : '

(1) a, b & c correct; d incoi'rect (2) b,c& d- correct; a incorrect

(3) a, c & d correct; b incorrect (4) a, b & d correct; c incorrect

3 fpaTcrs @) faeiwaT sars o wddl & ¢

(a) Wﬁﬁ%sﬁﬁa&rﬁwaﬁﬂwﬁﬁwﬁ
(b)wﬁzﬁ,ma%amw%a%aﬁﬁaﬁﬁﬁﬁ?@%mﬂﬁm%mﬁ

(c) Rad o S 578 BR Afdd B B ©Y MR Bfrea 81 @ YRy ¥@T & w9 F
(d) 3T R B FHASNRAT B qEA AfheT FER S R T g

BIS :

(1) a,b @ c &, d TAd (2) b,c Td@ d ¥, d T

(3) a,¢Td d Wal, b Terd (4) a,b Td d I8, ¢ A

Arrange in sequence the last five factors of personality indexed in Cattell's High
School personality questicnnaire (HSPQ) :

1) LJ,0,Q5Q (2) 1,0, Q, Q5 Q,

3) 0,Q1,QyQ 4) O,P,Q; Qy Qs

Sva @ qRew @l v W ¥ wERvd GEeie @ oW U era @1 e
Faferd SN ¢ '

1) LJ,0O,Q5Q (2) 1,0,Q, Q5 Q

@) 0,Q1, Qy Qs 4) O,P,Q, Qy Qs

Which of the following categories of responses are objectively scored in Rotter

Incomplete Sentences Blank ? (a) Omission; (b) Conflict Response, (c) Positive
Response; (d) Anxiety.

Codes :
(1) a,bandconly (2) b,candd only
(3) a, cand d only (4) a,b,candd

M.Phil./Ph.D./URS-EE-Nov.-2018/(Psychology) (SET-Y)/(D) P.T. O.



32 ' ' D

uﬁ%maﬁﬁmﬁﬁaﬁa%ﬁaﬁuwﬁﬁﬁaﬁwﬁwﬁmw%?(a)aﬁn(b)w&m‘
BT (0) FHRIcHS wffar (d) R .

CA
(1) a,b Tg ¢ |7 _ (2) b,c g d A3

(3) a,c vgd d 1517 | (4) a,b,ctd d

73. Match List-I and List-II and indicate your answer usi-ng the codes given below :

List-I List-II
(Concepts) (Description)
(a) Oral character (i) Over indulgence in infancy
(b) Anal character (ii) Difficulties during toilet training

(c) Phalic character - (iii) Inadequate Resolution of Oedipus complex

(d) Genital charactér (iv) Sexual maturity

Codes :
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b, c-iv, d-ii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
uﬁ-lﬁqﬁ-ﬂaﬁgﬁ%ﬁaﬁﬁqam%ﬁﬁ@agmmﬁaﬁgqmw
3T ¢
-1 ' I
(3raemom) (@ofe)
(@) & fgrvar (i) e § e R
(b) T&T Heeh faeyar (i) 3= B SRE A T
(c) <iffre favrgar (iit) AGRT BT Iraafe Iy
(d) S fa fasiwer (iv) <ifre aRueaaar
% -
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
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74. Match List-I and List-II and indicate your answer using the codes given below :

List-I List-11
(Concepts) . (Tests)
(a) Universal Index: (i) Objective Analytic Test (OAT)
(b) F-K Index ' (ii) Minnesota Multiphasic Personality Inventory
(MMPT)
(c) Disclosure Index - (iii) Melton Clinical Mulliaxial Inventory
(d) Suicide Constellation Index (iv) Rorschach Inkblot Test
Codes : '
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i,¢c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
A @1 e - @ BN T A RA T Pl BT wT B gY AT S
AT ,
-1 11
(STEERYM) (aieTon)
(a) WIS Ga@is (i) ST WRH fagerd) qRIETT
(b) THo Ho ABID (i) PeaeT sgaem &1 Sufied
(c) WOl A (iii) fiee=t Is1fae agatela
(d) IR TIE GAGE (iv) deet heee TErT
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

75. Read each of the following two statements — Assertion: (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Some perscnality factors such as D, J, K and P do not appear in Cattell's
16 PF. :

Reason (R) : Some factors appeared only in a-data not in Q-data.

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A).

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.
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ﬁma‘r%mﬁ(mWamwmm%wﬁﬂam%ﬁﬁ@a@aﬁé@ﬁgqm
BTN ddigyq :

PAT (A): BB AfdTT SRS SN D, ], K T4 P 327 3 16 PF % fRarg =&} usq &
W(I{):@W%ﬁaawﬁﬁwq@ﬁﬁﬂﬁstﬁ

(1) (A) @ (R) 9f g & aix (A) &1 |8 WLIHRT (R) 2 |

(2) (A) T4 (R) T @0 & Rg (R), (A) &7 98 raor 78 2 |

(3) (A) ¥ B, ofdT (R) s/97 2

(4) (A) 39 2, e (R) ey 2|

76. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below : '
Assertion (A) : Extroverts are sociable and impulsive individuals who like excitement.
Reason (R) : Brains of extroverts react more slowly and weakly to stimuli which cause

them to seek excitement by approaching the environment.
Codes : ' '

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true and (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is true
ﬁﬁaﬁ:ﬁaawﬁasm(m@W(R)ﬁmaw%ﬁﬁ@mwmmﬁgq
JUAT IR IATT ¢ | :

TIT (A) : I e = qor STl @afad B € O SR wiT aed

BRI (R) :Bﬁwawﬁa%%maf%ﬁ@aﬂqﬁﬁﬁﬁmsﬁaﬁaenmwmm
AT & S AR W UEY R IR IAST B qerr ae B | d

BC -

(1) (A) 79 (R) QT | & d207 (R) (A) BT &) TqLepRoT =

(2) (A)Wd (R) & Tt & Wif (R) (A) BT 8 iy =8 2|

(3) (A) ¥ g, dfdd (R) araew

(4) (A) s 8, afds (R) ¥

77. Myelin stains and Nissl stains Tdentify «.connn and ............ respect only.
(a) Neural Pathways (b) White matter
(c) Nuclei (d) Neural cell bodies
Code :
(1) aandb only (2) cand d only
(3) aand d only (4) band d only
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AT A T PRI T BAT o, . O S GBI Bl § |
(a) qReT wrRrd (b) ®Ige Hex
(c) et (d) T A e
(1) I (a) IR (b) (2) ®ae (c) 3R (d)
(3) daet (a) M (d) | (4) BT (b) 3R (d)
78. Which of the following techniques can be used to study activities in a living human
brain ?
(a) Computerised Tomography (b) Ablation and Lesioning
(c) Sterotaxic Procedures (d) IMRI
Code : '
(1) a,band conly (2) b,cand d only
(3) a, cand d only (4) a,b,cand d
forer 3 & v aoe @1 wART Shfad "M AR ¥ fhareendl @ smur & fog fear o
el § 7
(a) S AT (b) JTed Ud A
(c) wRacfes gt ' (d) 3go THo 3MRo g0
(1) a,b Td c 94 (2) b,c T d #H
(3) a,c g d AF (4) a,b,c @ d
79. Neurons make up only about .......... % of the brain cells and other .......... % are glia
cells.
(1) 8%;92% (2) 10%; 90% (3) 15%; 85% (4) 85%; 15%
KR RIS BIRGET BT DI TTHT ... % TAT 3 .oon.eee % ferar HIRTeId 8
T 2 |
(1) 8%;92% (2) 10%;90% ~ (3) 15%;85% (4) 85%; 15%
80. Ears of human beings hear the air molecular vibrations between about ..... .
(1) 10to 1,000 Hertz (2) 15to 2,000 Hertz
(3) 20 to 20,000 Hertz (4) 25 to 25,000 Hertz
It & B AT ... @ dg arg smfds wud gd 2 |
(1) 10 & 1,000 B (2) 15 ¥ 2,000 &&
(3) 20 ¥ 20,000 BT (4) 25 ¥ 25,000 gCo
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81. First experiment on 'span of attention' was conducted by ... o 3 SR
(1) Jevons : Jastrow . (2) Jastrow :Jevons
(3) Jevons : Himself _ (4) Hessey : His wife
T fORIN R 98al W .. W ... GRT fRAT T o
(1) S : SRy (2) SR : S
(3) A : Wy (4) B : 3 g

82. A change in the level of light energy results into the alteration in the comparative
sensitivity of retina is known as :

(1) Punkerji Effect ' (2) Flicker Fusion

(3) Retinal Disparity (4) Double image
WW%WﬁW%WW%WWMﬁWW
%, o1 ST ST ©

(1) Y=BRs wa & g # (2) R Horod & w7 A
(3) fear waelht fawwar w (4) I vfafem o=
83. Match List-I with List-IT and indicate your answer using the codes given below :
List-I List-1T
(Concept) (Author)
(a) Sensory Register (i) Sperling
(b) Span of Attention (ii) Jevons
(c) Retinex Theory (iii) Edwin Land
(d) Cochlear Mechanism  (iv) Von Bekesy
(1) a-i, b-ii, c-ii, d-iv (2) a-ii, b-iv, c-i, d-iii
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i
qﬁ—laﬁ?ﬁﬁﬂllﬁwﬁqﬁaﬁﬁqaw%ﬁﬁ@ﬁ@aﬂmaﬂﬁ@mw
gdgy .
-1 LEI-11
(eraem=om) (cTer)
(a) Haar e (i) wfefr
(b) & faR (ii) ST
(c) Yo g (iii) vefas e
(d) BIIIR Yormer (iv) 37 g
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iv, c-i, d-iii
(3) a-iii, b-i, c-iv, d-ii (4) a-iv, b-iii, c-ii, d-i
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Phenomenology is best defined as :

(1) study of thinking and memory

(2) study of natural and unanalysed perception

(3) study of language and its development

(4) study of process of consistent patterns and organised sets
g fhar fasm wa gRAia @

(1) far vd ¥Ro ofd & oragd & w9 H

() T v R AR O S s B a3

(3) WIS AT SUD fABRT & RTIF & T H

(4) geTa Yot ud Hfed WiE @ ufhar & s & wu

A gymnast mainly relies on :

(a) Kinesthetic sense (b) Vestibular sense
(c) Haptic sense (d) Cutaneous sense
(1) (a) and (b) only (2) (b) and (c) only
(3) (c)and (d) only (4) (a), (b), (c) and (d)
T T AR Bl B ;

(a) PERARTH HITT W (b) wemofi HaeT o
(c) Tufe®d Hdgd W) (d) =& Haed )
(1) @del (a) 3 (b) | (2) Bad (b) IR (c)
(3) @get (c) 3R (d) (4) (a), (b), (c) 3R (d)

Which of the following statements best defines the "Gate Control" theory of pain ?
(1) Pain impulses are sent to receptor sites in vital organs

(2) Non-painful nerve impulses compete with pain-impulses to reach the brain
creating a neural blockage

(3) Pain is simply a psychological state not physiological one

(4) perception of pain depends on one's physical make-up

fr F P U T B ‘T Fee” g B gard aRafa #Rar ¢

(1) <€ T AT D I H UTE RISl Bl ST ST 8

(2) ﬁ?ﬂéﬂﬂﬁﬁ%ﬁﬁ%ﬂﬁﬂwﬂmmﬁmﬁnﬁﬁ&ﬁwuﬁﬂﬁﬁﬁmﬁmﬂ
gt BT §

(3) = g A=asne srawen & 7 fb wriRe sraven

(4) =< &1 9y A B ARG gge R R BT §
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87. The study on Zulu tlfibe:é of Africa revealed that zulu individuals would be less
susceptible to .......... .

(1) Figure ground phenomenon (2) Zollner illusion

(3) Ponzo Illusion (4) Muller-Lyer Illusion
mﬁmﬁmaﬂwﬁiﬁwwﬁweﬁm%%mwﬁﬁ ....... & dag | o
SRR CEENIC I :

(1) omepfd ofy e (2) SirerR gifa

(3) i mify (@) YoRerER Hify

88. Read the following statements Assertion (A) and Reason (R) and indicate your
answer using codes given below :

Assertion (A) : Usually deaf persons do not have motion sickness.

Reason (R) : Vestibular mechanism significantly mediates in perception of motion.
Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A) is false, but (R) is true

ﬁj"-‘f?ﬁm(A)H?ﬂfﬁﬂ'ﬂT(R)Eﬁqﬁmﬁﬁﬂ?ﬁﬁﬁ?ﬁ@ﬁéﬁmﬂﬂﬁﬁqmw
sy ;

DAT (A) 1 AHIRITIT qe) gfdaat ¥ i gy o =8 &y 2

PR (R) : werofig gomell Hewqd wu A HaeT @ ay § waen wear

7e -

(1) (A) T (R) <1 97 ® TG (R), (A) BT &) Wiy

(2) (A) W@ (R) 1 ¥ € Afh (R), (A) BT T8 WLraRor 78 2

3) (A) wg & ofdpe (R) s &

(4) (A) 39T 2 oifvT (R) 9 &

89. Feeling touchy or hyperseﬁsitive following an upsetting experience is a form of :

(1) Imprinting (2) Habituation

(3) Sensitization | (4) Reflexive Behaviour

TP AT 49 B §1e Tyt a1 sfeTia Teqy o) e e
(1) &= < (2) AT

(3) GUTEIEHRT (4) FoEmEs aPer
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90. Premack principle is:

91.

(1) A primary reinforcer is thought of being related to an organism's survival

(2) A secondary reinforcer is the stimulus that acquires reinforcing value because of
paring with primary reinforcers

(3) All responses can be potentiated reinforcers

(4) More frequently accusing activity can not be used to reinforce the activity that
occurs less often

e Rregra ©
(1) wefie ReprR Sheq & STRefaa & wdfta R @

@) fafa Reprik Shus B o vorfe ReeRR & Y & SROT Gaellaxvl Hei & Ul
HAT 2 | |

(3) it gfafrad Re=pIR &1 wfed T9= B qohdl ©

(4) iferp IRIR B ATt FFATHEd B fhaTEeTT W w9 g BT 8, BT Haeidd BRA
& forg vanr e o waar 21

In R-type conditioning, the strength of conditioning is shown by :

(1) Magnitude of CR (2) Response Rate
(3) Response Duration (4) Response Latency
IR-YBR FTHAT ¥ A Bl e H1 faaran own @
(1) ¥ R & AR gRT (2) ufdfshar <X gRT
(3) wfafshar safer gy ' (4) wfaferan sregaar gRT
92. Match List-I and List-II and indicate your answer using the codes given below :
List-I List-II
(Concept) (Explanation)
(a) Concurrent Reinforcement schedule (i) Complex choice Behaviour

(b) Concurrent chain Reinforcement schedule  (ii) Sample choice
(c) Fixed Interval Rft. schedule (iii) Post-reinforcement pause
(d) Progressive Ratio Reinforcement schedule  (iv) Reinforcer efficacy

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b, c-iii, d-iv

(3) a-iii, b-iv, c-ii, d-i (4) a-iv, b-iii, c-i, d-ii
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for-laﬁqzﬁ—ﬂﬁgﬁ%rda%ﬁqam%ﬁﬁnﬁ?ﬁ@ﬁwmmﬁ@mw

ERIELNE
QA1 - A1
(sreem=om) | (cTer)
(a) wHI gaelieor SR (i) @™ fapey uqeR

(b) el S Al SrgEA (i) T e
(c) iR aifvem e vw & orqRgl  (iid) Yoo g
(d) STFATET STurT waelaor SRl (iv) TaeheRorbat srareTadsar
(1) asi, beit, cotii, deiv |
(2) a-ii, b-i, c-iii, d-iv
(3) a-iii, b-iv, c-ii, d-i
(4) a-iv, biii, c-i, d-ii
93. Which is the correct sequence in terms of response rate and resistance to extinction
during learning experiment ?

(1) FR > VR — VI > FI -3 CRF

(2) Variable Ratio — Fixed Ratio — Variable Interval — Fixed Interval — Concurrent
Reinforcement

(3) Variable Interval — Variable Ratio — Fixed Ratio — Fixed Interval — Concurrent
Reinforcement

(4) Concurrent Reinforcement — Fixed Interval — Variable Interval — Variable Ratio
— Fixed Ratio

38 WA & IR AT & ufifr o) o a3 wd mw w2
(1) FR - VR - VI— FI - CRF

(2)%@%-»%@3@4%%@@%%%»%

IO
(B)Wmaqﬁa?ﬁajmﬁaﬁﬂfﬁa@mawﬁm?ﬁwmaﬁaﬁa
T
(4)Wﬁm6ﬂmwaﬁraﬁawaﬁﬁaﬁaa§wﬁqﬁaﬁmwﬁqﬁaﬁ
SNEIN]
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Read each of the following statements — Assertion (A) and Reason (R), and indicate
your answer using the codes given below.

Assertion (A) : In both fixed interval and fixed ratio schedules, a reinforced response
is followed by a depression in the rate of responding.

Reason (R) : Perhaps the organism (subject) learns that responses immediately
following a reinforced response are never reinforced.

Codes :

(1) Both (A) & (R) are true, (R) is the correct explanation of (A)

(2) Both (A) & (R) are trué, but (R) is not the correct.explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

771 FeF (A) T HRO (R) BT 9fey T2 i A 1 $r8 &1 JAFT I Y AU SR
ST -

P (A) : FUIRT s don PR ogu og|a <91 # uaelaRor gfafbar @
3TIERYT Uffehar & &% 3 oraae g1 fham B

HRY (R) : FHeId o (aafed) e ® fF waetiqga wfafsar aoera e gfafdsar &9 0
Yaeiigd T8l BT 2 |

e -

(1) (A) W& (R) aFI ¥& 8 TG (R), (A) BT FEl WEIHI &

(2) (A) Td (R) SHI 90 & fbT (R), (A) & F& WLEIHIOT 981 8

(3) (A) I & AfhT (R) ey ®

(4) (A) 3™ ® ofes (R) 9T &

Who explained learning in terms of cell assemblies and phase sequence ?

(1} 4oL Eatl (2) Dollard & Miller

(3) D.O. Hebb (4) R.C. Bolles

= e THAHROT qAT T HH B FTAR W@ B wWee fvay ?
(1) o Telo & (2) ST Td fAerR

3) o 3o 9 (4) ¥MRo Wlo Tt
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96. Match List-I and List-IT and indicate your answer using the codes given below :

List-I List-II
(Concepts) (Authors)
(a) Vicarious Trial & Error (i) Skinner
(b) Hypothetico Deduction (i) Toleman
(c) Cumulative Recording (iii) Flull
(d) Reciprocal Determinism , (iv) Bandura .
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iii, c-i, d-iv (4) a-iv, b-iii, c-ii, d-i
W—lﬁiﬁ?-nﬁqﬁ%ﬁaﬁﬁﬂvam%%ﬁ@maﬂmmﬁgqmm
ENIEN :
-1 JE-1T
(erarerm=om) ; (cier)
(a) ufdfRe e gored (i) wIR
(b) smgAIE e (ii) <rerda
(c) wert afogfet - (iii) &1
(d) srwRe fAafaare (iv) gvgxT
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iii, c-i, d-iv (4) a-iv, b-iii, c-ii, d-i

97. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Information can not be retrieved before it has been stored.

Reason (R) : Information processing is sequential process involving encoding,
retrieval, and storage. :

Codes :

(1) Both (A) & (R) are true and (R) is the correct explanation of (A)

(2) Both (A) & (R) are true, but (R) is not the correct explanation of (A)

(3) (A)is true, but (R) is false

(4) (A)is false, but (R) is irue
WWW(A)HWW(R)ﬁqﬁﬁm%%ﬁﬁ@wmmﬁ@mw
ERIELNRE

PHAT (A) | I BT THD TR B B qF Y U L A o7 |ear ¥

PIRUT(R) : A Al rghiies wfbr ¥ R s a7, g ity v @ et wite 2
(1) (A) va (R) SFf 9 & TG (R), (A) &7 T8 WLSpor

(2) (A) Ta (R) Tl 9 ® Afd (R), (A) &1 A& W0y 78}

3) (A) W= AfFT (R) aieg

(4) (A) 39 © ofps (R) o &
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Match List-I and List-II and indicate your answer using the codes given below :
List-I List-1I
(Concept) (Description)
(a) Episodic Memory (i) Knowledge of specific event or
personal experience
(b) Procedural Memdry (ii) Things learned through classical
- conditioning of which one is not
aware
(c) Encoding : (iii) Transfer of information from STM
to LTM
(d) Eidetic Memory (iv) Retention of details of visual
images.
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iv, ¢, d-ii (4) a-iv, b-iii, c-ii, d-i

@Iﬁﬂﬁ]lﬁ@%ﬁﬁﬁﬁm%%ﬁ@ﬁ@mmmm@auﬂlw
ALY -

LCIDES A1

(eraer™) (arot)
(a) SURIFHS i () fRm wea a1 afdrg sqya &
SIECIR
(b) wftharers wfa (ii) Ffadme IFEeT & gRT Hkdl TS
T o IR ¥ afaa worT 98 @
(c) & g (iii) THSIUA U4 eIcigd H I &1
J=IROT
(d) gEe i (iv) g2 gl & faaRon @1 wRor
(1) a-i, b-ii, c-iii, d-iv (2) a-iii, b-i, c-iv, d-ii
(3) a-ii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i

Which of the following is correct order of inputing information as per information
processing model ?

(1) Semantic encoding — elaborated retrieval — storage of information
(2) Retrieval from LTM — encoding in STM — encoding in sensory memory

(3) Encoding with sensory receptors — storage of information — retrieval on
demand :

(4) Encoding in sensory memory — encoding in STM — Encoding in LTM
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R 3 9 I e MRRAT e B SRR I Y B e §

(1) sniie ge g9 — R g=: wifte — wamr &1 e

(2) TEITH | GER — THCIYA # B G — Fad S GIE0T HAT TR GUR

(3) ﬂﬁﬁmﬁﬁﬁamemmﬂﬁw—)%qum

4) ?ﬁlﬁ?wﬁ{ﬁa{dmamﬁaﬁmamﬁm@m
R | . * TR plays an important role in memory storage from STM to LTM whereas —

plays role in dealing with emotional feelings associated with memories.

(1) Amygdata : Hypothalamus (2) Hippocampus : Amygdala

(3) Amygdata : Thalamus- (4) Thalamus : Hippocampus

THAY & TAETH T R GG K ...... TEaqd T o vt @ e @

RHAE WAMTD ST BT TIeM # Aeeaqel qfieT arar s & - -

(1) ufrrerer : egdiderss (2) ereadi= : vfirTerer

(3) ufATSTET @ Bde® (4) =T : AgdH
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